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R (FFE) 3 |_NU0S0 | 288 500 | 66% 400 458 600 69% 500
[ NUos2 | 288 500 | 66% 1:11.400 458 600 69% 110,500
[ NUos4 | 288 500 | 66% 1400, B:12.100 458 600 69% 500, F:11,200
[ NU0s8 | 288 000 | 64% 900, 458 100 | 67% 00, B:11.700
[ NU0G0 | 288 500 | 63% 458 600 | 66% 00, £:11,500. H:12.200
[ NUo62 | 288 000 | 64% 458 100 | 67% 1.000
HR(PHE) =B [ EmIE&| NU2i | 288 1600 65% 458 800 68% |+ H:21,700
mds | NU022 | 288 600 | 65% 458 800 | 68%
KR (BT =RE | ABR(BIF) %[ NU0B3 | 288 400 | 64% 458 400 | 66%
086 | 28 400 | 68% 458 400 | 70%
037 | 288 800 | 57% 458 800 | 59%
036 | 288 800 | 57% 458 800 | 59%
HE () 28H 500 | 64% 458 400 | 67%
285 500 | 62% 458 400 | 64%
285 500 | 67% 458 400 | 69%
285 500 | 67% 458 400 | 69%
ErC k] 285 500 | 67% 458 400 | 69% 00, H:14.700
285 500 | 624 | Al 458 400 | 64% | %:14.900. £:15.900. H:16,200
288 300 | 624 | ] 458 200 | 65% | XsK:13.700, A:14.200. £:15.900. H:16,200
285 800 | 64% |k 458 200 7% | AoK:12.700, A:13.200, :14.900, H:15.200
[EMEETAE ) [EIES 28H 000 | 45% %22 458 000 £:27.000, £:27,500
285 000 | _45% 458 000
285 000 | _45% | %:28500 458 000 27,000
ErCE] 285 000 | _45% 458 000
285 000 | _45% 458 000
[ NUOI6 | 28 000 | 45% | H:27.,500. H:28,000 458 000 F:27.000. B:27,500
BT -RE | /PHE(IE) 3| _NU60T | 28H 400 | 67% | AKAB.100 458 400 KIKA:7.100
[ NU605 | 288 900 | 664 |&1H:9,200 458 7.900 69% | &+ H:8,200
[ NU607 | 288 900 | 66% 458 7.900
[ NU609 | 288 900 | 66% 458 7.900
[ NU6s17 | 288 100 | 69% | &1 E:8400 458 7,100 £ 07400
[ NUe21 | 288 600 458 6,800
625 | 286 100 400 458 7,100 57,400
HIERE | _NU60 | 28 400 A8.100 458 7.400 JOKA:1.100
[ NUs0s | 288 400 A:8.100 458 7.400 KOKA:T.100
610 | 288 000 7,200 458 6.400 A H:6.700
612 | 288 7,000 7,200 458 6,400 A H:6,700
[ NUst4 | 288 400 8,100 458 7.400 JOKA:1,100
[ NUs22 | 288 200 8,900 458 8,200 68% | KA:7.900
[ NU626 | 288 400 8,100 458 7.400 JIKA:7,100
ARG -ES | e (IbE) 3| _NUs51 | 288 200 7,900 458 7,100 JIKA:7,400
[ NUs57 | 288 200 7,900 458 7,700 JIKA:7,400
[ NUs59 | 288 200 4 458 7,700 JIKA:7,400
[ NUS63 | 288 900 458 7.400 700
[ NUs65 | 288 7.200 458 300 [E % H:6600
567 | 286 7.200 458 300 68% | H:6,600
571 | 288 7.200 458 300 68" 6,600
573 | 288 7.200 458 300 68% 6,600
AR 552 | 28H 8,200 458 700 61% | AOKA:7.400
[ NUS56 | 288 8,200 458 7,700 61% | KKA:7.400
[ NUs58 | 288 7,500 458 6,600 66% | kKA:6,300
[ NUS60 | 288 7.500 458 6,600 66% | KA:6.300
[ NUs62 | 288 200 458 7,100 JIKA:7,400
[ NUs64 | 288 200 458 7,700 JIKA:7,400
566 | 28H 200 458 7,700 JIKA:7,400
572 | 286 200 458 7700 | ¢ JIKA:7,400
WMOPE)-AKS | rsGRE) % | NU211 | 280 600 458 7,300 0% |+ H:7,600
AKER 212 | 288 5500 | 56% 458 5,400 55% |+ H:6,000

JTA



M85 i BER (4A28~30BEFES)

SEEEA R 2019/09/04 ~
RPN DR 4/28 4729 4730
= &% i::]” i::: B @547A] 585178| ZBITA| 5BI17B| Z@ITA] BITE
. EAME | mAMR @R | EEE | EEH | ERE | EEs | S8R
KR (BSEE) =548 (RE) | AR (BE) % 28H [F] 17600 | 16.200 16.200 [_16.200
28 000 . )
28 900
bk (RER) | N 28 .200
28 000
28 17.600
WRECRR)=RE R CRE) # 28 22,600
28 20,600
HER 28 22,600
28 25,100 .
TR V) TR 28 000 in
28 200 |12
28 000 [ i
28 500 10,
28 500 10,
28 500 10,
ik (RER) R 28 500 10.
28 500 10,
28 ,000 [ i
28 000 [ i
28 500 1
28 .000 | 1
RRCAE)=EH 28 600 |21
28 600 [ 21.
KR (BF)=H1E 28 900 |19
28 400 17
INA=REE (BRER) 28 400 18,
S (IR ER) 28 400 [ 1s.
BEE (PED) =ik (R & 2 (PED) U 28 .500 IRE
28 500 | t6.
u 28 500 [ 14
28 500 [ 14
i IR ER) 56 [ NU 28 500 |14,
28 500
u 28 800
28 4300
FEIL=3#8 GIRER) Fi LI 5 28 1.000
S (IR ER) % 28 1.000
@ (BF)=1E ik (RER) R 28 100
28 .900
28 900
28 .900
28 100
28 7.600
28H 8.100
AER 28H 8.100
28H 8.100
28H 7.000
28H 7.000
28H 100
28H .900
28H 100
() =B ik () R 28H .900
28H 7.900
28H 7.900
28H 7.900
28H 7.200
28H 7.200
28H 7.200
28H 7.200
EEES 286 7.900
28H 7.900
28H 7.200
28H 7.200
28H 7.900
28H 7.900
28H 7.900
28H 7.900
PRBH=ARE [HEGIR) R 28H 7.600
AKBH 286 5.500

JTA



rEJEE EERGA1I~4BERESD)

EEEAE 2019/09/04 ~
RPN DA 571 572 573 574
- | A R O A &3 17E | ERITA| ERA7E| ERITA] KRB | AT Al RIS
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
ENACEE] 28681 | 45HA1 | 16500 20200
28 200 19.300
28 ,000 18.900
B E[N 28 .500 14,800
28 .900 25,500
28 20.300 600
RR(CRE)=R1E HR(PE)F 28 31.800
28 31.800
RiEH 28 22,500
28 25,000
1RRE=i0 48 (RE) EHES 28 ,700
28 900
28 .500
28 500
28 .500
28 100
ik (RER) R 28 .500
28 500
28 .500
28 500
28 .500
28 500
RRECAR)=8H 28 ,200
28 29,500
KR (BFE) =R 28 22.300
28 27,700
MR=3EE GIRER) 28 29,500
IR OE) 28 29,500
BEE (P =048 (BB & B (hER) U 28 4,500
28 500
u 28 000
28 900
TR () 5 [_NU 28 ,200
28 500
U 28 20.800
28 20,800
FEIL=548 () ] LLy 5 uot 28 33,600
R () % 16| 28 27,500
W ORH) =H1E B (RE) 5 [_NUGO 28 700
28 700
607 28 ,.900
609 | 28 900
617 28 ,700
NUG21 | 28 300
NUG25 | 28H 700
FE% | NU600 | 28H 400
NUG08 | 28H 400
NUGT0 | 28H 7,000
NUGT2 | 28H 7.000
NUGT4 | 28H 400
NUG22 | 28H 200
NUG26 | 28H 400 S
SEE(BRE) =TS b8 (AR %[ _NUs51 | 28H 500 X
NU557 | 288 500 X
NU559 | 28H 500 [
NUS63 | 28H 500 s [
NU565 | 28H 100 [ e
NUS67 | 28H 100 o Y
NU571 | 28H 100 [ e
NU573 | 28H 100 s [
BaE® | NUss2 | 28H 200 s
NUS56 | 28H 200 [
NU558 | 28H 500 X [
NU560 | 28H 7.500 6.600 | 8. [
NU562 | 28H 200 7700 | &
NUS64 | 28H 200 7700 | s
NU566 | 28H 200 7700 | 8.
NUS72 | 28H 200 7700 | s
FE W =AKE, | HI DB 5| NU211 | 28H 100 7.800 s
A%B% | NU212 | 28H 5,800 5.700

JTA



r£5EI5 EER(5A5~8HBRD)

SEEEA R 2019/09/04 ~
PPN P 575 576 577 5/8
- wn | A R O A &3 17E| I A| ERA7E| ERITA] KRB | AT A] RIS
WaoE | Wy | EEE EEM | @AW | GRS | AW | SRW | SR
RIR (B ) 3¢ | ! 28681 | 458 16,900 [_16.200 15,400 14200
28 17.900 . 9.000 8.100
28 19,900 12700 | 12300
I IE 28 20.700 9.200 8.900
28 300 . 9,000 8,100
28 800 1 [ 14900 | 13.100
RR(CRE)=R1E R CRE) & 28 .900 2 22,600 20,600
28 900 1
RER 28 800 20,
28 000 .
TR AL ) TR 28 500 i
28 500 [ 12
28 500 1
28 500 [ ic
28 800 [ ic
28 800 [ 1o
ik (RER) R 28 .800 | ic
28 800 [ ic
28 25700 i
28 25,700 [ 1
28 26600 K
28 26,600 1
EECES 28 32.900 [t
28 53.200 [ 21
KR (B#)=F18 28 27.900 |19
28 46.400 17
IMR=EE () 28 29,500 18
o (LB % 28 40500 N
BEE (P =048 (BB & B (hER) u 28 7.100 | 15
28 7.100 [ te.
u 28 5,000 [ 14
28 5.200 [ 14
TR () 3 |_NU 28 20,600 1.
28 36,500
u 28 36,500
28 6.500
FEIL=3#8 GIRER) Fi LI 5 uot 28 7.500
Sl (IRE) % 16 | 28 600
W ORH) =H1E B (RE) 5 [_NUGO 28 400
28 400
607 | 28 400
609 | 28 400
617 | 28 400
NU621 | 28 10.400
NU625 | 28H 10.400 [ o
BER | _NU600 | 28H 10.400 1
NU608 | 28H 10.400 1
NU610 | 28H 10.400 1
NU6T2 | 28H 10.400 1
NU614 | 28H 10.400 1
NU622 | 28H 10.400 1
NU626 | 28H 10.400 I
SEE(BRE) =TS b8 (AR %[ _NUs51 | 28H 500 X
NUS57 | 28H 500 [_s.
NUS59 | 28H 500 [ e
NU563 | 28H 500 [ s.
NUS65 | 28H 500
NUS67 | 28H 500
NUS71 | 28H 500
NU573 | 28H 500 [_s.
BEE | _NU552 | 28H 500 [
NU556 | 28H 500 [ o.
NU558 | 28H 500 [ o
NU560 | 28H 500 [ o.
NUS62 | 28H 500 [ o
NUS64 | 28H 500 [ o.
NUS66 | 28H 500 [ o
NU572 | 28H 500 [ o.
AR (BB-AKS |[Se@ORE | NU2(i | 28H 100 X
Ak | NU212 | 28H 100 8.100

JTA



MEB8E5 1 BER(GAI~10BEEY)

SEEEA R 2019/09/04 ~
RPN DR 5/9 5/10
R &% i::: A i::: B @a7A| @I17B| AHTA| £@ITE
AR | BAE EER | EEHE | 58 | @888
KR (BT =548 (BE) | ABR () % 28H [F] 19.900 18.100 13.900 12.900
28 .000 100 9.000 8.100
28 900 | 9.800 13.800 13.400
SRR (TR %[N 28 200 | 8900 9.200 8.900
28 000
28 800
RR(CRE)=R1E HR(PE)F 28 .600
28 600
"ER 28 600
28 .100
1RRE=i0 48 (RE) EEEES 28 .900
28 500
28 .900
28 1400
28 1400
28 1400
ik (RER) R 28 1400
28 1400
28 1400
28 .900
28 400
28 .900
RRECAR)=8H 28 23,600
28 23,600
KR (BFE) =R 28 22.800
28 17.400
MR=3EE GIRER) 28 28,500
S (IR ER) 28 28,500
BEE (P =048 (BB & B (hER) U 28 6.500
28 7.500
u 28 000
28 .000
TR () 5 [_NU 28 .500
28 500
u 28 .300
28 800
FEIL=3#8 GIRER) Fi LI 5 28 28,000
S (IR ER) % 28 21,000
W ORH) =H1E RE) £ 28 400
28 .200
28 ,900
28 .900
28 400
28 7.600
28H 8.100
RIEX 28H 8.400
28H 8.400
28H 7.000
28H 7.000
28H 400
28H 200
28H .400
() =B ik () R 28H .200
28H .200
28H 200
28H 7.900
28H 7.200
28H 7.200
28H 7.200
28H 7.200
EEES 28H 8200
28H 8.200
28H 7500
28H 7.500
28H 200
28H .200
28H 200
28H .200
PRBH=ARE [HEGIR) R 28H .700
AKBH 28H 6.300

JTA



. PAN
[%&5E5 EER(6A1~14BEFES)
BEBAL : 2019/09/05 ~ 514
- £/ITA %8578
FH P BEH
= bl e e =3 BT i
S W— 2. - 77100 16100 45E11 | 16400 | 52 [F.16.700. %:16,400. £:20.300. H:15.100
RIR (BE8) = 48 GV | AR (HIZ8) 36 |_NUOOT | 28Ei Ry | 19,800 % _A:16,600, $:17,600, 22,100, B:16, 5] 100 | 70%
005 | 28 000 258 800 | 74% |%:12,300, H:13400
| NUoos | 288 900 74% | %:12.700, B:13,800 oH 500 T
o CGIVER) 3% [_NU002 | ggg ﬁgﬁ m 258 100 | 7w | TS
004 52 | _£:15.800,
[ NUoos | 28E1 800 | 48% 7.100__:17.000, B:18.400 223 ‘ggg :g:: 5,300
= EE =3 [ Nuo71 | 288 600 66% :24,600 ¢ 7% 600. £.22.600
RRCIR)=RE RREADR 073 | 288 600 | 69% :22.600, 1:24.600 gg :ggg BT
FER 07 28H 600 66% 4,600 458 100 65% |1 100
076 | 288 100 | 624 100 256 100 | 67% [+ H:11,000
BRI uosi | 288 000 | od% 900 258 100 | 64% | L H:11,600
[ NU0ss | 2881 000 | 61% 500 256 100 | 67% |+ H:11000
[ NUos7 | 2880 000 | 4% 900 256 600 | 69% | £ H:10500
[ NUost | 2880 500 | 664 400 256 600 | 69% | £ H:10,500
[ NU0es | 28E1 500 | 664 400 256 600 | 69% | £H:10,500
_______["nuoss [ 28 500 | 66% 400 258 600 69% 500
L CIVWR) 36 |_NU0S0 | 2881 500 | 66% 400 450 500 | 69% 0.500
| _NU052 | 288 500 | 66% 111,400 256 600 | 69% [+:10,500, B:11.200
| NUos4 | 2880 500 66% 400, H:12,100 58 100 | 67% | 00, B:11,700
[ Nuose | 288 000 | 64% 258 600 | 66% | 00, +:11,500, B:12.200
| _NU0G0 | 288 500 | 63% 258 100 | 67% | H:11.000
| NU062 | 288 ,000 64% 256 800 68% |1 H:21.700
HRCHE)-Ed | B CHED S| Nuoal | 288 600 | 65% T5H 800 | 68% 21,700
ma% | NUo22 [ 288 600 | 65% 58 600 | 62%
AEEEE-RE | AR %] NUoss | 288 800 | 58 | 458 300 | G6%
oig | 288 A0 458 800 | 50%
037 | 288 800 7 o8 o0 | son
o e 2 7 458 400 | 67%
HE () 288 500 64 458 400 | _64%
e T 458 400 | 69%
e 2T 458 400 | 69%
e ST 458 400 | 69%
RT3 288 500 | 67% 258 400 | 64% |2
28H .500 62% 458 200 | 65% | AK:13.700, 14,200, 1:15900, H:16,200
288 300 | 6% 250 200 | 67% | JK:12.700, A:13,200, £:14,900, H:15,200
S 'egg ﬁg:: 455 000 | 51% |%:27,000. +:27.500
= 288 .00 000 51% 7,000, H:27,500
E “RE 601 | 2881 : RAASB, 69% @+ H:8.200
HROImRE U605 | 2881 900 | 66% |2+ H:9200 gg ;:ggg o
| NUs07 | 288 '903 gg:: 250 7,900 69%
Usop | 28R .90 72% | &1 B:7400
[ NU6t7 | 2880 100 | 69% |2+ B:6400 gg ;;gg i
| Nue2i | 288 600 __ 256 7100 | 72% |H:7.400
| NU625 | 28H 100 400 258 7400 | 71% | KoKA:7.100
aEX U0 | 2881 400 28100 458 7.400 | 71% | JUKA7100
608 | 28 400 48100 25H 6400 | 75% | /B B:6700
[ Nueio | 288 000 1200 456 6400 | 75% |AH6700
612 | 288 7,000 :7.200 458 7.400 71% | KIKA:7.100
614 | 28 400 28,100 258 8200 | 68% | XUKA.7.900
[ NU622 | 28 200 K:8,.900 o Sr JOKAT 100
["NU626 | 28m 400 :8,100 24 o SR 1400
AR -BE | ## I 3| NUssi | 288 200 27900 58 7.700 JOkAT 400
557 | 285 200 :1.900 24 Lo Sk k1400
[ usss | 265 200 £I50 458 7.400 700
| NUS63 | 288 900 E 258 300 H:6,600
e |28 o 458 300 | 68% | H:6,600
| NUS67 | 288 7,200 256 300 | 68% |H% H:6600
571 | 288 7.200 250 ,300 68% 6,600
573 | 288 7,200 250 700 61% | k7KA:7.400
EER 552 | 288 8,200 258 7,700 61% | kIKA:7.400
556 288 8,200 258 6,600 66% | XK A:6,300
[Nusss | 28| 7,500 255 6,600 | 665 | JKA6300
[ Nuseo | 2888 1500 258 7,700 K IKA 7,400
[ Nusez | 288 200 258 7.700 K IKA 7,400
[ Nuses | 288 200 258 7.700 K IKH 7,400
[ Nuses | 288 200 258 7.700 K KA 7,400
572 | 288 égg 250 7,300 | 40% 1 87,600
ok e 211 | 288 K 400 55% £ H:6,000
ROM-ARE  mEGIE W28 5500 | 55 458 5,

JTA



48 ooy s AE
rEBEI5 1 EER(6A15~21BERS)
SEEWEMAA ;- 2019/09/05 ~
6/15-21
£/ITA #185178
=] fiE:]
¥ = FH ], EEW
| mamm | =N 4 il s | TR | s il
KR (B78) =% #% (Bh%) | AWMk (BJF) % | NUOT | 28HAI | 19,800 16800, %:17.600. £:23.700. H:21.800 45BF1 | 18400 | 52% |F:16.700, %:16.400. 21,000, H:19.400
[ NU005 | 288 000 3 458 100 79%
[ NU00Y | 288 900 | 74% |&:12.700. H:14.700 458 800 74% | %12.300. H:13800
% (BRER) 5[ _NU002 | 288 200 3 458 900 7%
[ NU004 | 288 000 458 100 79% 900
[ NU00B | 288 800 900, £:25.400 458 400 | 52% 300, :18,600. H:22,500
HR(PE)=FE BER(FE) R 07 288 600 500 458 600 69% 600, H:23400
073 | 288 600 600, H:23.500 458 600 | 72% 600 +:22,600. H:23.400
RlER 070 | 288 600 00 458 600 | 69% 600, B:23,400
076 | 288 100 458 100 | 65% 100, H:25.900
f@m% | _NU051 | 28H 000 458 100 | 67% 000, F1:11,900
[ NU0S3 | 288 000 458 100 | 64% 600, B:12.400
[ NU0s7 | 288 000 458 100 | 67% 000, F1:11,600
[ NUo6T | 288 500 458 600 6% 500, B:11,300
[ NU063 | 288 500 458 600 6% 500, B:11,300
[ NUO65 | 288 500 458 600 6% 00, B:11,300
R (FFE) 3 |_NU0S0 | 288 500 458 600 69% 00, B:11,300
[ NUos2 | 288 500 458 600 69% 500, F1:11,300
[ NUos4 | 288 500 458 600 69% 500, B:11,600
[ NU0s8 | 288 000 458 100 | 67% 00, B:12,500
[ NU0G0 | 288 500 458 600 | 66% 00, :11,500. H:12,600
[ NUo62 | 288 000 458 100 | 67% 000, B:11,600
HR(PHE) =B [ EmIE&| NU2i | 288 1600 458 800 68% 21,700
mds | NU022 | 288 600 458 800 | 68% 21,700
KR (BT =R\ | ABR(B7)%| NUSS | 28H 800 458 600 | 62% 1600, H:22.200
086 | 28 000 458 300 | 66% 0,000 H:20.800
037 | 288 800 458 800 | 57% 22,700
036 | 288 800 458 800 | 57% 700
HE (PE) 28H 500 458 400 | 67% 700, £:15.200. H:14,700
285 500 458 400 | 64% 700, $:16.200. H:15.700
285 500 458 400 | 69% | H:13.700. £ H:14,700
285 500 16,300, H:15.900 458 400 | 69% 700, £:21.200, £ H:14.700
ErC k] 285 500 300 458 400 | 69% | H2:13.700, T:14.400. H:14,700
285 800 £:16,000. H:17.300 458 700 | 68% | XA15.400, K:14.900. E:14400. H:16,200
285 300 000, £:15.300, %:16.300. H:17.800 458 200 | 65%
285 6,800 500, A:14,800, %:15.800, B:17.300 458 200 | 67%
L= (B8 285 1,000 ,000 458 000 | 51% |%:27.000, +:27,500
U016 | 288 1,000 ,000 458 000 | 51% 000, H:27.500
) =B R 601 | 28H 400 458 7.400 71% | KKA:7.100
[ NU605 | 288 900 458 7.900 69% | &+ H:8,200
[ NU607 | 288 900 458 7.900 69%
[ NU609 | 288 900 458 7.900 69%
[ NU617 | 288 100 458 7,100 72% | & T H:7.400
[ NUe21 | 288 600 458 6,800 74%
625 | 286 100 458 7,100 72%
RER 600 | 28H 400 458 7.400 7i%
[ NU60s | 288 400 458 7.400 7i%
610 | 288 000 458 6,400 75%
612 | 288 7,000 458 6,400 75%
[ NUst4 | 288 400 458 7.400 71%
[ NUs22 | 288 200 458 8,200 68%
[ NU626 | 288 400 458 7.400
P (R =EE 4R (APEH) 5 |_NUS51 288 .200 458 1,700
[ NUs57 | 288 200 458 7,700
[ NUs59 | 288 200 458 7,700
[ NUS63 | 288 900 458 7.400
[ NUs65 | 288 7.200 458 300 E
567 | 286 7.200 458 300 68% | H:6,600
571 | 288 7.200 458 300 68" 6,600
573 | 288 7.200 458 300 68% 6,600
AR 552 | 28 8,200 458 700 61% | AOKA:7.400
[ NUs56 | 288 8,200 458 7,700 61% | KKA:7.400
[ NUs58 | 288 7,500 458 6,600 66% | KA:6,300
[ NUS60 | 288 7.500 458 6,600 66% | kKA:6.300
[ NUs62 | 288 200 458 7,100 JIKA:7,400
[ NUs64 | 288 200 458 7,700 JIKA:7,400
566 | 28H 200 458 7,700 JIKA:7,400
572 | 288 200 458 7700 | ¢ JIKA:7,400
WOPE)-AKE [ SPMOBE)%| NU2(1 | 288 600 458 7,300 0% |+ H:7,600
AKER 212 | 288 5,500 458 5,400 55% |+ H:6,000

JTA



I%/BE5 BEXR(6822~30AEEND)

SEEWEMAA ;- 2019/09/05 ~
6/22-30
£/ITA #185178
=] fiE:]
¥ = FH ], EEW
| mamm | =N il s | TR | s il
KR (B78) =% #% (Bh%) | AWMk (BJF) % | NUOT | 28HAI | 19,800 716,800, %:17,600, £:23.700, H:21.800 45BF1 | 18400 | 52% |F:16.700, %:16.400. 21,000, H:19.400
[ NU005 | 288 000 3 458 100 79%
[ NU00Y | 288 900 | 74% |&:12.700. H:14.700 458 800 74% | %12.300. H:13800
% (BRER) 5[ _NU002 | 288 200 | 76% 458 900 7% _
[ NU004 | 288 000 | 77% AKX 314,000 458 100 79% | B %9.100. H:12.900
[ NU00B | 288 800 3 900, £:25.400 458 400 | 52% |%:15.300. £:18,600. H:22,500
HR(PE)=FE BER(FE) R 07 288 600 500 458 600 69% 600, H:23400
073 | 288 600 600, H:23.500 458 600 | 72% 600 +:22,600. H:21.400
RlER 070 | 288 600 500 458 600 | 69% 600, B:23,400
076 | 288 100 000 458 100 | 65% 100, H:25.900
#@EFx | _NUosi | o8| 000 900 458 100 | 67% 000, F1:11,900
[ NU0S3 | 288 000 400 458 100 | 64% 600, B:12.400
[ NU0s7 | 288 000 900 458 100 | 67% 000, F1:11,600
[ NUo6T | 288 500 300 458 600 6% 500, B:11,300
[ NU063 | 288 500 300 458 600 6% 500, B:11,300
[ NUO65 | 288 500 300 458 600 6% 00, B:11,300
R (FFE) 3 |_NU0S0 | 288 500 300 458 600 69% 00, B:11,300
[ NUos2 | 288 500 300 458 600 69% 500, F1:11,300
[ NUos4 | 288 500 ,000 458 600 69% 500, B:11,600
[ NU0s8 | 288 000 500 458 100 | 67% 00, B:12,500
[ NU0G0 | 288 500 458 600 | 66% 00, :11,500. H:12,600
[ NUo62 | 288 000 458 100 | 67% 1.000. H:11,600
HR(PHE) =B [ EmIE&| NU2i | 288 1600 458 800 68% 21,700
mds | NU022 | 288 600 458 800 | 68% 21,700
KR (BT =R\ | ABR(B7)%| NUSS | 28H 800 458 600 | 62% 1600, H:22.200
086 | 28 000 458 300 | 66% 0,000 H:20.800
037 | 288 800 458 800 | 57% 22,700
036 | 288 800 458 800 | 57% 2.700
HE () 28H 500 458 400 | 67% 4,200, :15.200, B:15,600
288 500 458 400 | 64% 5.200, 116,200, H:16.600
285 500 458 400 | 69% 14,700, #:14,100, H:15,200
288 500 16,300, B:15.900 458 700 | 66% 4,100, /KA:13.400, %:21.200. H:15.20
B 5 28H 500 300 458 400 | 69% |A% L t14, 4,70
288 800 16,000, H:16.300 458 400 | 64% | H:13.700, K:14.900, %:15.200, T:14,400. H:14,700
288 300 | 60% ,000, 7:15.300, +:16.300, H:17.800 458 200 | 65% | 13,700, 7K:14,900, A:14.200, F:15.900. H:16.200
288 6800 | 6i% 500, 7:14,800, F:15.800, H:17.300 458 200 | 67% |k 200, £:14,900. H:15,200
L= (B8 288 1,000 | _45% ,000 458 000 | 51% |%:27.000, +:27,500
U0t | 288 1,000 | 45% | H:27.500, H:28,000 458 000 | 51% | H:27.000. B:27.500
ARE-RE 601 | 28H 400 | 67% | AKAB100 458 7.400 71% | KKA:7.100
[ NU605 | 288 900 | 66% | &1 H:9,200 458 7.900 69% | &+ H:8,200
[ NU607 | 288 900 | 66% 458 7.900 69%
[ NU609 | 288 900 | 66% 458 7.900 69%
[ NU617 | 288 100 | 69% 458 7,100 72% | & T B:7.400
[ NUe21 | 288 600 | 71% 458 6,800 74% 7500
625 | 286 100 | 69% 458 7,100 72%
BES 600 | 28H 400 | 67% 458 7.400 7i%
[ NU60s | 288 400 | 67% 458 7.400 7i%
610 | 288 000 | 73% 458 6,400 75%
612 | 288 7.000 | 73% 458 6,400 75%
[ NUst4 | 288 400 | 67% 458 7.400 71% | KOKA:1.100
[ NUs22 | 288 200 | 64% 458 8,200 68% | KA:7.900
[ NU626 | 288 400 | 67% 458 7.400 HIKA:7,100
FR PG -ES | eI 3| _NUs51 | 288 200 | 58% 458 7,100 JIKA:7,400
[ NUs57 | 288 200 | 58% 458 7,700 JIKA:7,400
[ NUs59 | 288 200 | 58% 458 7,700 JIKA:7,400
[ NUS63 | 288 900 | 60% 458 7.400 700
[ NUs65 | 288 7.200 | 63% 458 300 [E % H:6600
567 | 286 7.200 | 63% |B7 458 300 68% | H:6,600
571 | 288 7.200 | 63% A% H:7500 458 300 68" 6,600
573 | 288 7.200 | 63% A% H:7,500 458 300 68% 6,600
AR 552 | 28 8200 | 58% | JkA:7.900 458 700 61% | AOKA:7.400
[ NUs56 | 288 8200 | 58% | JKIKA:7,900 458 7,700 61% | KKA:7.400
[ NUs58 | 288 7500 | 62% | kkA:7.200 458 6,600 66% | KA:6,300
[ NUS60 | 288 7500 | 624 ks 458 6,600 66% | kKA:6.300
[ NUs62 | 288 200 | 584 ks 458 7,100 JIKA:7,400
[ NUs64 | 288 200 | 584 [ dokA: 458 7,700 JIKA:7,400
566 | 28H 200 | 584 | duokk: 458 7,700 JIKA:7,400
572 | 288 200 | 584 [ dukA: 458 7700 | ¢ JIKA:7,400
WMOPE)-AKS | rsGRE) %| NU211 | 280 600 | 37% : 458 7,300 0% |+ H:7,600
AKER 212 | 288 5500 | 56% 458 5,400 55% |+ H:6,000

JTA



=

M558

15| NEER(TA1~14BEED)

sEmn
7/1-14
- s - EEIOA - T
| WABE il A | ERE il
KB (BIFE) =58 (BB ) [_NUoo1 28E B 3,300, 1:24,400, H:21,800 45E B 19,500 0,600, 1:21,600, H:19,400
|_NU005 28H 458 ,100 ,100
| _NU009 28H 458 13,100 14,300
[_NU002 28H 458 13,100 14,300
|_NU004 28H 458 100 9,100, H:12,900
| _NU008 28H 458 ,500 500, 1:19.200, H:26.300
HR CAE) =R & 071 | 288 258 400 000, B:23.400
07. 28H 458 ,400 400, 1:26,000
07 28H 458 ,400 400
076 | 28H 458 ,900 900
|_NUO05 28H 458 ,800 800
|_NU053 28H 458 ,000 100
|_NU057 28H 458 ,800 800
[_NUO061 28H 458 ,300 300
|_NU063 28H 458 ,300 300
065 28H 458 ,300 300
050 28H 458 ,300 300
[ NUos2 | 2880 11 458 300 :11,300
054 28H 2,000, 1 H:12,300 458 ,300 000, + H:11,300
058 28H 2,500, :12,800, H:13,500 458 ,800 00, 1:11.800, H:12,500
060 28H ,000, £:13,300, H:14.000 458 .300 00, 1:12.300, H:13,000
062 28H 212,800 458 ,800 11,800
HFE(PE)=BH 021 28H :24,500 458 ,600 22,600
022 28H :24,500 458 ,600 22,600
KR (BE) =R 083 | 2881 — 258 200
086 28H | H:22,300, £:22,500, H:24,000 458 ,100 0,600, 1:20.800, H:22,300
037 28H H:29,400 458 ,200 H:28,900
036 28H 458 ,200 28,900
28H 458 ,100 00, £:15.700, +:16.100. H:15.600
28H 458 ,100 65% 6.200, #:16.700, F:17.100, H:16.600
28H 458 ,100 69% 700, £+ H:15.200
28H 458 ,100 69%
28H 458 ,700 68%
28H 458 ,700 66%
28H 458 ,700 64% | :X:15,200. 7k+:16.200, A:15.700, H:17.200
28H 458 ,700 66% | 14,200, 7k+:15.200, A:14.700, H:16.200
eI AE ) 288 258 000 | 36% |%+:29.100
uoie | 28H 458 ,000 36% A 9,100
e 601 | 288 258 600 72% | KOKA:7.300
605 28H 458 ,400 69% | KIKA:8,100
607 28H 458 ,400 69% | A XIK:8,100
609 28H 458 ,100 70% I ,400
617 28H 458 1300 73% I ,600
621 28H 458 7,500 2%
625 28H 458 7,300 73% | H:7,600
600 28H 458 7,600 72% | XIKA:7.300
608 28H 458 7,600 72% | KIKAK:7,300
610 28H 458 6,400 6% B ,700
612 28H 458 6,400 6% A ,700
614 28H 458 7,600 72% | KIKA:7,300
622 28H 458 8,400 69% | AIKAK:8,100
626 28H 458 7,600 72% | KIKA:7,300
e e 551 | 2880 258 200 61% | AOKA.7.000
557 28H 458 ,200 61% | AIKAK:7,900
559 28H 458 ,200 61% | AIKA:7,900
563 28H 458 1900 62% ,200
565 28H 458 7,500 £ H:7.800
567 28H 458 7,500 800
571 28H E 458 7,500 & H:7.800
573 28H E 458 7,500 & H:7.800
552 28H <:8,800 458 8,200 K IKAR:7,900
556 28H <:8,800 458 8,200 K IKA:7,900
558 28H AK:7,900 458 7,800 63% K IKA:7,500
560 28H AK:7,900 458 7,800 63% K IKA:7,500
562 28H <:8,800 458 ,200 K IKA:7,900
564 28H <:8,800 458 ,200 K IKAR:7,900
566 28H <:8,800 458 ,200 K IKA:7,900
572 28H <:8,800 458 200 | € K IKA:7,900
D) -ARE 211 | 288 8,100 258 300 3% &+ B.7.600
28H ,600 458 6,200 51% 1+ H:6,.800




l%/BE5 BER(TAI5~21AEED)

SEEWEMAA ;- 2019/09/05 ~
7/15-21
£/ITA #185178
=] fiE:]
FH = E—53 F - E—5%
| mAmE | ZU# | gsix il s | TR | gz il
o (9 )= (Gh%) | bk LB 3| NU090 | 28HAT | 10000 | 77% |H:15900 45B 1 | 10800 | 78% |H:15.700
KR (BIEE) =348 (B0%) | ABR (B $ [ _NUOOT | 288 23900 | 41% K:21,900, %:25300, I:26,500, H:23.800 458 21.400 | 48% |JKA:19.500. %:22.600. 123,600, H:21,300
[ NU005 | 288 9000 | 78% 2,700 458 8,500 79% | KA:8,100, £:9.100
[ NU00Y | 288 14700 | 64% k13,500 458 14600 | 64% | AKA:13.100
¥ (FPE) % _NU002 | 288 14700 | 64% K13, 458 14,600 | 64% | AKA:13.100
[ NUooa | 28 000 | 78% | A 212,800, H:14.700 458 100 78% | KA:8,100, & 18,500, H:13,600
[ NU00s | 28 900 | 41% [/KA:21,900, £:22.900. £ 23500, H:26.700 458 400 | 48% | KA:19.500, £:20,500, :21.100. H:25.700
RRCPE)=RE FRCRE) % 07 28F 400 66% 458 1400 69%
073 | 288 900 | 61% |JKA:21.400, %:29.900, T B:28.900 458 800 | 64% |JKA:19.400. %:27900, F H:26,900
BER 070 | 28 400 | 66% 458 400 | 69%
076 | 288 400 | 57% 458 300 | 60% |4 900, T:20.400. H:42.900
=k () f@m% | _NU051 | 28H 200 | 60% 458 300 | 63% |t 800, E H:13,200
[ NU0S3 | 288 300 | 574 458 300 | 60% |t 000
[ NU0s7 | 288 400 | 60% 458 300 | 63% |t 800
[ NUO6T | 28H 900 458 000 7 300, E H:12,300
[ NU063 | 28 900 458 000 KA:10.300. T B:12.300
[ NUO65 | 28 900 458 000 KA:10.300, T B:12.300
R (FFE) 3 |_NU0S0 | 288 900 458 000 KA:10.300, T B:12.300
[ NUOs2 | 28H 900 458 000 KA:10.300. T B:12.300
[ NUos4 | 288 900 458 300 | 63% | H X:12,000, 7KA:10.300
[ NU0s8 | 288 400 | 60% 458 500 | 62% | AKA:10.800, £:13.200. T H:13.300
[ NU0G0 | 288 900 | 58% 458 300 | 60% | A K:13,000, JK:11.300
[ NUo62 | 288 600 | 59% 458 300 | 63% | AKA:10,800
HFE(HE)=Bd EECEE) %[ NU021 | 28H .900 60% 458 ,000 63% |t .900
EEE | NU022 | 288 900 | 60% ; 458 000 | 63% |3 900
HRCHE)-AKE |HmCHE) S| NU0ot | 288 600 | 57% 900, +:24.200, H:22.600 458 200 | 61% |% 122,000, H:20.200
AkEF | NU0S | 288 900 | 75% 8,900 458 800 | 75% 8,700
KR (T =RE | KB (BIF) %[ NU0S3 | 288 300 4,600, %:34,000, 1:35.200 458 200 | _45% 22,200 %:31.100, £:33,900
HiERE 086 | 28 700 00, 7K:20,800, +:25.400, H:26.900 458 900 | 61% 3,400, JKA:19.100, £:23.700. H:25,200
NSRBIV ER) A% | NU037 | 28E 700 | 49% |+ H:29, 458 200 | 50% |+ H:28,900
036 | 288 700 | 49% |+ H:20400 458 200 | 50% _
AEE (P (B & 2 (F ) 28H 500 | 62% | JKA:16.200, & H:18.400, £:19.500 458 500 | 64% 17,900, H:16,800
288 500 | 60% |} 00, % H:19.400, +:20,500 458 500 | 62% 900, H:17,800
288 200 | 65% 300, +:17.800, H:16.900 458 4100 | 69% 00, H:15,900
288 200 | 65% 800, £:17,800, H:16.900 458 4100 | 69%
R (I E) 3 288 800 | 63% 458 6500 | 64%
288 200 | 62% N 458 7500 | 62% |4
288 9000 | 59% 300, 7:16,800, H:19.500 458 8000 | 6i% 16,900, A:15.700. H:17.900
288 8500 | 60% 800, #:16.300, H:19,000 458 K £:15.900, :14.700, B:18.400
T \L=h 4% (AR ER) 28881 | 32700 | 20% 458 +:35.200
#E(FREE) %[ NUOi6 | 28EAT | 32700 [ 20% 45H 26,000, H:35.200
i (BBER)=R1E S4B (RER) F [ NUGO 288 .200 66% 458 300
[ NU605 | 288 800 | 64% 458 100
[ NU607 | 288 800 | 64% 458 0. 8400
[ NU609 | 288 800 | 64% 458 100
[ NU6s17 | 288 200 | 66% 458 300
[ NU21 | 288 900 | 67% 458
625 | 286 900 | 67% 458 7,300, £:8,000
HIERE | _NU60 | 28 200 | 66% 458 (7,700, 7K F:7,300
[ NU60s | 288 200 | 66% 458 7,700, JKF:7,300
610 | 288 000 | 74% 458 56,700
612 | 288 7.000 | 74% 458 56,700
[ NUst4 | 288 200 | 66% 458 7,700, JKZ:7.300
[ NUs22 | 288 800 | 64% 458 (8,300, KA:8,100
[ NU626 | 288 200 | 66% 458 7,700, JKZ:7.300
P (R =EE h48 (ARER) 36 |_NUSS1 28H 400 55% 458 300, 7K A:7.900
[ NUss7 | 28H 400 55% 458 300, 7K A:7.900
[ NUS59 | 288 400 | 56% 458 600 59% | X:8,300, KA:7,900
[ NUS63 | 288 100 | 56% 458 300 60 7,900, % H:8,600
[ NUs65 | 288 600 | 59% 458 200 61% | KE:7.900, JKA:7,500
567 | 286 300 | 60% 458 900 62% | /kA:7.500. H:8,200
571 | 288 600 | 59% 458 200 61% | KE:7.900, JKA:7.500
573 | 288 600 | 59% 458 200 (F:7,900. KA:7,500
AR 552 | 28 400 | 55% 458 600 300, JKA:7,900
[ NUs56 | 288 400 | 55% 458 600 300, JKA:7,900
[ NUs58 | 288 600 | 50% 458 200 47,900, JKF:7500
[ NUS60 | 288 600 | 50% 458 200 47,900, JKF:7,500
[ NUs62 | 288 400 | 55% 458 600 300, JKA:7,900
[ NUs64 | 288 400 | 55% 458 600 300, K A:7,900
566 | 28H 400 | 55% 458 600 300, JKA:7,900
572 | 286 400 | 56% 458 600 300, K A:7,900
ROBE)-AXE | s (bE) 3| _NU2(1 | 288 600 | 32% 458 300 | 43% 7,600
219 | 288 100 | 44% 458 6,300 50% 6,900
AKBI 090 | 288 8400 | 34% 58,600 458 7300 | 43% [ H:7,600
212 | 288 7700 | 39% | B 27,100, KA:6900 458 6,900 | 464 | A %6300, KA6.200
218 | 288 7.100 | 44% & 187,700 458 6,300 50% | &+ H:6900

JTA



48 ooy s AE
TEFEEI SEER(TRA2I~3NBEERS)
EFERE 2019/09/05 ~
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FRITA FAITB
e bl e p——— pron ¥ | anm [E0F o
| SBAMR | T | @i5IE " AR FEES
SR (FIE) =0 Gpga) | b (JpER) % | NUO90 | 288y 900 Th | A2:11200 45EF] | 10800 78% | A=2:11.100
ABR (BAT) =48 (BR#R) | AR (R7E) % [ _Nuooi | 288 200 4% | 3:23,900, :X:24,000, £:25300 45H 28600 | 30% |A:21400. X:22,900, £:22,600
|_NU005 28H 300 7 A X:9,000 458 9,100 78% | A X:8,500
| _NU009 28H 700 4¢ 458 14,600 64%
i (BRER) 2| NUoo2 | 288 700 4 458 14,600 64%
|_NU004 28H 800 69% 458 ,100 78% |
| _NU008 28H 200 4¢ 5:23.900, X:24.400, £:22.900 458 8,600 30% | A:21.400, ::23.400, £:20,500
RRCAE)-RE |ZR@EE)R 073 | 288 900 1% | 7KA:29,600, 2:32.600 458 4,800 64% | JKA:27.600, £:30,600
BIER 076 28H 400 7 :32,100, A%£:37.100 458 7,300 60% | 7K:30,100, A#£:35,100
FEm=48 (RER) @M% [ Nuosi | 288 300 4 X:13.200 458 300 60% | H 12,300
|_NU053 28H 300 4¢ X:14,300 458 ,300 60%
|_NU057 28H 300 X:13.400 458 ,300 63%
[_NUO0B1 28H 300 X:12,900 458 ,300 63% X:12,000
|_NU063 28H 300 X:12,900 458 ,300 63% X:12,000
| _NUO065 28H 300 X:12,900 458 ,300 63% X:12,000
4R (BPER) 5 [_NU050 28H ,300 X:12,900 458 ,300 63% X:12,000
[_NU052 28H ,300 7 X:12,900 458 ,300 63% X:12,000
|_NUO054 28H ,300 7 X:12,900 458 ,300 63% X:12,000
|_NU058 28H ,300 4¢ X:13,100 458 ,300 60% X:12,500
|_NU060 28H ,300 4¢ X:13900 458 ,300 60% X:13,000
| _NUO062 28H ,300 7 X:13,600 458 ,300 63%
HFE(PHE)=-Bd HECEE) %[ NU021 | 28H .900 60% 458 ,000 63%
EEHE | NU022 28H ,900 60% 458 ,000 63%
HRCAE)=A%E |[ER(FE)HF[ NU09l | 288 500 55% 125,300, 425,700, %:29.700 458 000 60% 2,800, 7:24,700. £:28.700
AREF | NU0SO | 28H 900 | 75% 200 45H 800 75% 14,100
KR (BATE)-F1E | ABR (BF)%| NU0B3 | 28H@ | 35200 | 38% 800, £:29.900 45ER] | 35100 38% 1,200, :32,700, £:27.900
086 28H 7,400 52% 700, 7k:25.900 458 ,700 55% 1:23,400, :21,900, 7K:24,200
037 28H ,700 49% 458 ,200 50%
036 28H ,700 49% 458 ,200 50%
HE (P ER) 288 200 65% 458 500 64% 17,800
28H 200 62% 458 1500 62% 18,800
28H ,800 63% 458 ,600 66% 6,000, 7:15.900, %:15.200
28H ,800 63% 458 ,600 66% 6,000, 7:15.900, %:24.300
PR GIRER) 28H ,800 63% 458 ,500 64% 16,100
28H ,300 60% 458 1500 62% 16,100
28H ,000 59% 458 8,000 61% 600, A:15,700
28H ,500 60% 458 7,000 63% 6.600, :14,700
FE L= 48 (3R ER) 28HA]_| 32,700 20% 5,800, :38,900 458 1,100 24% :38.800
Uoi6 | 28HAI | 32,700 20% :35,800, £:38.400 458 4,200 16% | H:C N 1,100, £:37.400
R (B ER) =R1E 60 288 900 67% 200 458 7,700 72% 8,000
|_NU605 28H ,500 65% ,800 458 ,300 69% %:8,600
|_NU607 28H ,500 65% ,800 458 ,300 69% | A :8,600
|_NU609 28H ,500 65% 800 458 ,300 69% | £:8,600
| _NU617 28H ,900 67% 200 458 700 72% | £:8,000
|_NU621 28H ,100 66% :8,900 458 7,900 71% A #:7.700
625 28H ,900 67" 458 17,700 2%
RiEHF |_NU600 28H ,900 67" £:9.200 458 7,700 72% A ,000
| _NU608 28H ,900 67 o 458 7,700 72% A ,000
610 28H ,000 74 :7,200, 7K K:8,000 458 6,700 75% X ,400
612 28H 7,000 74 :7,200, 7K K:8,000 458 6,700 75% ,400
| _NU614 28H ,900 67 :9,200 458 7,700 2% ,000
| _NU622 28H ,500 458 8,300 69% ,600
| NU626 28H ,900 458 7,700
FRBE)-EE | /R (%) 5| _NUSSI | 268 100 458 300
[_NU557 28H ,100 458 ,300
| _NU559 28H ,100 458 ,300
| _NU563 28H ,100 458 ,300
|_NU565 28H ,300 458 1900
567 28H ,300 458 7,900
571 28H ,300 458 7,900
573 28H ,300 458 7,900
EHHE 552 28H ,100 458 8,300
| _NU556 28H ,100 458 8,300
| _NU558 28H ,300 458 7,900
|_NU560 28H ,300 458 7,900
| _NU562 28H ,100 458 ,300
| _NU564 28H ,100 458 ,300
566 28H ,100 458 ,300
572 28H ,100 458 ,300 |f A
BB -AKS | $8E B = 211 | 288 400 458 300 43% 1600
219 28H ,100 458
REKER 090 | 288 8,400 458
212 28H 7,100 458
218 28H 7,100 27,700 458

JTA



[%&/BE5 BERBAI~6AEED)
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8716
£/ITA #185178
e bl e p——— pron b2 T o
| SAMR | T | @3IE " AR HES
o (1) = (Gh) | bk GIOE) 3| NU090 | 28EIEN 200 | 77% |/KA13,600. H:15900 45E 8L 77% | KA:12.600. H:15.700
KR (BIEE) =348 (B0%) | ABR (B $ [ _NUOOT | 288 200 | 24% | F:23900. X:24.000. £:26,500. H:23800 458 |_30% | H:21400. X:22.900. £:23:600. H:21,300
[ NU005 | 288 300 | 67% [KA:13.200 458 78% | JKA:11800
[ NU00Y | 288 100 6,500, T H:14.700 458 50% | A:15.400. T H:14600
4 (FFW) [ Nuoo2 | 288 100 5,500, T H:14.700 458 50% AL H:14,600
[ NU004 | 288 800 | 69% [7KA:13.200 458 78% | JKA:11.800
[ NU00B | 28H &I | 30400 3,900, 24,400, £:23.500, H:26.700 458 30% | F:21.400, 23400, £:21.100. H:25.700
BRCAE)-RE | BmCHE)Z| NU0T3 | 288 600 : 45881 60% 3,100, E H:29.600
HIER 076 | 28H 100 45881 49% | £:40200, 1 £:37.100
EETIEE) @M% | _NU051 | 28H 300 458 54% AL H:13300
[ NU0S3 | 288 300 6.200, T H:15.300 458 51% | A:14.200, T H:13.300
[ NU0s7 | 288 700 600, T B:14.300 458 53% | A:12,600, £ H:12.300
[ NUo6T | 288 300 300 458
[ NU063 | 288 300 300 458
[ NUO65 | 288 300 458 £ B:12.300
R (FFE) 3 |_NU0S0 | 288 300 458 :13.200, £ H:12.300
[ NUos2 | 288 300 458 :13.200, £ H:12.300
[ NUos4 | 288 300 458 512,300
[ NU0s8 | 288 800 9% 458 800, + H:13,300
[ NU0G0 | 288 800 | 49% 458 700, £ H:13.300
[ NUo62 | 288 300 | 51% 458 200, T H:12.300
HFE(PHE)=-Bd EE(CHE)H[ NU021 | 28H 500 56% 458 28,600
EEsE | NU022 | 288 500 | 56% 458 28,600
BR(F@E)=A%E [HEZIE)%| NUooi | 288 700 48% 458 00, 7K:28.200, £:28.700
AkEF | NU0S | 288 200 | 74% ,900 458 15,600, F:18,700
KR (BE)=R1E 083 | 28 300 | _40% 1300, 33,800, T H:29,900 458 1.200. £ H:27,900
086 | 28 400 | 52% | A:28,100, T H:29.100 458 55%
037 | 28EA1 | 30.900 | 36% 4588 37%
036 | 288 30900 | 36% 4588 37% —
HE () 28H 7.200 | 62% 19,000, H:17.900 458 1:16,800
285 200 | 60% 8,900 458 1:17.800
285 200 | 65% .900 458 5,900
285 200 | 65% .900 458 1:15,900
ErCE] 285 800 | 63% 458 1:17.900
285 200 | 62% :18.800 458 1:17.700
288 9000 | 50% 800, 7:16,800, F:17.300, H:19,500 458 900, H1:19,400
288 8500 | 60% 300, 7:16.300, F:16.800, H:19,000 458 5,900, F:18,400
FELLI=ih38 (BB ER) 28H 8,400 450
U016 | 288 38,400 458
R =R B U601 | 288 200 T5H
[ NU605 | 288 800 458
[ NU607 | 288 500 458
[ NU609 | 288 500 458
[ NU6s17 | 288 900 458
[ NUe21 | 288 100 458
625 | 286 900 458
HIERE | _NU600 | 28H 200 458
[ NUs0s | 288 200 | 66% | kk:8900 458
610 | 288 000 | 74% 7,200, 78,000 458
612 | 288 7.000 | 74% |HH:7.200. 8000 458
[ NUst4 | 288 200 | 66% | k8900 458
[ NUs22 | 288 800 | 64% | 2kK:9,500 458
[ NU626 | 288 200 | 66% | 2kK:8900 458
FE PG -ES | PeR (I 3| _NUs51 | 288 400 | 66% | k9,100 458
[ NUs57 | 288 400 | 66% | k9,100 458
[ NUS59 | 288 400 | 55% e 458
[ NUS63 | 288 100 | 56% 400 458
[ NUs65 | 288 300 | 60% 458
567 | 286 300 | 60% 458
571 | 288 300 | 60% 458
573 | 288 300 | 60% 458
AR 552 | 28H 400 | 55% 458
[ NUS56 | 288 400 | 55% 458
[ NUs58 | 288 600 | 50% 458
[ NUS60 | 288 600 | 50% 458
[ NUs62 | 288 400 | 55% 458
[ NUs64 | 288 400 | 55% 458
566 | 28H 400 | 55% 458
572 | 288 400 | 55% 458
WOBH)=AKE | PEEBE R 211 | 288 400 458
219 | 288 100 458
AEER 090 | 288 8,400 458
212 | 288 7.100 E 458
218 | 288 7.100 £H:7.700 458
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SR (FIE) =0 Gga) | s BB % | NUODO | 28EAI | 11200 | 77% 900 45EF) | 11,100 77% | H:15.700
KR (B78) =448 (%) | XMk (R§7) %[ _Nuooi | 288 20600 | 50% 300, £:23,000. H:16.700 458 19100 | 53% | H:19.500, £:17,000, £:21.100. H:15600
|_NU005 28H 9,300 7% 200, A H:13.300, £:9,500, 1:12,900 458 9,100 78%
| _NU009 28H 700 64% ,500 458 ,600 64% [ H:15.100
bR (APER) %[ _NU002 | 28H 700 64% 500 458 600 64% | H:15.100
|_NU004 28H 800 b ,300 458 .600 2%
| _NU008 28H 600 1900, £:17.700, +:17.600, H:27.900 458 ,100 53% | H:21,800, #:15.900, 1:16.400, H:26.800
BR(FE)-RE |ARHER% 073 | 288 900 H:28.900 458 800 64% | &+ H:26900
BIER 076 288 900 00, H:33,900 458 ,800 57% | 4:30.500, H:31,900
FEm=48 (RER) @M% [ Nuosi | 288 300 458 400 63% | I H:13.300
|_NU053 28H 500 ,300 458 ,300 60% | H:13.600
|_NU057 28H 400 ,300 458 ,300 63% 2,500
[_NUO0B1 28H 900 ,900 458 ,000 300
|_NU063 28H 900 ,900 458 ,000 I 300
| _NUO065 28H 900 ,900 458 ,000 I 300
4R (BPER) 5 [_NU050 28H ,900 ,900 458 ,000 I ,300
[_NU052 28H ,900 A 458 ,000 ,300
|_NUO054 28H ,900 ,600, £ H:13.900 458 ,000 £ H:12.300
|_NU058 28H ,400 100, +:14,400, H:15.100 458 ,500 62% 2:13,200, 1 H:13.300
|_NU060 28H ,900 00, F:14,900, H:15.300 458 ,000 61% 13,300
| _NUO062 28H ,500 4,300 458 ,300 63% 00
R (CHE) =88 HECEE) %[ NU021 | 28H 900 60% |+ H:27.800 458 ,000 63% |+ H:25900
EEHE | NU022 28H ,900 458 ,000 63% |+ H:25900
RRCAB)=A%XE |HER(HE)%[ NU09T | 288 400 458 ,300 57% |& 124,700, H:21,700
AREF | NU0SO | 28H 200 45H 100 74% 8,700
AW (BIfE)=R1E | AMR(EIFA) %[ NU0S3 | 28H 500 458 400 54% | A:25.100, % £:27,200
086 28H ,200 458 ,400 59% |+ H:25200
037 28H ,000 458 ,500 51% | &+ H:27,900
036 28H ,000 458 ,500 51% + H:27,900
HE (P ER) 288 800 458 200 65% 400, % H:16,800. £:17.900
28H ,800 458 1200 62% 00, < H:17.800. +:18,900
28H ,800 ,900 458 ,700 68% 00, £:15.200, +:16.100, H:15.900
288 ,800 800, H:16,900 458 ,700 68% |}
EXICTES 28H ,800 458 ,300 60% 900, 7k +:16.400, H:18.900
28H ,800 458 ,300 60% 900, 7K:17.400, +:16.4( H:18,700
28H ,300 458 ,400 64% ,300, H:18,700
28H 800 458 ,800 59% 400, 7k +:16.900, H:19.200
FELLI=ih38 (BB ER) 288 7,500 458 ,000 36% ,100
uoie | 28H 7,500 458 ,000 36% ,100
R (B ER) =R1E 60 288 900 458 ,000 67% | JkIKA:8,700
|_NU605 28H 10,100 458 ,800 64% | XK A:9,500
|_NU607 28H ,800 458 ,500
|_NU609 28H ,800 458 ,500
| _NU617 28H ,600 458 ,700
|_NU621 28H ,700 458 ,000
625 28H ,600 458 ,700
RiEHF |_NU600 28H ,900 458 ,000
| _NU608 28H ,900 458 ,000
610 28H ,000 458 ,700
612 28H ,000 458 ,700
| _NU614 28H ,900 458 ,000
| _NU622 28H 10,100 458 ,800
| NU626 28H ,900 458 ,000
FRGIG)-Ba | /PR ) % | NUSST | 28E 500 458 100
[_NU557 28H ,500 458 ,100
| _NU559 28H ,500 458 ,100
| _NU563 28H ,200 458 ,800
|_NU565 28H ,500 458 ,000
567 28H ,500 458 ,000
571 28H ,500 E 458 ,000
573 28H ,500 E 458 ,000
EHHE 552 28H ,500 55% | RIKA 458 ,100
| _NU556 28H ,500 55% | RIKA 458 ,100
| _NU558 28H ,800 58% | KIKA: 458 ,300
|_NU560 28H ,800 58% | KIKA: 458 ,300
| _NU562 28H ,500 55% | RIKA 458 ,100
| _NU564 28H ,500 55% | RIKA 458 ,100
566 28H ,500 55% | RIKA 458 ,100
572 28H ,500 55% KA 458 ,100
WP -AKE | 7o BB 5| NU2(1 | 268 400 : 458 400
219 28H ,100 458 6,500
AKEH uo%o | 28H 8,400 458 7,400
212 28H 7,100 458 6,500
218 28H 7,100 + 458 6,500 49% +H:7.100
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KR (BIEE) =348 (B0%) | ABR (B $ [ _NUOOT | 288 600 | 50% 400, %:18.300, T:22,600, H:16.700 458 19.100 | 53% | H:17.300, %:17.000. 20,700, H:15,600
[ NU005 | 288 300 | 67% 200, %:13,000, T H:14.300 458 9,100 78% 600, + F1:13,900
[ NU00Y | 288 700 | 64% 900 458 600 | 64% 800
4 (FFW) [ Nuoo2 | 288 700 | 64% 00 458 600 | 64% 800
[ NU004 | 288 800 | 69% 2,000, H:14,800 458 600 | 72% 100
[ NU00B | 288 600 3 7,700, +:17.300. H:27.900 458 100 | 53% 900 :16.100, H:26,800
BRCAE)-RE | BmCHE)Z| NU0T3 | 288 900 458 800 | 64% :26,900
HIER 076 | 28H 900 00 458 800 | 57% 0500, H:31900
EETIEE) @M% | _NU051 | 28H 300 300 458 400 | 63% 800, B:13.300
[ NU0S3 | 288 500 300 458 300 | 60% 600
[ NU0s7 | 288 400 00 458 300 | 63% 600
[ NUo6T | 288 900 00 458 000 400, H1:12,300
[ NU063 | 288 900 900 458 000 £:11.400, F:12,300
[ NUO65 | 288 900 900 458 000 £:11.400, F:12,300
R (FFE) 3 |_NU0S0 | 288 900 00 458 000 £:11.400, H:12,300
[ NUos2 | 288 900 00 458 000 :11.400, H:12,300
[ NUos4 | 288 900 ,900 458 000 3
[ NU0s8 | 288 400 400, H:15.100 458 500
[ NU0G0 | 288 900 900, F:15.300 458 000 12,400
[ NUo62 | 288 500 458 300
HFE(PHE)=-Bd HECEE) %[ NU021 | 28H .900 458 ,000
EEsE | NU022 | 288 900 458 000
BR(F@E)=A%E [HEZIE)%| NUooi | 288 400 458 ,300 24,700, H:21.700
AkEF | NU0S | 288 200 458 100 20400
KR (E@)-GE | AWR(EIF) %[ NUoss | 288 500 458 400 | 54% | A:25.100, %:27.800, £:27,300
086 | 28 200 458 400 | 59% | +:23.100. H:25.200
037 | 288 000 458 500 | 51% |& T H:27900
036 | 288 000 458 500 | 51% |t H:27900
HE (PE) 28H 200 458 600 | _68%
285 200 458 600 | 66% 400, %:16,800. £:17,000
285 200 458 100 | 71%
285 200 458 100 | 71% |
EXICTIE 285 800 458 400 | 62% |
285 800 20800, H:21.800 | 458 6700 | 64% | XA
285 9,000 458 7.900 | 61% | K:14.200, 7K£:15900, A:14.700
285 8,500 458 7.900 00, 7K:15.900. 13,700, £:14,900
TE\L=h 4% (BB ER) 285 7,500 458 000
U016 | 288 7,500 : 458 000
) =B R 601 | 288 900 7 458 000
[ NU605 | 288 10.100 | 63% | kKA:9.800 458 800
[ NU607 | 288 800 | 64% 458 500
[ NU609 | 288 800 | 64% 458 500
[ NU6s17 | 288 600 | 65% £ 59,900 458 700
[ NUe21 | 288 700 000, £:7:800. H:10.000 458 000
625 | 286 600 458 700
HIERE | _NU600 | 28H 900 458 000
[ NUs0s | 288 900 458 000
610 | 288 000 458 400 [B:6 7,000
612 | 288 7,000 458 400 76% | 5:6.700, H:7,000
[ NUst4 | 288 900 458 000 67% | JKA:8700
[ NUs22 | 288 10,100 458 800 64% | KA:9,500
[ NU626 | 288 900 458 000 67% | KA:8,700
FE PG -ES | PeR (I 3| _NUs51 | 288 500 458 100 56% | kkA:8,800
[ NUs57 | 288 500 458 100 56% | kA:8,800
[ NUS59 | 288 500 458 100 56% | k8,800
[ NUS63 | 288 200 458 800
[ NUs65 | 288 500 458 000
567 | 286 500 458 000
571 | 288 500 : 458 000
573 | 288 500 : 458 000
AR 552 | 28H 500 ! 458 100
[ NUS56 | 288 500 B 458 100
[ NUs58 | 288 800 i 458 300
[ NUS60 | 288 800 i 458 300
[ NUs62 | 288 500 e 458 100
[ NUs64 | 288 500 e 458 100
566 | 28H 500 e 458 100
572 | 288 500 | 56% | kA 458 100
WOBH)=AKE | PEEBE R 211 | 288 400 E 458 1400
219 | 288 100 458 6,500
AKER U090 | 288 8,400 458 7.400
212 | 288 7.100 458 6,500
218 | 288 7.100 £ 458 6500 | 49% [#EH:7.100
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SRR (IRER) 28H a 15,000 17.500
EXACEE] 28 25.300 000_|
28 18,200
28 24,000
ik (RER) R 28 20,000
28 10,900
28 14,900
RECAB)=RE HECRE) # 28 42,200
RIEFR 28 42,300
1ERE=i0 4k (R HR) EEEES 28 22,500
28 23,200
28 22,500
28 20,000
28 20,000
28 22,500
R 28 18.800
28 20.500
28 21,900
28 23,000
28 000
28 .600
ER(AER)=-Ed W CRE) | 28 ,200
HEE 28 500
R (PE)-AXE [EmGEE 28 33.700
28 18.000
AR 28 36.300
3 28 33,600
M= (B ER) INEASE 28 29.400
Sl GRED) 5 28 29,400
BEE (PED)=H4E (BB B & 2 (hER) 28 25.900
28 25,900
28 19.400
28 26,100
EIETOES 28 200
28 ,.300
28 300
28 .300
L= 8 (B8R [EIES 28 800
S (RE) 5 28 32,700
ARABM-EE | AHRER R 28 200
28 ,.800
28 800
28 ,.800
28 200
286 100
286 900
AlEs 28H 200
286 200
28 000
286 7.000 X
28H 200 [ o
286 800 [
28H 200 9
B =B PR (BRER) 28H .400 X
28H 400 o
28H ,400 0.
28H 400 o
286 600 s [
28 600 [ s
286 600 [ s
28 600 [ s
EETd 286 400 s
28 400 [
286 600 [
28 600 [
286 400 [
28 400 [ s
286 400 [ s
28 400 s
SRR (RER)=AKE | MEGRE) R 28H .600 I
28 700 [
AKER 286 8.600
285 7.700
28H 7,700
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EEEES 28 19.000
28 9,000
28 22.900
ik (RER) R 28 20,300
28 .700
28 300
RECAB)=RE HECRE) # 28 .900
AESE 28 900
fRfE=;P 48 (IRFR) E RS 28 .400
28 100
28 1400
28 1400
28 1400
28 400
SRR GBRER) 5 28 .700
28 9,500
28 26.100
28 7.000
28 7.000
28 7.000
ER(AER)=-Ed ERCHE) | N 28 9,000
EER 28 63,500
HERCHR)=AXE [EmCHE % 28 400
28 700
KR (B#E) =18 28 .100
B 28 400
ERASEEETE ) INEREE 28 4,600
iR (ARER) ¢ 28 7.100
BEE (hE) =48 (BB R EE (PED) 28 4.400
28 4,400
28 7.000
28 900
SRR GBRER) 5 28 .500
u 28 700
28 .700
u 28 700
FELL=3548 (RER) FAWLFE 28 2,700
R () % | NU 28 39,700
SR (B =R1E SRR GIRER) 3 60 28 .200
605 | 28 800
607 | 28 500
609 | 28 500
617 | 28 .900
NU621 | 28H 100
NU625 | 28H 900
AER NU600 | 28H 10.300
NU608 | 28H 10.300
NU610 | 28H 10.300
NU612 | 28H 10.300
NU614 | 28H 10.300
NU622 | 28H 11.300
NU626 | 28H 10.300
B =B 4 (FRER) | _NUS51 | 28H .400
NU557 | 28H 400
NU559 | 28H 400
NU563 | 28H 400
NU565 | 28H 600
NU567 | 28H 300
NU571 | 28H 600
NU573 | 28H 600
RS NU552 | 28H 10.200
NU556 | 28H 10.200
NU558 | 28H 9.700
NU560 | 28H 9700
NU562 | 28H 10.200
NU564 | 28H 10.200
NU566 | 28H 10.200
NU572 | 28H 10.200
SRERCRER) =AKE | RHE(ERER) R _NU211 | 28R 8.400
NU219 | 28H 7.100

AXBF | _NU0SO | 28H 8.600 8.500

NU212 | 28H 8.600 8.000

NU218 | 28H 8,600 8,000
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Shil (GRER) 5
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.700

.900

wER
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.800

.500
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SRR (IRER) 28H =] 35,000 31.700
EXACEE] 28 24.200
28 8.600
28 21,600
RE) % 28 25.100
28 31,000
28 32,800
RECAB)=RE HECRE) # 28 40700
RIEFR 28 47,200
1ERE=i0 4k (R HR) EEEES 28 19.500
28 20,200
28 20.600
28 ,100
28 100
28 .500
PR (AR ER) 28 .000
28 ,200
28 4.800
28 25.800
28 25.800
28 25.800
ER(AER)=-Ed W CRE) | 28 44,600
EHR 28 47,300
R (PE)-AXE [EmGEE 28 36.600
28 38.000
AR 28 27.200
ki 28 37.400
ERASEEETE ) INENEE 28 30.500
Sl GRED) 5 28 35,500
BEE (PED)=H4E (BB B & 2 (hER) 28 .000
28 000
28 000
28 .300
PR (AR ER) 28 .700
28 39.800
28 38.800
28 38,800
FELL=3548 (RER) FALFE 28 29.600
S (RE) 5 28 38,900
SR (B =R1E PR (ADER) 28 9.900 [ ¢
28 10,200 | 9
28 0.200 [«
28 10.200 | 9
28 900 [«
286 700 [
286 900 [«
AlEs 28H 900 [«
286 900 [«
286 10,500 I
286 10.500 [
286 9,900 [«
286 10.200 [«
286 900 [«
B =B PR (BRER) 28H 800 X
286 800 [«
286 800 [«
286 500 [ o
286 900
286 900
286 900
286 900
BEER 28H 10300 [ o
286 10,300 [«
286 10.300 [«
286 10,300 [«
286 10.300 [«
286 10,300 [«
286 10.300 [«
286 10,300 o
SRR (RER)=AKE | MEGRE) R 28H 10.200 | ¢
286 8,400 8,400
AKER 286 10.300 10300 | 10.200
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= "2 =g g o TEW o
| BANAR #51% LEES
KO (BA)=;948 (BB%5) | ANk (BAZ) 3| _NUOOT | 28R AL 52% | H:15,600, %:16,400. 21,000, H:14.800 55% | H:15,500, %:15.100. £:19,200, H:13.800
|_NU005 280 69% 70%
| _NU009 288 64% |+ H:13,900 65% |+ H:13.800
P38 (FRER) 3 |_NU002 | 28R 64% |+ H:13,900 65% | T H:13,800
[_NUoo4 | 28 69% | 70% |
| _NU008 280 52% |#:15,900, 1:15.800, H:17,200 55% 4,000, 1:14,500, H:15.900
ERCHE)-RE | R CHE) %[ _NU0TI | 288 [ 63% |[+H26600 66%
07: 288 66% £:23,600, 1:25600, H:24,600 69% 600, 1:24,600
RIER 07( 280 63% 26,600 66% |t 600
076 | 28H 59% 29,100 62% |+ 100
RS |_NUO05 280 61% 12,900 64% 900
|_NU053 280 58% £ 12,400 61% 600
|_NU057 288 61% 900 64% 600
[_NUO061 280 63% 400 66% |t 400
|_NU063 280 63% 400 66% 400
| _NUO065 288 63% ,400 66% 400
R (IRER) 3¢ |_NU050 | 28H 63% 400 66% 400
[_NU052 288 63% ,400 66% 400
|_NUO054 288 63% 2,100, 1 H:12,400 66% 200, + H:11,400
|_NU058 288 61% 2,600, 1:12,900, H:13,600 64% £:11,900, H:12,600
|_NU060 288 60% 3,100, +:13,400, H:14,100 63% :12.40¢ 12,600
| _NUO062 288 61% 12,900 64% |1 11,600
HRCAE) =828 | Bmm(EE) %[ NU02i | 288 62% 25,600 65% | T H:23,700
= = | _NU022 288 62% C H:25,600 65% 23,700
KR (BT =R\ | ABR(BF)%| NUS3 | 288 57% 25,300, F:26,200 57% 600, % F:24,600
086 288 60% | H:23100, 1:23.200, H:24,700 63% 1,500, +:21,600, H:23,100
037 288 53% | &+ H:26.4 54% 0
036 288 53% 54%
HE (PE) 288 63% B 66% X 6,300
288 60% _F_B,DOD, %:18,300, +:19,000, H:17,900 64% 17,500, H:17,300
288 64% |7k A:15.200, %::16,300, +:16,800, H:15,900 70% ,700, #:14,400, +:15.100, H:14,900
288 64% A:15,200, %:21,600, +:16,800, H 70% 3,700, & 21,100, +:15.100, H:14,900
SR (IPE) R 28H 64% | F:16.300, K:15.200, %:16,000, H:17.000 66% +:14,400, H:16,000
288 60% |7k A:16.200, %:17,000, +:16,800, H:17,800 64% 1:15.400, H:16,500
288 60% 5,300, 7k +:16,300, A:15,800, H:18,500 63% ,900, A:14,700, H:17,500
288 61% +:15.800, A:15,300, H:18,000 65% 4,900, A:13,700, H:16,500
L= #E (IR ER) 28H 45% +:28,000 51% 7,500
Uot6 | 288 45% | H:27,500, H:28,000 51% 7,500
(8 =R E 601 | 2880 67% | X7K:8.300, £:8,100 71%
|_NU605 288 64% | 47K:9.100, &:8,900 68%
|_NU607 288 66% | XK:9.100 69%
|_NU609 288 66% | XK:9.100 69%
| _NU617 288 67% A:8,100, X JK:8,300 1%
| _NU621 288 70% |[KJK:8000 73%
625 288 69% |J ,300, H:8,400 2%
RIER 600 288 67% |J 1%
[_NUG0s | 28 67% |2 71% | A:7,100
610 288 73% 75% H:6.700, XJK:7,000
612 288 73% 75% | A H:6,700, A 7K:7,000
| _NU614 288 67% 1%
| _NU622 288 64% 68%
| NU626 288 67%
SR () =EH P48 (IRER) 3| _NUSS1 | 288 58%
[ NUS57 | 281 58%
[ NUS59 | 281 58%
| _NU563 288 60% 62%
|_NU565 288 63% 68%
567 288 63% 68%
571 288 63% 68%
573 288 63% 68%
EEHRE 552 288 58% 61% NIKA:7.400
|_NU556 288 58% 61% Y 7,400
| _NU558 288 62% 66% Y <:6,300
|_NU560 288 62% 66% Y <:6,300
| _NU562 288 58% Y 7,400
| _NU564 288 58% Y 7,400
566 288 58% Y 7,400
572 288 58% | € P, 7,400
BB -AKE | PEGIE) % 211 | 288 37% 45687 | 7,300 0% 7,600
AkES 212 | 288 55% 45887 | 5200 57% 5,800

JTA



A=K - A=
[/ EI5 :BEXR(9A23~30AEED)
EREAR 2019/09/05 ~
9/23-30
K351 A %133178B
o & 8 T o [2E W TET W
| BANAR #51% LEES
KRR (BI7E) =348 (BBFR) | KBk (R978) H|_NU0O1 B 52% | H:15.600, % H:16,400, £:21,000 55% | H:15.500, %:15.100, £:19.200, H:15.300
005 7% 78%
: 009 288 64% |A#£:13,100, & H:13,900 65% | H%£:12,900, 1 H:13,300
e (FRER) % [_NUo02 | 288 64% [B%:12.800, £ H:13.700 65% |H%:12.700, + H:13.100
[ Nuoo4 | 28H 69% [ A X:9.200 70% A 00
| _NU008 280 52% _j 2:15,900, +:15.800, H:18,700 55% | 3%:14,000, 1:14,500, H:17.400
HR(PE)=FE RR(HE) % 07 288 63% |+ H:26.600 66%
07: 288 66% | £:23,600, 1:25,600, H:24,600 69% 600, 1:24,600
RIER 07( 280 63% L 26,600 66% |t 600
076 | 28H 59% L 29,100 62% |t 100
RS |_NUO05 28H 63% [7KA:11,900, 1 H:12,400 66% |7} 000, 1 H:11,400
|_NU053 280 58% 100, #:12,400 64% |7} 200, +H:12,100
|_NU057 288 63% |7} 900, 1 H:12,400 66% 000, 1 H:11,400
[_NUO061 280 63% |+ 66% |t 400
|_NU063 280 63% 66% 400
| _NUO065 288 63% 66% 400
bR (APER) F|_NU0S0 | 28H 63% 66% 400
[ Nuos2 | 28H 63% [+ H:12400 _ 66% 11,400
|_NUO054 288 63% | & 0, + H:12,400 66% 0. + H:11,400
|_NU058 288 61% 2,900, H:13,600 64% .700, 1:11,900, H:12,600
|_NU060 288 60% 2,100, £:12,700, +:13,000, B:13,700 63% k11,200, %:11,800, +:12,000, H:12,600
| _NUO062 288 63% | X:11,700, 7K_ﬂ:.1 1,900, + H:12,400 66% | 10,800, 7K A:11,000, + H:11,400
HE(PHE)=-Ed | EZEIE) K| NU021 | 288 63% |+ H:24.900 66% 23,000
“ﬁg | _NU022 288 63% - H:24,900 66%
KR (BF)=-R1E | ABR(BIF) %[ NUos3 | 288 57% 25,300, 1:26,200, H:26.100 57% 25,600
086 288 60% | H:23100, 1:23.200, H:24,700 63% 1,500, +:21,600, H:23,100
037 288 53% [% 26,400 54% H:25,900
036 288 53% [% 26,400 54%
HE (PE) 28H 61% |7} 6,200, £:17,300, +:17,500, H:17,800 66% K:15,20¢ £:16,200, 1:16,000, H:15.800
288 59% [JKA:17,200, %:18,300, +:18,500, H:18,800 64% ., K:16,200, £:17.200, 1:17,000, H:16.800
288 64% 5,400, 7k A:15,200, %:16,300, +:16.400 70% K:13,700. £:14,400, 1:15.100, H:14,900
288 64% 7K A:15,200, %:21,600, +:16.400 70% 0, £ 5,100, H:14.900
EXICTES 288 62% 5,200, A% 1:15,800 66% 400, A:13,700, H:16.000
288 60% |7k A:16,200, %:16,300, +:16.800 64% 400, A:14,700, 1:16,000
288 61% 0, 7k:16.300, 7:15,800, +:16,900, H:17,700 63% ,900, A:14,700, 1:16,500
288 62% 17,200 65% 900, A:13,700, H:16,500
FEL=;h 48 (&) 288 45% 51% 7,500
U016 288 45% 228,000 51% 7,500
SR (R ER)=FE 60 288 67% | AJh 71%
|_NU605 288 64% | A 68%
|_NU607 288 66% 69%
|_NU609 288 66% 69%
| _NU617 288 69% |&+ H:8400 72% &+ H:7.400
[ Nu62i | 28H 70% | 73%
625 288 69% | H:8,400 72% | H:7,400
RiEHE 600 288 67% | AIKA:8,100 1% [ KIKAK:7.100
| _NU608 288 67% | KIKA:8,100 1% XIKA:7,100
610 288 73% | A B:7.200 5% A ,700
612 288 73% | A B:7.200 5% A ,700
| _NU614 288 67% | KIKA:8,100 1% NIKA:7,100
| _NU622 288 64% | Y :8.900 68% XIKA:7.900
| NU626 288 67% |Y 28,100 XIKA:7,100
SR () =EH P48 (IRER) 3| _NUSS1 | 288 58% |/ .900 KIKA:7.400
[_NU557 288 58% | J ,900 XIKA:7.400
| _NU559 288 58% | J ,900 P, 7,400
| _NU563 288 60% 62% 700
| NU565 | 28H 63% 68% | A& H:6.600
567 288 63% 68% | H:6,600
571 288 63% 68% 6,600
573 288 63% 68% 6,600
EEHRE 552 288 58% 61% NIKA:7.400
|_NU556 288 58% 61% Y 7,400
| _NU558 288 62% 66% Y <:6,300
|_NU560 288 62% 66% Y <:6,300
| _NU562 288 58% Y 7,400
| _NU564 288 58% Y 7,400
566 288 58% Y 7,400
572 288 58% | € P, 7,400
ROPE)=AKE [hEGB) R 211 | 288 37% 45881 | 7300 0% 7,600
AKER 212 | 288 55% 4581 | 5200 57% 5,800

JTA



A=K - 4=
M5/2E5 BER(10A1~8BEED)
EREAR 2019/09/05 ~
10/1-8
K351 A %133178B
= "2 =g g o TEW o
| BANAR #51% LEES
KO (BA)=;948 (BB%5) | ANk (BAZ) 3| _NUOOT | 28R AL 52% | H:15,600, %:16,400. 21,000, H:14.800 55% | H:15,500, %:15.100. £:19,200, H:13.800
|_NU005 280 7% 78%
| _NU009 288 64% |+ H:13,900 65% |+ H:13.800
P38 (FRER) 3 |_NU002 | 28R 64% |+ H:13,900 65% | T H:13,800
[_NUoo4 | 28 76% | 76% |
| _NU008 280 52% |#:15,900, 1:15.800, H:23.800 55% 4,000, 1:14,500, H:22,700
ERCHE)-RE | R CHE) %[ _NU0TI | 288 [ 63% |[+H26600 66%
07: 288 66% £:23,600, 1:25600, H:24,600 69% 600, 1:24,600
RIER 07( 280 63% 26,600 66% |t 600
076 | 28H 59% 29,100 62% |+ 100
RS |_NUO05 280 63% 12,400 66% 400
|_NU053 280 61% £:12,400, 1 8:13,100 64% 100
|_NU057 288 63% 00 66% 400
[_NUO061 280 63% |+ 400 66% |t 400
|_NU063 280 63% 400 66% 400
| _NUO065 288 63% ,400 66% 400
R (IRER) 3¢ |_NU050 | 28H 63% 400 66% 400
[_NU052 288 63% |+ ,400 66%
|_NUO054 288 63% _12_ 2,100, 1 H:12,400 66%
|_NU058 288 61% |#£:12,600, 1:12,900, H:13,600 64% .700, 1:11,900, H:12,600
|_NU060 288 61% _12_ 2,800, 1:13,200, H:13,900 64% . 1+:12,200, H:12,600
| _NUO062 288 62% |1+ H:12,700 65% 11,600
HRCAE) =828 | Bmm(EE) %[ NU02i | 288 63% 66% | T H:23,000
= = | _NU022 288 63% 66% 23,000
KR (BT =R\ | ABR(BF)%| NUS3 | 288 57% 57% 600, % T:24.600
086 288 60% |+ H:23,200 63% | 1,600
037 288 53% |& 1 H:26,400 54% |+ H:25900
036 288 53% 54% 25,900
HE (PE) 288 63% 66% 4,700, 1:16,00¢ 15,800
288 60% 8,200, £:18,300, 1:19,200, B:18, 64% 5,700, 1:17,000, H:16,800
288 65% 6,000, £:16,300, +:17,100, B:16, 70% 0, %::14.400, 1:15.100, H:14,900
288 65% 6,000, £:19,900, +:17,100, H:16,100 70% i:1 £:19.400, 1:15.100, H:14,900
ShEE(IRE) R 288 64% 16,300, 7K:15,400 66% 13,700, 7K 1:14,400, H:16.000
288 60% |k +:16.800, 7K:16,400, A:16,200, %:16,300 64% 14,700, 7K +:15,400, H:16,000
288 61% 5,300, 7k +:16,900, A:15,800, H:17.700 63% 200, 7k +:15,900, 7:14,700, H:16,500
288 62% 4,800, 7k +:16,400, A:15,300, H:17.200 65% 7k £:14,900, £:13,700, H:16,500
EET e ) 28H 45% 51% | £:27.000, +:27.500
U016 288 45% 7,500, H:28,000 51% 000, H:27,500
(8 =R E 601 | 2880 67% | X7KA8.100 T1% | JOKA:7.100
|_NU605 288 64% | KIKA:8,900 68% | KIKA:7.900
|_NU607 288 66% 69%
|_NU609 288 66% 69%
| _NU617 288 69% |&+ H:8400 72% &+ H:7.400
[ NU621 | 28 0% | 73%
625 288 69% | H:8,400 72% | H:7,400
RiEHE 600 288 67% | AIKA:8,100 1% [ KIKAK:7.100
| _NU608 288 67% | KIKA:8,100 1% XIKA:7,100
610 288 73% | A B:7.200 5% A ,700
612 288 73% | A B:7.200 5% A ,700
| _NU614 288 67% | KIKA:8,100 1% NIKA:7,100
| _NU622 288 64% | Y :8.900 68% XIKA:7.900
| NU626 288 67% |Y 28,100 XIKA:7,100
SR () =EH P48 (IRER) 3| _NUSS1 | 288 58% |/ .900 KIKA:7.400
[_NU557 288 58% | J ,900 XIKA:7.400
| _NU559 288 58% | J ,900 P, 7,400
| _NU563 288 60% 62% 700
|_NU565 288 63% 68% | H:6,600
567 288 63% 68% | H:6,600
571 288 63% 68% 6,600
573 288 63% 68% 6,600
EEHRE 552 288 58% 61% NIKA:7.400
|_NU556 288 58% 61% Y 7,400
| _NU558 288 62% 66% Y <:6,300
|_NU560 288 62% 66% Y <:6,300
| _NU562 288 58% Y 7,400
| _NU564 288 58% Y 7,400
566 288 58% Y 7,400
572 288 58% | € P, 7,400
WOH=-AKXE | h#EGRE) R 211 | 288 37% 45687 | 7,300 0% 7,600
AkES 212 | 288 55% 45887 | 5200 57% 5,800

JTA



T%BE5 5EEXR(10A9~16BIERS)

EEHEAR 2019/09/05 ~

70/9-16
£/ITA %£#85478
e il TE o 7 TEH o
| BEARIR LEIES BEARAR LIRS
KR (BIE8) =348 (FR%) | ABR (BF) % | _NUOOT | 28EAT 52% | /15600, %6400, £:21000, H:14,800 45E B 55% | B:15.500. %:15.100, £:19.200. H:13,800
[NU005 | 288 7% 458 78%
[ NU00S | 288 64% | T H:13,900 455 65% | T H:13.800
% (BFR) 5[ _NU002 | 288 6d% 13900 458 65% |+ H:13.800
[NU004 | 288 76% 458
[ NU008 | 288 52% 5900 £:15,800. 5:23,800 458 4,000 :14,500, H:22,700
HRCAE)-RE | Bum CHE) R| _NU0TI | 288 63% 26,600 458 4,600
073 | 288 66% | %:23,600. 25600, H:24,600 455 2,600, £:24,600
BER 070 | 288 63% 6,600 458 4,600
076 | 288 50% |+ H:20,100 458 1:27.100
@E%x | _NUosi | 28| 6% 11,400,  H:12,400 458 500, £ F1:11,400
[ NU053 | 288 58% 12,100 458 61% 1200 £ F:12.100
[NU0s7 | 288 6% 11,400, £ E:12.400 455 64% | 510,500, £ H:11400
[NUo6T | 288 63% |1 H:12,400 458 400
[ NU063 | 288 63% 458 400
[ NUO65 | 288 63% 455 400
4R (FBE) 5% |_NU0S0 | 288 63% 455 400
[NUos2 | 288 63% 455 .400
[ NUos4 | 288 63% 458
[ NU0s8 | 288 6% 458
[NU0G0 | 288 60% 10 ﬁwamo 13,200, 513,900 458
[ NUo62 | 288 61% [H:11,700. 812,700 455 0,800, + B:11.600
BR(PHE) =2 [ EmEIE) %] NU2i | 288 62% 25,600 458 123700
Eds | NU022 | 288 62% 25,600 455 23,700
KB (B -BE | AR 083 | 288 57% | 225,300, 126,200 455 600, & 124,600
086 | 288 60% |+ H:23,200 458
[ NU037 | 288 53% | %+ H:26,400 458
[ NU036 | 288 53% 458
EE (PER) 280 63% 458 , 5,800
288 60% 455 5.700, 17,000, 16,800
288 65% X 455 0. %:14.400, £:15.100, H:14,900
285 65% 9900, £:17.100, B:16.100 455 %:19.400, £:15,100. H:14900
ErC k] 285 6d% weaoo 7K:15,400 455 13,700, JK£:14.400. B:16,000
288 60% | k+:16,800, 7K:16,400, 7:16.200, %:16,300 455 14,700, 7Kk %:15.400. B:16,000
285 6% 5,300, 7K +:16.900, 15,800, H:17.700 455 200, 7K £:15,900, A:14,700. H:16,500
285 62% 4,800, 7K £:16.400, 15,300, H:17.200 455 KE:14.900, A:13.700, B:16,500
[EIMEET e ) BIL%E 28H 45% 455 000, +:27,500
Uot6 | 288 5% 7,500, H:28,000 455 000, H:27.500
ARE-RE 601 | 288 67% | k7KAB.100 458 71% | KKA1.100
[_NU605 | 281 64% | kKA 8900 458 68% | KKA:7,900
[ NU607 | 288 66% 455 69%
[ NU609 | 288 66% 455 69%
[ NUG17 | 28 69% |& T B:8400 458 72% | T 07,400
[ NUe21 | 288 0% | 455 73%
625 | 288 69% | 8400 455 72% | H:7.400
RER 600 | 288 67% | kKAB100 458 71% | KKA:7.100
[_NUG0s | 28 67% | JkA8,100 45H 7% | KKA:7,100
610 | 288 73% | A B:7.200 455 75% |/ H:6.700
612 | 288 73% | A H:7.200 455 75% |/ H:6.700
[ NUsi4 | 288 67% |4 458 71% | KOKA:1.100
[ NUs22 | 288 [P, 458 68% | KA:7.900
[ NU626 | 288 67% |4 458 HIKA:7,100
P (R =EE 4R (APER) F|_NUSS1 | 288 58% |/ 458 XKIKA:7.400
[ NUs57 | 288 58% |2 458 JIKA:7,400
[ NUs59 | 288 58% |2 455 JIKA:7,400
[ NUs63 | 288 60% 455 62% 700
[ NUs65 | 288 63% 455 68% | A% 06,600
567 | 288 63% 455 68% | H:6,600
571 | 288 63% 455 68% 6,600
573 | 288 63% 455 68% 6,600
AR 552 | 288 58% 458 61% | AOKA:7.400
[ NUs56 | 288 58% 458 61% | KKA:7.400
[ NUs58 | 288 62 458 66% | kKA:6,300
[ NUS60 | 288 62 458 66% | KA:6.300
[ NUs62 | 288 58% 455 JIKA:7,400
[ NUs64 | 288 58% 455 JIKA:7,400
566 | 288 58% 455 JIKA:7,400
572 | 288 58% 455 e JIKA:7,400
WO -AKS | rsGRE)%| NU211 | 286 37% 455 0% 7,600
AKER 212 | 288 5% 5B | 6200 57% 5,800




[£5825| BEXR(10817~24BEESH)

SEEWEMAA ;- 2019/09/05 ~
T0/17-24
£/ITA %£#85478
=] L TE e O T ggm | B0 %
| BEARIR LEIES BEARAR LIRS
KR (BIE8) =348 (FR%) | ABR (BF) % | _NUOOT | 28EAT 52% | /15600, %6400, £:21000, H:14,800 45881 | 17200 | 55% |H:15500, £:15.100, £:19.00. H:13,800
[_NU005 | 28 7% 45871 | 8500 78%
[ NU00Y | 28 6% 13,900 458 65% |+ H:13,800
% (BFR) 5[ _NU002 | 288 64% |+ H:13,900 458 65% |+ H:13,800
[_NUoo4 | 28 76% | % H:12,000 458 76% |
| NU0os | 28 52% |%:15,900, 15800, H:23800 458 55% 4,000, 1:14,500, B:22,700
HR(PE)=FE BER(FE) R 07 288 63% 26,600 458 66%
073 | 288 66% | %:23,600, T 25600, H:24,600 458 69% 600, 24,600
BER 070 | 288 63% 26,600 458 66% |+ H:24.600
076 | 288 5% 29,100 458 62% |+ H:27.100
@E%x | _NUosi | 28| 6% 12,900 458 64% 900
[ NU053 | 281 58% 4,200 458 61% 600
[ _NUO57 | 28 61% 900 458 64% 600
[ _NUO61 | 28 63% |+ H:12,400 458 66% |+ H:11,400
[ _NU063 | 281 63% 400 458 66% 400
| NUO65 | 28 63% 400 458 66% 400
8 (AVER) 5 |_NU0S0 | 288 63% 400 458 66% 400
[_NUO52 | 281 63% |+ H:12,400 458 66% 400
[ NUO54 | 281 63% _[%:12,100. T H:12,400 458 66% 200, T B:11,400
[ _NU058 | 281 61% | 212,600, +:12.900, H:13,600 458 64% £:11,900, B:12.600
[_NU060 | 281 60% | %:13,100, $:13,400, H:14,100 458 63% +:12.400, B:12.600
[ NUO62 | 28 61% 12,900 458 64% 11,600
BR(PHE) =2 [ EmEIE) %] NU2i | 288 62% 25,600 458 65% |+ H:23.700
Efh% | NU022 | 288 62% 25,600 458 65% 23,700
KR (BT =R\ | ABR(BF)%| NUS3 | 288 57% |%:25300, 26200 458 57% 600, % T:24.600
086 | 288 60% |+ H:23,200 458 63% |+ H:21,600
037 | 288 53% | %+ H:26,400 458 54% | %+ H:25900
036 | 288 53% 458 54% 25900
HE () 28H 63% 458 66% 4,700, £:16,000, H:15,800
288 60% 8,200, £:18,300, +:19,200. H:18,100 458 64% 5700, +:17.000, B:16,800
288 62% KA:15,200 +:17,100, B:16,100 458 70% 0. 214,200, %:14.400, F:16,000. H:14,900
288 65% 6,001 6,300, £:19.900, +:17.100, H:16,100 458 70% | A k14,200, %:19.400, F:16,000, H:14,900
R (I ER) 3 288 6% 16,300, 7K:15.400 458 66% 13700, 7K+:14.400. B:16,000
288 60% | k+:16,800, 7K:16,400, 7:16.200, %:16,300 458 64% 14,700, 7K %:15.400. B:16,000
288 61% 5,300, 7K+:16.900, :15,800, H:17,700 458 63% 200, 7K+:15.900, :14,700, H:17,500
288 62% 4,800, 7K +:16.400, :15,300, H:17,200 458 65% k£:14,900, A:13.700, B:16,500
[EIMEET e ) 28H 45% 458 51% |%:27,000, +:27.500
Uot6 | 288 5% 7,500, B:28,000 458 51% 000, B:27,500
ARE-RE 601 | 288 67% | k7KAB.100 458 71% | KKA1.100
[_NU605 | 281 64% | kKA 8900 458 68% | KKA:7,900
[_NUG07 | 28 66% 458 69%
[_NUG09 | 281 66% 458 69%
[ NUG17 | 28 69% |& T B:8400 458 72% | T 07,400
[ NU621 | 28 0% | 458 73%
625 | 2881 69% | 58400 458 72% | B:7,400
BES 600 | 288 67% | kKAB100 458 71% | KKAT,100
[_NUG0s | 28 67% | k7KA8.100 458 7% | KKA:7,100
610 | 288 73% | A B:7.200 458 75% |/ H:6.700
612 | 288 73% | A H:7.200 458 75% |/ H:6.700
[ NUG14 | 28H 67% | k7KAB.100 458 71% | KOKA:1.100
[ NU622 | 28H 64% | K7KA:8.900 458 68% | KA:7.900
[ NU626 | 28F 67% | K7KA8.100 458 HIKA:7,100
HROE) =B | /P# (I0E) 5 | _NUS5T | 288 58% | 900 458 JIKA:7,400
[ NUS57 | 281 58% | 900 458 JIKA:7,400
[ NUS59 | 281 58% | 900 458 JIKA:7,400
[ _NUS63 | 281 60% 458 62% 700
[_NUS65 | 281 63% 458 68% | A% 06,600
567 | 288 63% 458 68% | B:6,600
571 | 288 63% 458 68% 6,600
573 | 288 63% 458 68% 6,600
a5 552 | 288 58% 458 61% | AOKA:7.400
[_NUS56 | 281 58% 458 61% | KKA:7.400
[_NUS58 | 281 62% 458 66% | kKA:6,300
[_NUS60 | 281 62% 458 66% | KA:6.300
[_NUS62 | 281 58% 458 JIKA:7,400
[ _NUS64 | 281 58% 458 JIKA:7,400
566 | 28H 58% 458 JIKA:7,400
572 | 288 58% 458 e JIKA:7,400
WO -AKS | rsGRE)%| NU211 | 286 37% 45878 | 7300 0% 7,600
AKEI 212 | 288 55% 4587 | 5200 57% 5,800

JTA



MEB8E5| 1 BER(9A18~21 BEES)

SEEEA R 2019/09/05 ~
RPN R 9/18 9/19 9/20 9/21
- &% i::: A i::: B [T A BT 0| ZEITA] &BH7| HBETA| KB D] KBITA] RAEITE

AR | BAE EEE | RS | @EH | ERE | @85 | #5858 | @85 | #5858

ENAGTIES 28H [F] 7.200 5,100 100 17500 15.300

28 600 | 11.600 100 14.200 8.900

28 600 700 400 17.600 300
b (BRER) | _NU002 | 28 .200
28 300
28 200
RR(CRE)=R1E HR(PE)F 28 ,200
28 31,700
hiER 28 29.400
28 500
1RRE=i0 48 (RE) EEEES 28 .400
28 400
28 1400
28 500
28 500
28 .000
RE) £ 28 .400
28 1400
28 100
28 .900
28 500
28 500
RRECAR)=8H 28 25,500
28 23.500
KR (BFE) =R 28 26.600
28 25.400
MR=3EE GIRER) 28 26.400
S (IR ER) 28 26.400
BEE (P =048 (BB & B (hER) u 28 ,700
28 .700
u 28 300
28 800
TR () 5 [_NU 28 .000
28 20.800
u 28 20,700
28 20.700
FEIL=3#8 GIRER) Fi LI 5 uot 28 27.500
S (IR ER) % 1 28 21,000
W ORH) =H1E FP#B(FRER) [ _NUGOT | 28 .400
605 | 28 .200
607 | 28 900
609 | 28 .900
617 | 28 400
NU621 | 28 .200
NU625 | 28H 100
AER NU600 | 28H 400
NU608 | 28H 400
NU610 | 28H 7.000
NU612 | 28H 7.000
NU614 | 28H 400
NU622 | 28H 200
NU626 | 28H .400
() =B FR4B(FRER) [ NUSS1 | 28H .200
NU557 | 28H .200
NU559 | 28H 200
NU563 | 28H .200
NU565 | 28H 500
NU567 | 28H 7.500
NU571 | 28H 7500
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L= (FRE) LU 5 6.000 | 58% 5.500. +:26.000
PR (ARER) 5 6.000 58% :25,500, H:26,000
SR () =R1E SRR CBRER) ¢ [ ! 6.800 74 KIKK:6.500
7.600 1% £ 1 H:7.900
7.600 71
7.600 1%
500 75% | % T H:6.800
100 76%
500 75 :6.800
AlEs 800 74% | KIKA:6.500
.800 74% | JIKA:6.500
.900 7% 200
5.900 77% | H8:6.200
6.800 74% | KIKA:6.500
7.900 69% | JIKA:7.600
6.800 4% | k7KA:6.500
B =B PR (BRER) 7.200 3% | JIKA:6.900
7.200 JIKA
7.200 kA
6.900
5.800
5.800
5.800
5.800
BER 7.200
200
100
100
7.200
7.200
7.200
7.200
PGB =AKE [ bl GRED 5 6.300
AKESE 4.800
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Z2—"—%%

ERE
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EEIES
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KR (RAEE) =ik (FRHR)

KB (BE) %

14.900

,000

£:12.900, 1:19.700, H:18.000

.500

£:11.500, B:12.500

ik (RER) R

.500

000

.800

4.900

. H:21,100

RECAB)=RE

RRECRE)#

9.900

7.900

H:22,700

RER

9.900

2,400

[EERLETEE)

[EEES

9.800

10.800

PR (AR ER)

10.300

H:12.300

700, .300

RRECABR)=Bd

B CRIE) %

21100

HEHR

21,100

Az (B#E)=R1E

KB (BATE)

7.000, H:17.500

HiE%

9.300, H:19.700

IMR=EE GIRER)

BEE (PED) =048 ()| B & 2 (hER)

NS

Shi (RE)

22,200

PR (AR ER)

(K9, 800,

¢ K:14,400. 7K:13.900, £:13.400. H:15.200

7K:12.600, A:13.100, H:15.100
L7K:12,100, K:12,600, H:14.600

P&l LL=3#8 IR E)

i LI 5

6.000

Shil (RER) 5

6.000

() =R 1E

PR CRE) 5 | !

6.800

25,500, 1:26.000

:25,500, H:26.000

KIKK:6.500

7.600

&1 H:7.900

7.600

7.600

.500

%1 H:6.800

.100

H:6.300

.500

:6.800

w"ER

.800

K IKA:6.500

.800

KK A:6.500

.900

.200

5.900

;] .200

6.800

K:6.500

7.900

K:7.600

6.800

HORE =25

HHR )

7.200

K:6.900

7.200

7.200

#
i

K IKA:6.500
i
#
Vi

6.900

5.800

5.800

5.800

5.800

7.200

200

.100

100

7200

7.200

7.200

7.200

R GIRER) =A KB

Shi (FBER) 5

6.300

AKES

4.800
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A%

ERE

B
EEIES

%5

KR (RAEE) =ik (FRHR)

KB (BE) %

14.900

,000

£:12.900, 1:19.700, H:18.000

.500

£:11.500, B:12.500

ik (RER) R

.500

000

:9.000, H:12.800

4.900

£:17.300, H:21.100

RECAB)=RE

RRECRE)#

9.900

.900, H:22.700

7.900

900, £:21,900, H:20,700

RER

9.900

.900, H:22.700

2,400

[EERLETEE)

[EEES

9.800

4,400, H:25.200
:11.600

10.800

,100

.300

.000

.000

.000

PR (AR ER)

.000

.000

.300

,200

10.300

.200. H:12.300

700, .300

RRECABR)=Bd

B CRIE) %

21100

HEHR

21,100

Az (B#E)=R1E

KB (BATE)

7.000, H:17.500

GiER

9.300, H:19.700

IMR=EE GIRER)
BEE (PED) =hHE (R ER)

NS

Shi (RE)

EEE (PED)

22,200

PR (AR ER)

H:14.30

12,600, A:13.100, H:15.100

:12,700. 7k:13.900. #:14.200, +:13.400. H:13.700

12,100, A&:12,600, H:14.600

P&l LL=3#8 IR E)

i LI 5

6.000

Shil (RER) 5

6.000

() =R 1E

PR CRE) 5 | !

6.800

25.500, 1:26.000

:25,500, H:26.000

KIKK:6.500

7.600

&1 H:7.900

7.600

7.600

.500

.100

.500

w"ER

.800

.800

.900

5.900

6.800

7.900

6.800

HORE =25

HHR )

7.200

7.200

7.200

6.900

5.800

5.800

5.800

5.800

7.200

200

.100

100

7200

7.200

7.200

7.200

R GIRER) =A KB

Shi (FBER) 5

6.300

AKES

4.800
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EREEAA : 2019/09/05 ~
7/1-14
X A—N—%F
= anm M
ksl LTS %
KR (R7E) =04 (FR¥R) | KBR () % 100 | 56% |%:19.300. £:20.300. H:18,000
8.000 80% 000
2200 | 70% 13.200
RE) % 12,200 70% 13.200
8.000 80% X:9.000. H:12.800
18,100 7.200, +:17.800, H:23.100
R (FE)=-HE R (AE) 5 20.700 | 70% .000. H:22.700
18,700 7 20,700, 1£:24.000
BER 20.700 | 70% 22.700
23,700 66% 25,700
[EERLETEE) [EEES 500 68% .500
.700 65% ,.800
500 | 68% 500
,000 70% .000
.000 | 70% 000
,000 70% .000
PR (AR ER) .000 70% .000
,000 70% .000
.000 | 70% 0700, £ H:11.000
.500 68% 2:11.200, +:11,500, H:12,200
000 | 67% |%:11.700. £:12.000, B:12.700
.500 68% 11,500
R (FE)-EH B CRIE) 20.000 | 69% 21,900
EoR 20.000 69% | 21,900
KR (@) =RHE KR (BA7E) % 17500 | 69%
AESE 18500 | 67% £ H:20,000
M= (FRE) AT 20.700 | 57% |4+ H:28.800
PR (IRER) 5 20.700 57% e+ H:28.800
A EE (FER) =4 (B 8)|& & B (F35) 000 | 69% |£:14.600. £:15.100
.000 67% 2:15.600, 1:16.100
600 | 68% | k7KA:14.000. %:15.100
600 68% A IKAK:14.000. £:22,200
A IR % 600 | 68% 15,100, 7K:14.000
.700 68% :15.200, 7K:14.200, H:15,600
600 | 66% |X:14.100. KE:15.100, A:14.600. H:16.100
.100 +:14.600. K:14.100. H:15.600
FELL=3548 (RER) FALFE 3,500
i (BRER) % 23,500
SR () =R1E SRR CBRER) ¢ [ ! 7.200
8.100
8.100
7.800
.900
100
.900
RAER .200
7.200
100
100
200
100
200
HEGRE)=EE PR (BRER) 7.800
7.800
7.800
7.500
7.200
7.200
7.200
7.200
BER 7.800
7.800
7.500
7.500
7.800
7.800
7.800
800
PGB =AKE [ bl GRED 5 .300
AKESE .800

JTA
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EREEAA : 2019/09/05 ~
7/15-21
=40} = A—N—%F
EEE B51% &
S (IR ER) % 10700 [ 78% :14.900
KBR (BEE) % | 1 19.800 | 51% [/KZA:18.100. #:21,000. £:22.100. H:19.700
8.400 79% | JkK:8.000. £:9.000
13.200 | 68% [/KA:12.200
PR GRE) % | ! 13200 | 68% |7KA:12.200
9.000 78% | 7kK:8.000, £ 8,400, H:12.500
19.800 | 51% [/KA:18.100. %:18.900, £:19.500, H:24.400
WRCRR) =R\ HR(PE) 20.700 70%
24100 | 65% |/KA:18.700, $:27.200. T H:26.200
hiER 20700 | 70%
26,600 .700. 1:28.700, H:40.200
1BRE=h 4% (BRER) [EEES 900 500, + H:12.900
.000 .00
,000 500
600 | 65 000, £ H:12,000
600 | 65% ,000
600 | 65% .000
) R .600 65% 000
600 | 65% .000
,000 4% K:10,000
100 4 112,800, £ H:13.000
,000 1% K:11.000
000 4
RRECAR)=8H EFACRTENES 23,300 4%
EHER 23.300 4
RRECPAE)=AXRE ESACCTENES 20.300 63% 21,100, H:19.400
AKBH 13.700 [ 75% :17.900
KR (BFE) =R KB (BA7E) 5 30.800 46% |7} 7.500, %:28,200. 1:31.100
HIEH 21400 | 62% 00, 7KA:18.500. £:23.100, H:24.600
MR=3EE GIRER) NN 20.700 57% 5:28.800
S (IR ER) % 20700 | 57% 3:28.800
BEE (PED) =ik () |2 E (PED) 800 68% :14,600. 1:15.300, H:14.200
800 | 66% £:16.300, B:15.200
000 | 69% :15,100, +:15.300. H:14.600
000 [ 69% 5.300. H:14.600
ik (RER) R .600 68% :15.300
500 | 64% |/
600 | 66% [:X:14.100, 7K +:15.100, A:14.600, H:16.100
100 [ 67% [k 4,600, A:14.100, H:15.600
FEIL=3#8 GIRER) Fi LI 5 .800 32% |7} 35,100
S (IR ER) % 7.800 | 32% :23.500, H:35.100
W RH) =H1E RGB! 7.500 .900
.200 800
200 17,800, :8.100
.200 k:7.900, 7K %:7.800
500 K:6.900
7.200
7.200
RIEF 7.500
500
100
100
7.500
8.200
7.500
() =B G IE RS .200
.200
200
7.900
7.800
7.500
7.800
7.800
S .200
.200
800
7.800
200 (7,900, /KA:7.500
.200 (7,900, /KA:7.500
200 K:7.500
.200 K.7.500
iR (R =AKE G IE TS .900 J 7K:6.300
5,900
AkBHE 6.500 49% H:6.900
6500 49% | F 5,900, K K:5,800
5.900 54% 1 H:6.500
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7/27-31
=40) A%
maa |50 s
EIEIES
S (IR ER) % 10700 | 78% [A£:11.000
PNAGCGEEIE 26.400 35% | A:19.800, X:21.100, £:21,000
9.000 78% | A X:8.400
13200 | 68%
PR GRER) 5 | ! 13.200 68%
9.000 78%
26400 | 35% |H:19.800, X:22.200. %:18.900
WRCRR) =R\ HR(HE) % 24,100 6! 7K A:26.900, %:29,900
HER 26,600 7K:29.400, A £:34.400
1BRE=h 4% (IRE) [EEES .000 A X:11.900
.000
,000
000 A X:11.600
,000 A X:11,600
000 A X:11.600
ik (RER) R ,000 % [ A X:11.600
000 A X:11.600
,000 v | A K:11.600
.000 A X:12.100
,000 v | A K:12,600
000 4
RRECAR)=8H EFACRTENES 23,300 4%
EHER 23,300 4
RRECPAE)=AXRE ESACRTENES 20.100 63% |7K:20.800. 7:24.200. £:28,600
AKEH 13.700 | 75% [A£:14.000
KR (BFE) =R KB (BAFE) 5 34,300 40% | H:30.800, ::32,300, #:26.900
HiE% 25200 | 56% |H:22.900. X:21.400, %k:23.700
MR=3EE GIRER) NN 20.700
Shif (IRER) 20.700
BEE (PR =048 (BB | B EE (PED) u 800 . 7K:14,000
.800
u 000
.000
ik (FRER) 5 |_NU .600 115,
500 | 64% | k7:14.700. 7K:15.100
U ,600 66% | :X:14.100, 7K:15.100, A:14,600
100 | 67% [:X:13.600. 7k:14.600. A:14.100
FEIL=3#8 GIR &) Fi LI 5 .800 32% 7:30.900, £:38,700
S (IR ER) % 0.900 [ 24% :31.500, X:27.800. £:34.200
SRR =R1E RGB! 7.200 7.500
7.900 8.200
7.900 8.200
7.900 200
7.200 500
7.200 300, 7KA:7.400
7.200
AEK 7.200 73% _|H%:7.500
200 73% | H%:7.500
100 77% | H:6.400. /KA:6.600
100 77% | F:6.400, 7KX:6.600
7.200 73% | £:1.500
7.900 71% | F%:8.200
7.200 73% | H£:1.500
() =B G IE IS 7.900 62% | 5 %:8.200
7.900 62% | F£:8.200
7.900 62% | F%:8.200
7.900 62% |£::8.200
7.500 % | A %:7.800
7.500
7.500 » | H%:7.800
7.500 A £:7.800
EEES 7.900 62% | F %:8.200
7.900 62% | F£:8.200
7.500 64% | F%:7.800
7.500 64% | F2:7.800
7.900 62% | F%:8.200
7.900 62% | F2:8.200
7.900 62% | F%:8.200
7.900 62% | F£:8.200
iR (R =AKE G IE IS 6.500 [&:
5.900
AKEH 6.500

5,900

5.900
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8/1-6
=40) A%
maa |50 s
EIEIES
S (IR ER) % 11000 | 77% |KA:11.600. H:14.900
Kk (Bi#E) 5% | _NUoo1_| 26.400 35% 119,800, :X:21.100, F:22,100, H:19.700
9.000 78% | JkA:11.700
15900 | 61% |A:15.200. £ H:13.200
AR R % [ ) 15900 | 61% |ALH:13.200
9.000 78% | /KA:11.700
26.400 | 35% :19.800, $X:22.200, F:19.500, H:23.200
WRCRR) =R\ HR(HE) % 26.900 61% | A:32,900, + F:28,900
HER 400 | 50% | A:40.000. T H:36.400
1BRE=h 4% (IRE) [EEES .900 55% H:13.000
900 [ 52% 3.900, + A:13.000
300 | 54% . £ 8:12.000
900 | 55% 000
900 | 55% ,000
900 [ 55% 000
ik (RER) R .900 55% | A:13,000, £ H:12,000
900 | 55% |A:13.000. £ H:12.000
900 | 55% H:12,000
400 | 54% 3,500, £ B:13.000
400 | 54% |A:15500, £ H:13.000
900 | 55% |A:15.000. £ H:12.000
RRECAR)=8H EFACRTENES 25.900 60% 27.900
EHER 25900 | 60% 27,900
RRECPAE)=AXRE ESACRTENES 27.600 50% 26.500, 7K:28.100. +:28,600
AKEH 14000 | 74% [/KA:14.600. H:17.900
KR (BFE) =R KB (BAFE) 5 31.300 45% 30,800, + H:26.900
HiE% 25200 | 56% 7.400. T H:26.900
MR=3EE GIRER) NN 26.900 44% 34,800
S (IR ER) % 26.900 | 44% |+ H:30.900
BEE (PR =048 (BB | B EE (PED) u .000 69% 14,800, ,200
000 | 67% |A: .200
u 000 | 69% [A: ,300. H:14.600
000 [ 69% [A: .300, H:14.600
(I8 u .600 68% |A: 3:15.300
700 | 68% [H:16.500. 7 .400. H:16.700
u 100 | 67% [H:15.600, / 00. H:16.100
600 | 68% [A:15.100, k:13.600. A:14.100, H:15.600
FEIL=3#8 GIR &) Fi LI 5 .200 16% |+:38.700. H:35.700
S (IR ER) % 200 16% | A 0:37.800. £:34.700
RGBT =R1E RS [ 7.500 72% | :kJK:7.200
8.200 70% | k7K:7.900
7.900 1%
7.900 7
7.200 73%
7.200 7
7.200 73%
aER 7.500 72
500 72% | KOK:T.:
100 77% | A H:6.400, 7K:6.600
100 7% 400, 7K:6.600
7.500 72% | k7K:7.200
8.200 70% | k7k:7.900
7.500 7 JK:7.200
() =B PR () 5 |_NUSST | .200 6| kIKAK:7.900
.200 K7k %:7.900
200 3
7.900 62
7.500 3
7.500
7.500 3
7.500
S .200 b
.200
800 3
7.800
200 3
.200
200 3
.200
iR (R =AKE G IE IS .700 47%
100 52
AKE5E 700 47%
6.100 52%
6.100 52%
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Z2—"—%%

ERE

%5

ShiH (IBER) 5 11.000

77% | H:14.900

KBz (B878) & [ _NU0OT | 17,700

57% | F:18.500, £:15,600, £:19,700, H:14.300

68% | F5:14.300

i (AR

68% | H:14.300

:21.000, £:14.500. £:15.000. H:23.500

WRCRR) =R\

HR(HE) %

BiEH

o
=
S

1BRE=h 4% (IRE)

[EEES

ik (RER) R

RRECAR)=8H

IR (CHE) U021

=& 022 23.300

RRECPAE)=AXRE

22,200

14,000

:17.900

KR (BFE) =R

25.400
22,900

23,300

24,600

MR=3EE GIRER)

20,000
20.000

BEE (PED) =ik (RE)

B (P ) _NU 600

&+ H:27.800

4
+ H:27.800
:14.800.

.600

.300

.300

c

.600

.600

.300

800, +:15.300

ik (RER) R

c

.600

:16.300

300

6.100

c

6.400. 1:15.400, H:17.700
00

5,600

6.300

FEIL=3#8 GIR &)

[EIES 23.500

s (IRER)

R (RER) =R 1B

ik (FRER) 5 | ) 200

.200

900

.900

.900

71% £+ H0:8.200

7.400

.900

71% | H:8.200

RIEX .200

KIKA:7.900

,200

.600

7
70% [ KIKAK:7.900
B .900

.600

76% .900

.200

KK A:7.900

.200

66% K JKA:8.900

.200

() =B

ik (FRER) 5 |_NUS51_| .500

59% K JKA:8.200

.500

KK A:8.200

.500

70% | KRIKA:7.900

K KA:8.200

.200

600

7600

7.600

7.600

.500

59%

.500

59%

900

62%

7:900

62%

.500

59%

.500

59%

.500

59%

.500

59%

iR (R =AKE

ik () R .700

47%

.100

52%

.700

AKEH

47%

6,100

52%

6.100

52%
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8/25-31
X A%
= Pl
EEE B51% &
S (IR ER) % 11,000 [ 77% [H:10.700, £ H:17.000
KBR (BEE) % | 1 17.700 | 57% |B:17.200, %:15.600. £:19.400, B:14.300
9.000 78% 400. 1:10.900
200 | 68% [+
Sh#E (IBFR) | _NU002 | .200 68% |t
500 | 72% :
700 | 57% |%:14.500. £:14.700, H:23.500
WRCRR) =R\ HR(HE) % 100 65% t H:26.200
HER 28100 | 59% 28,700, H:29.400
1BRE=h 4% (IRE) [EEES 000 64% .500, H:13,000
000 | 61% 300
000 | 64% .300
600 [ 65% .100, H:12.000
600 12,000
.600 .000
RE) £ .600 1:12.000
.600 .00
600 L 11,100
100 1,600, H:13.000
600 £:12.100
000
RRECAR)=8H HR(FM) % | NU021 23,300
EHER 022 23.300
RRECPAE)=AXRE B CFIEH) $€ | NU091 22.200 +:24.100, H:17.900
AKEH 090 14.000 3:20.000
KR (BFE) =R ABR (BA7E) % | NU083 25,400 4.900
HiE% 086 22.900 4.600
INA=REE (BRER) IV U037 | 20,000
Shif (IRER) 20.000
BEE (PR =048 (BB | B EE (PED) u 3,000 : 00,
.000 A: 100,
u 000 A: 14100,
.000 A: 0. +:14.300. H:13.600
TP (RER) F |_NU 600 70% | A £:14.800. 7k:13,000
700 | 66% | k7k:13.700. 7K:14.400, £ £:16.400
u 300 | 67% |:13.100, 7K£:14.100. A:13.600
800 | 68% |:X:12.600, k£:13.600. A:13.100
FEIL=3#8 GIR &) Fi LI 5 23,500 42% | © 126,600
S (IR ER) % 23500 | 42% | H A:26.600
SRR =R1E RGB! 200 70% | KIKAK:7.900
.200 66% | A7k :8.900
.900 67%
.900 67"
900 71% &+ H:8.200
7.400 7
900 1%
aER .200 7
200 70%
100 7%
100 7%
.200 70%
NU622 .200 66%
NU626 .200 70%
() =B R (RER) 5 |_NUS5T .500 59%
NU557 500 59%
NU559 500 59%
NU563 .200 1
NU565 600 3
NU567 7.600
NU571 7.600 3
NU573 7.600
EEES NU552 500 59%
NU556 500 59%
NU558 1900 62%
NU560 7.900 62%
NU562 500 59%
NU564 500 59%
NU566 500 59%
NU572 500 59%
iR (R =AKE PR () 5 |_NU211 .700 47%
NU219 100 52%
AkEBS | _NU09O | .700 47%
NU212 6.100 52%
NU218 6.100 52%
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7/22

7/23

7/24

7/25

7/26

2= i—%18

2=

2—ri— %1

2—ri—5i

2—ri— %4

ERE

ERE

ERE

ERE

ERE

iR (ARER) %

14.000

KR (Bi#E) 5 | NUooi |

24,000

9.700

20.800
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U062 8,900
RRECABR)=Bd HE (CHE) # 021 18.500
EoR U022 18,500
KR (@) =RHE Iz (PH7E) % 083 15,700
RIEH U086 9.700 82% 14,900, H:17.800
M= (FRE) AT 037 500 | 64 H:20.500
PR (IRER) 5 U036 .500 64% 20,500
BEE (PED) =048 ()| B & 2 (hER) 3 .300 .800
U045 300 800
7 9.300 1300 % H:10.800, £:12.800
U049 9.300 .300, £:16,600. £:12.800, H:10.800
o (B % 9.300 79% |4 H:10.800, £:11.700
U 2.800 70% |%:13.700
100 | 70% | %k7K:11.800. A:12.000. H:14.100
U .100 2% A7K:10,800, Z:11,000, H:13.100
L= (FRE) LU 5 000 | 64% |£:23000. +:24.500
PR (ARER) 5 U 000 64% :23,000, H:24.500
SR () =R1E PR (AP ER) S |_NU60 .600 78% | :KIKA:5.300
| NU605 .900 73% &+ H:7.200
[ NU607 .900 73%
[ NU609 .900 73%
617 300 79% |& 1 A:5.600
[ NU621 300
NU625 5.300
RiasE NU60O 5,600 JKK:5.100
NU608 5.600 78% | kKA:5.100
NU610 5.300 79% 5500, % 15400
NUG12 5.300 79% | HH:5.500, £1:5.400
NUG14 5.600 78% | JIKA5.100
NU22 7.200 72% | JIKA:6.900
NU626 600 | 78% | AsKA:5.100
B =B PR (BRER) 5 |_NUS51 400 7% | A IKK:6.100
NUS57 400 7% | k7KA:6.100
NUS59 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 900 75%
NUS71 .900 75%
NU573 900 75%
RS NUS52 6.400 67%
NUS56 6.400 67%
NU558 200 | 73%
NU560 200 3%
NUS62 400 7
NU564 400 7%
NUS66 400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.300 56
AKBFE | NU212 3.900 68%

JTA



TS %BIEER(AA14~20BH-ES)

EREEAA : 2019/09/04 ~
4/14-20
P e _ SIES5ER
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 8900 77% | %:12.300. £:16.200. H:10.700
[ NU005 7.900 79%
U009 7.900 79% | %:11.400. H:12.100
ol (FBH) 3 |_NU002 7.900
[ NU004 7.900
U008 8.900
RECAB)=RE HRCRE) % |_NU0T .700 +19.300, £:21.200
uoz7 ,700 +:19.800
E=E] Uo7 700 :21.200
uo7 ,200 1:23.700
TRfE=;P 48 (IRFR) EH RS |_NUO05 8.900 H:10.400
[ NU053 10700
[ NU057 .900 :10.400
[ NU061 .900 1:9.900
[ NU063 .900 1:9.900
U065 .900 1:9,900
% (ADER) & |_NU050 .900
[ NU052 .900
[ NUO54 .900
[ NU058 500
[ NU060 10.000 H:11.600
U062 8,900
RRECABR)=Bd HE (CHE) # 021 18.500
EoR U022 18,500
KR (@) =RHE Iz (PH7E) % 083 15,700
RIEH U086 9.700 82% 14,900, H:17.800
M= (FRE) AT 037 500 | 64 H:20.500
PR (IRER) 5 U036 .500 64% 20,500
BEE (PED) =048 ()| B & 2 (hER) 3 .300 .800
U045 300 800
7 9.300 1300 % H:10.800, £:12.800
U049 9.300 .300, £:16,600. £:12.800, H:10.800
o (B % 9.300 79% |4 H:10.800, £:11.700
U 2.800 70% |%:13.700
100 | 70% | %k7K:11.800. A:12.000. H:14.100
U .100 2% A7K:10,800, Z:11,000, H:13.100
L= (FRE) LU 5 000 | 64% |£:23000. +:24.500
PR (ARER) 5 U 000 64% :23,000, H:24.500
SR () =R1E PR (AP ER) S |_NU60 .600 78% | :KIKA:5.300
| NU605 .900 73% &+ H:7.200
[ NU607 .900 73%
[ NU609 .900 73%
617 300 79% |& 1 A:5.600
[ NU621 300
NU625 5.300
RiasE NU60O 5,600 JKK:5.100
NU608 5.600 78% | kKA:5.100
NU610 5.300 79% 5500, % 15400
NUG12 5.300 79% | HH:5.500, £1:5.400
NUG14 5.600 78% | JIKA5.100
NU22 7.200 72% | JIKA:6.900
NU626 600 | 78% | AsKA:5.100
B =B PR (BRER) 5 |_NUS51 400 7% | A IKK:6.100
NUS57 400 7% | k7KA:6.100
NUS59 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 900 75%
NUS71 .900 75%
NU573 900 75%
RS NUS52 6.400 67%
NUS56 6.400 67%
NU558 200 | 73%
NU560 200 3%
NUS62 400 7
NU564 400 7%
NUS66 400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.300 56
AKBFE | NU212 3.900 68%

JTA



TS RBIEER(AA21~271BEES)

EREEAA : 2019/09/04 ~
4/21-27
P e _ TSR
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 8900 77% | %:13.200. £:16.200. H:10.700
[ NU005 7.900 79%
U009 7.900 79% | %:17.600. H:12.100
h#E (FRER) 3 [_NU002 7.900 79% |£:13.300
[ NU004 7.900
U008 8.900 .500. H:13.000
RECAB)=RE HRCRE) % |_NU0T .700 +19.300, £:21.200
uoz7 ,700 £:19.800
E=E] Uo7 700 :21.200
uo7 ,200 :23,700
TRfE=;P 48 (IRFR) S |_NUos 8.900 0.400
[ NU053 10700
[ NU057 .900
[ NU061 .900
[ NU063 .900 E:
U065 ,900 78% B
% (ADER) & |_NU050 .900 B
[ NU052 .900 :: K
[ NUO54 .900 E:
| _NU058 500 £:13,000, £:10.400, H:11,100
[ NU060 10.000 E: 0.900. H:11.,600
U062 8.900 :12,000, + H:10.400
RRECABR)=Bd HE (CHE) # 021 18.500 20500
EoR U022 18,500 20,500
KR (@) =RHE Iz (PH7E) % 083 15.700 8.600
RIEH U086 9.700 6.000, +:14.900, H:17.800
ERASEIETE ) INENFE 037 .500 20.500
PR (IRER) 5 U036 .500 64% 20,500
BEE (PED) =048 ()| B & 2 (hER) 3 .300 .800
U045 300 800
7 9.300 1300 % H:10.800, £:12.800
U049 9.300 .300, £:16,600. £:12.800, H:10.800
o (B % 9.300 79% |4 H:10.800, £:11.700
U 2.800 70% |%:13.700
100 | 70% | %k7K:11.800. A:12.000. H:14.100
U .100 2% A7K:10,800, Z:11,000, H:13.100
L= (FRE) LU 5 000 | 64% |£:23000. +:24.500
PR (ARER) 5 U 000 64% :23,000, H:24.500
SR () =R1E PR (AP ER) S |_NU60 .600 78% | :KIKA:5.300
| NU605 .900 73% &+ H:7.200
[ NU607 .900 73%
[ NU609 .900 73%
617 300 79% |& 1 A:5.600
[ NU621 300
NU625 5.300
RiasE NU60O 5,600 JKK:5.100
NU608 5.600 78% | kKA:5.100
NU610 5.300 79% 5,500, % 15400
NUG12 5.300 79% | HH:5.500, £1:5.400
NUG14 5.600 78% | JIKA5.100
NU22 7.200 72% | JIKA:6.900
NU626 600 | 78% | AsKA:5.100
B =B PR (BRER) 5 |_NUS51 400 7% | A IKK:6.100
NUS57 400 7% | k7KA:6.100
NUS59 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 900 75%
NUS71 .900 75%
NU573 900 75%
RS NUS52 6.400 67%
NUS56 6.400 67%
NU558 200 | 73%
NU560 200 3%
NUS62 400 7
NU564 400 7%
NUS66 400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.300 56
AKBFE | NU212 3.900 68%

JTA



TS %RBIEERGAII~I8ARES)

EREEAA : 2019/09/04 ~
5/11-18
P 23 - DS ER
s | B0 e
K (R 7E) =48 (A¥R) | ABR (B3Ea) % | _NUO0OT 12200 | 68% |£:12.500. H:11.000
[ NU005 7.900 79%
U009 7.900 79% | %:11.400. H:12.100
e (I8 3 |_NU002 7.900
[ NU004 7.900
U008 ,200 t:11,700, H:12,500
RR(CRE)=RE RERCRE) % Uo7 .700 :19.300, £:21.200
uoz7 ,700 +:19.800
E=E] Uo7 700 :21.200
uo7 ,200 1:23.700
== R E) FHRES U05 8.900 H:10.600
[ NU053 10,700
[ NU057 .900
[ NU061 .900
[ NU063 .900
U065 .900
% (ADER) & |_NU050 .900
[ NU052 .900
[ NUO54 .900
[ NU058 700
[ NU060 10.200
U062 8,900
RRECABR)=Bd HE (CHE) # 021 18.500
EoR U022 18,500
KR (@) =RHE Iz (PH7E) % 083 9.700 2200, £:12.500
RIEH U086 9.700 14,000
ERASEIETE ) INENFE 037 .500 20.500
PR (IRER) 5 U036 .500 64% :20.500
A E (P E) = 8|8 5 E (P #) 3 300 | 72% 12,800, £:12.600
U045 .300 69% 13.800, £:13.600
7 9.300 79% | H:11.300. £ H:10.800. £:12.800
U049 9.300 79% H:11.300, £:16.600. £:12,800, H:10.800
o (B % 9.300 79% |4 H:10.800, £:11.700
U 2.800 70% |%:13.700
100 | 70% | %k7K:11.800. A:12.000. H:14.100
U .100 2% :k7K:10,800, K:11,000, H:13.100
FELL=3548 (RER) FE LI .000 #:23.000, 1:24.500
U 000 b 4,500
.000 £:23.000
TP (RER) F |_NUOT0 ,000 3
4 000 H:23.000
uo16 000 b H:23.000, H:24.500
SR (B =R1E SR (BR¥R) 5 [_NU601 .600 8 NIKA:5.300
[ NU605 900 73% | &+ H:7.200
NU607 .900
NU609 900
NUG17 5.300
NUG21 5.300
NU625 5.300
RiasE NU600 5.600
NU608 5.600
NU610 5.300
NUG12 5.300
NUG14 5.600
NU622 7.200
NU626 600
BB -5 PR (ARER) S |_NUS51 400
NUS57 400
NU559 400
NU563 100
NUS65 .900
NU567 900
NUS71 .900
NU573 900
RS NUS52 6.400
NUS56 6.400
NU558 .200
NU560 200
NUS62 400
NU564 400
NUS66 400
NU572 400
SRR (RER) =AKE | RHBCGRER) | NU211 5,300
AKESE | NU212 3.900
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TS5 RBIEERGA19~3BEES)

EREEAA : 2019/09/04 ~
5/19-31
P 23 - DS ER
s | B0 e
KR (B7E) =548 (BTR) | ANk (BIF) % [_NU0O1 12200 | 68% |£:12.300. £:12.500. H:11.000
[ NU005 7.900 79%
U009 7.900 79% | %:11.400. H:12.100
ol (FBH) 3 |_NU002 7.900
[ NU004 7.900
U008 ,200 t:11,700, H:12,500
RECAB)=RE HRCRE) % |_NU0T .700 +19.300, £:21.200
uoz7 ,700 +:19.800
E=E] Uo7 700 :21.200
uo7 ,200 1:23.700
TRfE=;P 48 (IRFR) BEI% | _NU05 8.900 H:10.600
[ NU053 10700
[ NU057 .900
[ NU061 .900
[ NU063 .900
U065 .900
0 CGHRER) % |_NUO50 900
[ NU052 .900
[ NUO54 .900
[ NU058 700
[ NU060 10.200
U062 8,900
RRECABR)=Bd HE (CHE) # 021 18.500
EoR U022 18,500
KR (@) =RHE Iz (PH7E) % 083 9.700 5,700, £:12.500
RIEH U086 9.700 14,000
ERASEIETE ) INENFE 037 .500 E H:20.500
L | GRS | NU036 500 64% :20,500
BEE (PED) =048 ()| B & 2 (hER) 3 .300 12% 1 5:12.800
U045 300 | 69% |%+H:13.800
7 9.300 79% | H:11.300. £ H:10.800, £:12.800
U049 9.300 79% H:11.300, £:16.600. £:12,800, H:10.800
A IR % 9.300 79% |£H:10800. £:11.700
U 2.800 70% |%:13.700
100 | 70% | koK:11.800. A:12.000, H:14.100
U .100 2% :k7K:10,800, K:11,000, H:13.100
L= (FRE) [GIES 000 £:23.000, +:24.500
U 000 b
.000 £:23.000
TP (RER) F |_NUOT0 ,000 3
4 000
uo16 000 b H:23.000, H:24.500
SR (B =R1E % (AP ER) S |_NU6O01 .600 8% | KIKA:5.300
[ NU605 900 73% | &+ H:7.200
NU607 .900
NU609 900
NUG17 5.300
NUG21 5.300
NU625 5.300
RiasE NU600 5,600
NU608 5.600 78% A:5.100
NU610 5.300 79% 5400, H:5.700
NUG12 5.300 79% .400. H:5.700
NUG14 5.600 78% | KIKA5.100
NU622 7.200 72% | JIKA:6.900
NU626 600 78% | JKIKA5.100
BB -5 PR (ARER) S |_NUS51 .400 7% | KIKA:6.100
NUS57 400 7% | k7KA:6.100
NU559 400 7% | JKA:6.100
NU563 100 69% 400
NUS65 .900 75% 5.200
NU567 900 75% 200
NUS71 .900 75% H:5.200
NU573 900 75% H:5.200
EER NUS52 6.400 67% | JokA:6.100
NUS56 6.400 67% | JkIKA:6.100
NU558 200 | 73% | JoKA:4.900
NU560 200 3% | k7KA:4.900
NUS62 400 7% | JKA:6.100
NU564 400 7% | k7KA:6.100
NUS66 400 7% | JKA:6.100
NU572 400 7% | AKA:6.100
SRR (RER) =AKE | RHBCGRER) | NU211 5,300 56% E
AKESE | NU212 3.900 68%

JTA



TS5 RBEER(4A28~30BAEES)

EW#EMAA : 2019/09/04 ~
4/28 4/29 4/30
FH | SRG| SRS Yo% G
= B2 | A = =
EEEH EEE

KR (BER) =348 (GRER) | KB (BS#E) % | _NU0OI 8.900
|_NU005 7.900

U009 7.900

B (RER) 5 |_NU002 7.900

| NU004 7.900

U008 8.900

RR(CPE)=R1E HR (FE) F [ _NU07 .700
Uo7 .700

hiER Uo7 .700

Uo7 200

1RRE=i0 48 (RE) @R | _NU05 8.900
|_NUOS. 10.700

[ NU05 ,900

| NU061 .900

| NU063 .900

065 .900

bk (FRER) 5 |_NU050 .900

|_NU052 .900

| NU054 .900

|_NU058 500

| NU06O 10,000

062 8.900

RRECAR)=8EH HR(FM)F | NU021 18.500
EER 022 18.500

KR (BFE) =R ABR (BAFE) % | NU083 15.700
HiE% 086 9.700

MR=3EE GIRER) NN U037 .000
Shif (IRER) .000

HEE (PR =048 (BB | B EE (PED) U 300
300

u 9.300

9.300

ik (FRER) 5 |_NU 9.300

2.800

u 1.800

0.800

FEIL=3#8 IR &) i LLI 5 uot 4,000
shif (IRER) 1 4.000

SRR (IR =R1E TP (RER) 5 |_NU60 .300
|_NU605 .900

| NU607 .900

|_NU609 .900

U617 300

NU621 5.300

NU625 5,300

AER NU600 5.100

NU608 5100

NU610 5.300

NU612 5,300

NU614 5100

NU622 6.900

NU626 100

() =B TR (RE) 5 |_NUS51 100
NU557 100

NU559 100

NU563 .100

NU565 .900

NU567 .900

NU571 .900

NU573 .900

EEES NU552 100

NU556 .100

NU558 .900

NU560 .900

NU562 100

NU564 100

NU566 100

NU572 100

PRBR)=AKE hERCIER) % | NU211 .300
k@ | NU212 .900

JTA



LSRG IERER(GA1~8BERD)

EW#EMAA : 2019/09/04 ~
5/1 5/2 5/3 5/4 5/5 5/6 5/7 5/8
4] E8 Eﬁigﬂ DIESEB| INNSEB| DI EB| TS ER| VSRR ISR VNS EB| TSRS
EEE | EEE | E84 | EE5R | 254 | 558 | @858
KR (BAE) =50k (FRFR) | ABR (BFE)  |_NU0OI 3.200 12.200
|_NU005 2.200
U009 7.600
Sl (FRW) 3 |_NU002 300
| NU004 .700
U008 500
WRECRR)=RE R CRIE) # |_NU07 600
Uo7 22,600
hiER Uo7 .700
Uo7 200
1BRE=h 4% (IRE) @R | _NU05 .200
|_NUOS. 400
[ NU05 .200
| NU061 600
| NU063 ,000
065 .000
R (ARER) & [_NU050 000
|_NU052 000
| NU054 ,000
|_NU058 .000
| NU06O 000
062 000
RRECAR)=8EH HR(FM)F | NU021 28.400
EER 022 500
KR (BFE) =R AWk (BAFE) % | NUO83 .600
HiE% 086 .000
MR=3EE GIRER) NN U037 .200
Shif (IRER) .000
BEE (PED) =ik ()| & & E (PED) U .800
800
u 300
500
ik (FRER) 5 |_NU 9.300
12.800
u 14.100
14.100
FEIL=3#8 IR &) Fi LLI 5 uot 33,300
shif (IRER) 1 24.800
R (ARER) =R 1B TP (RER) 5 |_NU60 6.700
|_NU605 7.700
| NU607 .900
|_NU609 .900
U617 .700
NU621 .200
NU625 .400
AER NU600 5,600
NU608 5,600
NU610 5.400
NU612 5,400
NU614 5,600
NU622 7.200
NU626 600
() =B TR (RE) 5 |_NUS51 .700 [ 7. X
NU557 .700 | ¢ ¢
NU559 .700 I I
NU563 .700 | ¢ ¢
NU565 .700 [ s. [ s.
NU567 5.400 |_s. s
NU571 5700 I I
NU573 .700 | ¢ ¢
EEES NU552 .400 I I
NU556 .400 | ¢ I
NU558 .200 [ s. I
NU560 .200 | s. | &
NU562 .400 I I
NU564 .400 | ¢ I
NU566 .400 I I
NU572 .400 | ¢ I
PRBR)=AKE hERCIER) % | NU211 .900
k@ | NU212 4.200 4700

JTA



EREEAA : 2019/09/04 ~
5/9 5/10
FH SRR ISR
EH B2 | A

EEA
KR (BER) =348 (GRER) | KB (BS#E) % | _NU0OI 12.500
|_NU005 7.900
U009 7.900
B (RER) 5 |_NU002 7.900
| NU004 7.900
U008 .700
RR(CPE)=R1E HR (FE) F [ _NU07 .200
Uo7 .800
hiER Uo7 .300
Uo7 800
1RRE=i0 48 (RE) @R | _NU05 .600
|_NUOS. .200
[ NU05 600
| NU061 100
| NU063 100
065 100
R (ARER) & [_NU050 100
|_NU052 100
| NU054 100
|_NU058 600
| NU06O 100
062 600
RRECAR)=8EH HR(FM)F | NU021 20.500
EER 022 20.500
KR (BFE) =R ABR (BAFE) % | NU083 12,500
HiE% 086 14.000
MR=3EE GIRER) NN U037 20.500
Shif (IRER) 20.500
HEE (PR =048 (BB | B EE (PED) u 600
600
u 600
600
ik (FRER) 5 |_NU .700
.700
u ,000
.000
FEIL=3#8 IR &) Fi LLI 5 uot 4,500
shif (IRER) 1 4.000
SRR (IR =R1E TP (RER) 5 |_NU60 5.600
|_NU605 7.200
| NU607 .900
|_NU609 .900
U617 600
NU621 5500
NU625 5,300
AER NU600 5.600
NU608 5,600
NU610 5.400
NU612 5,400
NU614 5,600
NU622 7.200
NU626 600
() =B TR (RE) 5 |_NUS51 400
NU557 .400
NU559 .400
NU563 100
NU565 .900
NU567 .900
NU571 .900
NU573 .900
EEES NU552 .400
NU556 6.400
NU558 5,200
NU560 .200
NU562 .400
NU564 .400
NU566 .400
NU572 .400
PRBR)=AKE hERCIER) % | NU211 700
k@ | NU212 4500

ML %RFIEER(BAI~10BEESD)

JTA



TSR GIERR(G6A1~14BEESD)

EREEAA : 2019/09/05 ~
6/1-14
P 23 - TIN5 ER
s | B0 e
KR (B7E) =548 (BTR) | ANk (BIF) % [_NU0O1 14700 | 62% |%:12.700. T:16.600. H:11.400
[ NU005 7.900 79%
U009 7.900 79% | %:11.100. H:12.100
ol (FBH) 3 |_NU002 7.900
[ NU004 7.900
U008 .700 t:12,100, H:13.400
RECAB)=RE HRCRE) % |_NU0T .700 +19.300, £:21.200
uoz7 ,700 +:19.800
E=E] Uo7 700 :21.200
uo7 ,200 1:23.700
TRfE=;P 48 (IRFR) EEEES uos 8.900 H:10.400
[ NU053 10500
[ NU057 .900 :10.400
[ NU061 .900 19,900
[ NU063 .900 .900
U065 .900 .900
% (ADER) & |_NU050 .900 .900
[_NU052 .900 1:9.9
[ NUO54 .900 900, H:10.600
[ NU058 500 .
[ NU060 10.000 0700, £:10.900. H:11.600
U062 8,900
RRECABR)=Bd HE (CHE) # 021 18.500
EoR U022 18,500 A
KR (@) =RHE Iz (PH7E) % 083 9.700 H:15.700
RIEH U086 9.700 6.200, £ H:17.800
ERASEIETE ) INENFE 037 .500 E H:20.500
PR (IRER) 5 U036 .500 :20.500
BEE (PED) =048 ()| B & 2 (hER) 3 .300 12.200, £:13.300
U045 ,300 13.200, +:14.300
7 9.300 :11.300, 2 H:10.800. £:12.800
U049 9.300 79% H:11.300, £:16.600. £:12,800, H:10.800
A IR % 9.300 79% |4 H:10.800, £:11.700
U 2.800 70% |%:13.700
100 | 70% | %k7K:11.800. A:12.000. H:14.100
U .100 2% A7K:10,800, Z:11,000, H:13.100
L= (FRE) LU 5 000 | 64% |£:23000. +:24.500
PR (ARER) 5 U 000 64% :23,000, H:24.500
SR () =R1E PR (AP ER) S |_NU60 .600 78% | :KIKA:5.300
[_NU605 .900 73% [£+H:7.200
[ NU607 .900 73%
[ NU609 .900 73%
617 300 79% |& 1 A:5.600
[ NU621 300
NU625 5.300
RiasE NU60O 5,600 JKK:5.100
NU608 5.600 78% | kKA:5.100
NU610 5.300 79% 5500, % 15400
NUG12 5.300 79% | HH:5.500, £1:5.400
NUG14 5.600 78% | JIKA5.100
NU22 7.200 72% | JIKA:6.900
NU626 600 | 78% | AsKA:5.100
B =B PR (BRER) 5 |_NUS51 .400 7% | KIKA:6.100
NUS57 400 7% | k7KA:6.100
NUS59 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 900 75%
NUS71 .900 75%
NU573 900 75%
EER NUS52 6.400 67%
NUS56 6.400 67%
NU558 200 | 73%
NU560 200 3%
NUS62 400 7
NU564 400 7%
NUS66 400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.500 55
AKBFE | NU212 4.100 66%

JTA



TS5 BIEER(6A15~21BEES)

EREEAA : 2019/09/05 ~
6/15-21
&R s _ SIES5ER
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 14700 | 62% |£:12.700. £:19.100. H:17.400
[ NU005 7.900 79%
U009 7.900 79% | %:11.100. H:12.100
e (I8 3 |_NU002 7.900
[ NU004 7.900 0.800
U008 .700 1.600, £:16.700, H:20,500
RECAB)=RE HRCRE) % |_NU0T .700 17.300, £:19.300, +:21.200
uoz7 ,700 15,300 +:19.800
E=E] Uo7 700 200
uo7 ,200 ,700
[EERLETEE) EH RS uos 9.500 .200
[ NU053 10500
[ NU057 500
[ NU061 000 1:10
[ NU063 .000
U065 000
% (ADER) & |_NU050 .000
[ NU052 000
[ NUO54 000
| NU058 500 H:11.800
[ NU060 10.000 0900, H:12.000
U062 9.500 0,400, H:11,000
RRECABR)=Bd HE (CHE) # 021 .500 20500
EoR U022 ,.500 20,500
KR (@) =RHE Iz (PH7E) % 083 .700 6500, H:17.000
RIEH U086 200 7.800, H:18.500
ERASEIETE ) INENFE 037 .500 21500
PR (IRER) 5 U036 7.500 .500
B E (PR =048 (BB | & & B (P &) 3 2.300 .600, & H:12.200,
U045 3300 600, % H:13,200,
7 9.300 3:12.200, £:13.
U049 9,300 000, £:13.
i (AR R 600 0,800, H:13.300
u 800 300
100 000, B:14.100
U .100 K:11,000, H:13.100
FELL=3548 (RER) FALFE .000 4,500
PR (ARER) 5 U 000 :23,000, H:24,500
SR () =R1E PR (AP ER) S |_NU60 .600 78% | :KIKA:5.300
| NU605 .900 73% &+ H:7.200
[ NU607 .900 73%
[ NU609 .900 73%
617 .300 79% |& L A5.600
[ NU621 300 85500
NU625 5.300 600
RiasE NU60O 5.600 k5,300
NU608 5.600 78% | koKA:5.300
NU610 5.400 79% 85500
NUG12 5.400 79% _|H H:5.500
NUG14 5.600 78% | JIKA:5.300
NU22 7.200 72% | JIKA:6.900
NU626 600 | 78% | ksKA:5.300
B =B PR (BRER) 5 |_NUS51 400 7% | A IKK:6.100
NUS57 400 7% | k7KA:6.100
NUS59 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 900 75%
NUS71 .900 75%
NU573 900 75%
RS NUS52 6.400 67%
NUS56 6.400 67%
NU558 200 | 73%
NU560 200 3%
NUS62 400 7
NU564 400 7%
NUS66 400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.500 55
AKBFE | NU212 4.100 66%

JTA



TS5 RBEER(6H22~30BEES)

EREEAA : 2019/09/05 ~
6/22-30
X TS EE
=40) L — E
EEE B51% &
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 14700 | 62% |£:12.700. £:19.100. H:17.400
[ NU005 7.900 79%
U009 7.900 79% | %:11.100. H:12.100
P (RER) F |_NU002 7.900
|_NU004 7.900 .800
U008 4.700 .600, £:16.700, H:20,500
RRCHE)=RE F GFIE) % |_NUO07 300 300, %:19.300. £:21.200
uoz7 .300 +:19.800
EiE% Uo7 300 :22.000
uo7 ,.800 500
TRfE=;P 48 (IRFR) mEFE [ _NUOS 9.500 .200
[ NU053 10500
|_NU057 500
[ NU061 000 1:10
|_NU063 .000
U065 .000
% (ADER) & |_NU050 .000
[ NU052 000
|_NU054 .000
| NU058 500 H:11.800
|_NU060 10.000 0.700, +:10.900. H:12.000
U062 9.500 0,400, H:11,000
RRECABR)=Bd HE (CHE) # 021 .500 20500
EoR U022 ,.500 20,500
KR (@) =RHE KR (BA7E) % 083 .700 6500, H:17.000
RIEH U086 200 7.800, H:18.500
ERASEIETE ) INENFE 037 .500 21500
PR (IRER) 5 U036 7.500 .500
A EE (FER) =4 (B 8)|& & B (F35) 3 2.300 800, % B:12.200.
U045 3300 800, % H:13,200,
7 9.300 3:12.200, £:13.
U049 9,300 000, £:13.
A IR % 600 0,800, H:13.300
u 800 300
100 000, B:14.100
U .100 K:11,000, H:13.100
FELL=3548 (RER) FALFE .000 4,500
PR (ARER) 5 U 000 :23,000, H:24,500
SR () =R1E PR (AP ER) S |_NU60 .600 78% | :KIKA:5.300
| NU605 .900 73% &+ H:7.200
|_NU607 .900
[ NUG09 .900
617 .300
[ NU621 300
NU625 5.300
RiasE NU60O 5,600
NU608 5.600
NU610 5,400
NU612 5.400
NUG14 5,600
NU622 7.200
NU626 600
B =B PR (BRER) 5 |_NUS51 400
NU557 .400
NU559 .400
NU563 100
NU565 .900
NU567 .900
NUS71 .900
NU573 .900
RS NU552 6.400
NU556 6.400
NU558 .200
NU560 .200
NU562 .400
NU564 .400
NU566 .400
NU572 .400
SRR (FRER)=AKE | heBOGRE | NU211 5.500
AKBFE | NU212 4.100

JTA



TSR GIERER(TA1~14BEESD)

EREEAA : 2019/09/05 ~
7/1-14
=40) [cE ISR
g |78 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 17500 | 57% |%:18.600. £:19.700. H:17.400
[ NU005 7.900 8 300
U009 11.800 | 7 12.800
Fh4R (FRER) F [_NU002 11,800 7 12,800
[ NU004 7.900 8 0.800
U008 17.500 6.600, £:17.200, H:22,000
R (FE)=-HE R CRE) § [_NU07 20,000 5,000, H:22.000
uoz7 18.000 20,000, £:23.000
E=E] Uo7 20,000 22,000
uo7 23,000 25,000
TRfE=;P 48 (IRFR) EH RS uo5 10.100 .100
[ NU053 11.300 400
[ NU057 10.100 100
[ NU061 .600 ,600
[ NU063 600 600
U065 ,600 ,600
48 (ARHR) % |_NU050 600 600
[ NU052 .600 ,600
[ NUO54 600 0,300, £ H:10.600
| _NU058 .100 0,800, £:11.100, H:11,800
[ NU060 600 1,300, £:11.600. H:12.300
U062 100 11,100
RRECABR)=Bd HE (CHE) # 021 .300 21.300
EoR U022 ,300 21,300
KR (@) =RHE Iz (PH7E) % 083 000
RIEH U086 6.800 H:18.300, 1:18.500. H:19,500
M= (FRE) AT 037 20500 | 57% |+ H:28.200
PR (IRER) 5 U036 20.500 57% + H:28.200
BEE (PED) =048 ()| B & 2 (hER) 3 3,000 72% [ A:12.800, £: :14.300, H:13.200
U045 4.000 B:
7 000 B
U049 ,000 B
PR (AR ER) 600 A:
U ,600 A:
600 :14.100
U 600 :13.100
FELL=3548 (RER) FALFE .500
i (BRER) % u ,500
SR () =R1E SR8 (IRER) F |_NU6O 6.600
[ NUG05 7.400
[ NU607 7.400
[ NUG09 7.100
617 300
[ NU621 300
NU625 300
RiasE NU60O 600
NU608 600
NU610 400
NUG12 5.400
NUG14 6.600
NU22 7.400
NU626 600
B =B PR (BRER) 5 |_NUS51 .800
NUS57 800
NUS59 800
NU563 500
NUS65 300
NU567 300
NUS71 .300
NU573 300
RS NUS52 800
NUS56 800
NU558 600
NU560 600
NUS62 800
NU564 800
NUS66 800
NU572 800
SRR (FRER)=AKE | heBOGRE | NU211 .000
AKBFE | NU212 4.900

JTA



TS %RBIEER(TAIS~21BEES)

EREEAA : 2019/09/05 ~
7/15-21
=40 B8 = ISR
EEE B51% &
348 (IRER) % | NU090 10.600 [ 78% :14.400
KB (B37E) & [_NU0OT 19100 | 53% |7KA:17.500. %:20,300. £:21,300. H:19.000
|_NU005 8.300 80% [ JKA:7.900
U009 12800 | 69% [/KA:11.800
#E (FRFR) 5 [_NU002 12.800 | 69% |sKA:11.800
| NU004 8,300 80% |/KA:7.900. H:10,800
U008 19.100 | 53% [7KA:17.500. %:18.200, :18.800, H:23.200
RR(CRE)=R1E HR(FE) F [ _NU07 20,000 1%
Uo7 23400 | 66% |/KA:18.000, $:26.200. T H:25500
hiER Uo7 20000 | 71%
Uo7 25900 | 62% |JKA:23.000, £:28,000. H:38.900
BE= R E) @3 | _NUOS 600 | 65% |/kA:10.100, £ H:12.600
|_NUOS. 600 | 62% |kA:11.300
[ NU05 600 | 65% [/KA:10.100
| NU061 300 | 66% |kA:9.600. £ H:11.600
| NU063 300 | 66% |/KA:9.600, £ H:11.600
065 300 | 66% |/kA:9.600. .600
S# (3B%A) % |_NU050 300 | 66% |/KA:9.600, £ H:11.600
|_NU052 300 | 66% |kA:9.600, £ H:11.600
| _NUO054 .600 65% K:11.300, 7K %:9.600
|_NU058 800 | 64% |/k7K:10.100. :12.500, £ H:12.600
| _NUO060 600 62% K:12.300, 7K A:10.600
062 600 | 65% |/kA:10.100
RRECAR)=8H B CRIE) S | NU021 ,700 .600
EHER 022 700 4,600
RRECPAE)=AXRE HR(HM) % | NU091 20.200 1,000, H:19.300
AKBH 090 13.600 | 75% :17.400
KR (BFE) =R AWk (BAFE) % | NUO83 29,400 48% |k A:17.000, £:26.900, +:29.700
HIEH 086 19.700 [ 65% 1.200, 7K A:16.800. £:21.400, H:22.900
MR=3EE GIRER) NN U037 20.500 57% H:28.200
S (IR ER) % 20500 | 57% £ §:28.200
BEE (PR =048 (BB | B HE (PED) u 3,000 72% :13.800, :X:12.700, #:13.600, +:14.300, H:13,200
000 [ 69% :14.800, X:13.700. £:14.600. £:15.300, H:14.200
u 000 | 74% 12,600, #:13.100, £:
000 E
TP GRER) F |_NU ,600 :13.300
600 :14.300
u ,600 :14.100
600 :13.100
FEIL=3#8 GIRER) Fi LI 5 uot .800
shif (IRER) 1 4,800
W RH) =H1E RGB! 6.800 K:6.
7.600 £:7.100
7.600 17,100, :7.400
7.600 A:7.100
800 k#:6.300
.400 .
500 300, H:6.800
aER .800 :6.500, 7k 7:6.300
800 500, 7k :6.300
400 5700
400 H:5.700
800 :6.300
600 :7.100
800 .300
() =B G IE RS .200
7.200
200
.900
800
500
800
800
S .200
7.200
800
.800
200
7.200
7.200
7.200
iR (R =AKE ik () R 6.600
5,200 :
AKE5E 6.200 51% H:6.600
5,800 54% | A X:5,200, 7k7:4,900

5.200

59% 1+ B:5.800

JTA



TS %BIEER(TA2I~31BEES)

EREEAA : 2019/09/05 ~
7/27-31
=R B4 — ISR
EEE B51% &
348 (IRER) % | NU090 10600 | 78%
X B (B87E) % [_NUoo1 25,300 38% | A:19.100, X:20,000, £:20,300
|_NU005 8.300 80%
U009 12800 | 69%
#8 (R 5 |_NU002 12.800 | 69%
| NU004 8,300 80%
U008 25300 | 38% |H:19.100, X:21.100. %:18.200
RRE(HE)=-RH1E HECHE) % Uo7 23,400 66% |7k A:26,200, :29.200
HIE% uo7 25900 | 62% |K:28.700, A%:33.700
TB =0 (IR E) @R | _NUOS 600 | 62% |AX:11.600
|_NUOS 600 | 62%
[ NU05 600 | 65%
| NU0G61 600 | 65% | A X:11.300
| NU063 600 | 65% | A X:11.300
065 600 | 65% | A X:11.300
48 (R F) % [_NU050 .600 65% | A X:11.300
|_NU052 600 | 65% | A X:11.300
| _NUO054 .600 65% | A X:11.300
|_NU058 600 | 62% | A X:11.800
|_NU060 ,600 62% | A X:12,300
062 600 | 65%
RRECAR)=8H HR(FM) % | NU021 ,700 65%
EHER 022 700 | 65%
RRECPAE)=AXRE B CFIEH) $€ | NU091 20.000 64% 700, 7:24.100, £:28,500
AKEH 090 13.600 | 75%
KR (BFE) =R AWk (BAFE) % | NUO83 32.800 42% 400, X:31,000, £:25,900
HiE% 086 23400 | 59% .200, X:19.700. 7k:21.900
INA= 4 (3 ) N U037 20500 | 57% 200
S (IR ER) % 20500 | 57% 200
BEE (PR =048 (BB | B EE (PED) U 3.800 70% 700, 7
800 | 68% 700, 7
u 600 | 72% ,000. 7
600 | 72% 000, 7 £:21.200
) R u ,600 72% .12,
000 [ 72% k:14.200. £:13.600
U 600 70% k:14,500, 7:12,600
600 | 72% B 500, A:11.600
FEIL=3#8 GIR &) Fi LI 5 uot .600 32% :30,700, £:38,600
S (IR ER) % 1 0.700 7.600. £:34.100
SRR =R1E TP (RER) F |_NU60 6.500
|_NU605 7.300
| NU607 7.300
|_NU609 7.300
U617 500
NU621 .700
NU625 500 76%
AER NU600 500 76% | F 2:6.800
NU608 500 76% | A %:6.800
NU610 .400 80% | H:5.700. JKA:6.400
NU612 400 80% | H:5.700, 7k:6.400
NU614 500 76% | F£:6.800
NU622 300 73% | FH%:7.600
NU626 500 | 76% | H£:6.800
B RT)=EE i (BRER) 5¢ [_NUSS51 .900 7% | A %:7.200
NU557 .900 7% | B 2:7.200
NU559 .900 7% | H%:7.200
NU563 .900 7% [£:7.200
NU565 500 69% | A £:6.800
NU567 500 69%
NU571 500 69% | %:6.800
NU573 500 69% | F£:6.800
EEES NU552 .900 67% | H%:7.200
NU556 .900 67% |H%:7.200
NU558 500 69% | F2:6.800
NU560 500 A
NU562 .900 B
NU564 .900 A
NU566 .900 B
NU572 .900 Z
iR (R =AKE PR () 5 |_NU211 .200
NU219 5.200
AXkBHE [ NU0% 6.200
NU212 5,200
NU218 5,200

JTA



TS EFIERR(BA1~6BERD)

EREEAA : 2019/09/05 ~
8/1-6
=R B4 — ISR
EEE B51% &
348 (IRER) % | NU090 10600 | 78% [H:14.400
KBk (BI7E) 5 |_NU0O1 25300 | 38% :19.100, :X:20,000, +:21.300, H:19.000
[_NU005 8.300 80% [ JKA:11.400
U009 12.800 | 69% [/K:15.500, /:15.000
#E (FRFR) 5 [_NU002 15500 | 62% |4
| NU004 8,300 80% |/ . H:8.900
U008 25300 | 38% :21.100, +:18.800. H:23.100
RRE(HE)=-RH1E HECHE) % Uo7 26,200 62% |4 128,200
HER uo7 700 | 51% |A: :35.700
TB =0 (IR E) @M% | _NU0S 600 | 56% |4 600
|_NUOS 600 | 53% |A: 600
[ NU05 000 | 55% |4 600
|_NUO61 600 | 56% |4
| NU063 600 | 56% |4
065 600 | 56% |A:11.800. T H:11.600
R (ARER) & [_NU050 ,600 56% |A:12.800, £ H:11,600
[ NU052 600 | 56% |A:12.800. £ H:11.600
| NU054 600 | 56% H:11.600
|_NU058 100 | 55% 3.100. £ A:12.600
|_NU060 100 | 55% |A:15.300, £ H:12.600
062 600 | 56% |A:14.800. £ H:11.600
RRECAR)=8H B CRIEH) S | NU021 25,200 61% 27.300
EHER 022 25200 | 61% 27,300
RRECPAE)=AXRE HR(HH) % | NU091 27.500 50% 26.400., 7K:28.000. +:28,500
AKEH 090 13.600 | 75% 7.400
KR (BFE) =R AWk (BAFE) % | NUO83 29.300 25.900
HiE% 086 23.400 25.200
MR=3EE GIRER) NN U037 26.800 34,700
S (IR ER) % 26.800 30,800
BEE (PR =048 (BB | B EE (PED) u 3.200 7% :13.800, :X:12.200, 7:13,000, £:14.300
.200 4.800, X 4,000, £:15.300
u ,600 12,000 7 13.300
600 12.000. 7K:13.000, +:13.300
) R u ,600 ,100, .300
.000 800, 7K:14.200, +:14.300. H:13.200
u 600 ,000, 7K:14.500., A:12.600. £:13.100, H:14.100
600 .000, 7K:13.500. Z:11.600, £:12.100, H:13.100
FEIL=3#8 GIR &) i LLI 5 uot .100 8.600, H:35,600
S (IR ER) % 1 4.100 37700, 7:34.600
SRR =R1E R (V) % [_NU6GO 6.800 75% | KIK:6.500
|_NU605 7.600 72% | k7K:7.300
| NU607 7.300 73%
|_NU609 7.300 73%
U617 500 76%
NU621 .400 76%
NU625 500 76%
AER NU600 .800 75%
NU608 800 75%
NU610 400 80% | H H:5.700. 7k:6.400
NU612 400 80% 700, 7K:6.400
NU614 .800 75%
NU622 600 72%
NU626 .800 75%
() =B R (RER) 5 |_NUS5T .200 66%
NU557 7.200 66%
NU559 200 66%
NU563 .900 67%
NU565 500 69%
NU567 500 69%
NU571 500 69%
NU573 500 69% X
EEES NU552 200 66% | k7kA:6.900
NU556 7.200 66% | J7KA:6.900
NU558 800 67% | k7kA:6.500
NU560 .800 67% | koKA:6.500
NU562 200 66% | k7kA:6.900
NU564 7.200 66% | J7kA:6.900
NU566 7.200 66% | k7kA:6.900
NU572 7.200 66% | J7kA:6.900
iR (R =AKE PR () 5 |_NU211 .600 48%
NU219 .000 53%
AkBFE [ NU0SO 600 48%
NU212 6.000 53%
NU218 6.000 53%

JTA



TSR IEER(BA1T~24BEES)

EREEAA : 2019/09/05 ~
8/17-24
=40 B8 = ISR
EEE B51% &
348 (IRER) % | NU090 10600 | 78% [H:14.400
KB (B37E) & [_NU0OT 17.100 | 58% |A:17.400. %:15.000. £:19.100, B:13.700
|_NU005 8.300 80%
U009 12800 | 69% |A:13.900
#E (FRFR) 5 [_NU002 12.800 | 69% |A:13.900
| NU004 9.200 77% 10,200
U008 17.100 [ 58% 20,000, %:13.900. 1:14.400, H:22.300
WRCRR) =R\ S CRIEH) S | NU07 23,400 66% + H:25.500
HIE% uo7 400 [ 60% 28,000, H:29.000
TEE=0% (BBE) @3 | _NUOS 700 | 65% 12,600
|_NUOS 600 | 62% 2.900
[ NU05 600 | 65% 1,800
| NU0G61 300 | 66% 600
| NU063 300 | 66% 600
065 300 | 66% 600
$# (3B%A) % |_NU050 300 | 66% |EH:11.600
|_NU052 300 | 66% |+ H:11.600
| NU054 300 | 66% |+ H:11.600
|_NU058 800 | 64% [£:12.500, £ H:12.600
| NU06O 300 | 63% |+ H:12.600
062 600 | 65% 1.900
RRECAR)=8H B CRIEH) S | NU021 ,700 65% 24,600
EHER 022 700 | 65% 24,600
RRECPAE)=AXRE B CFIEH) $€ | NU091 .100 61% £:23.000. H:19.000
AKEH 090 600 | 75% 7.400
KR (BFE) =R AWk (BAFE) % | NUO83 .300 57% 2,200
HiE% 086 200 | 63% 22,900
MR=3EE GIRER) NN U037 .500 59% H:27.200
S (IR ER) % 500 | 59% [&+ H:27.200
BEE (PED) =ik ()| & &5 E (PED) u ,600 72% 112,800, £:13.300
600 | 70% [A:13.800, £:14.300
u 600 | 72% [+:13.300
600 | 72% [£:22.700. £:13.300
S8 (IR ER) ¢ [_NU 600 | 70% |H%£:13.800. H:14.300
600 | 70% [A:13.800, +:14.300
u 100 | 69% :14.300
100 | 69% :14.300
FEIL=3#8 GIR &) Fi LI 5 uot 500 45% 25,600
S (IR ER) % 1 2500 | 45% 25,600
RGBT =R1E R (ARER) & [_NU60 7,200 73% | KIKA:6.900
|_NU605 8.200 70% | kokA:7.900
| NU607 7.900 71%
|_NU609 7.900 1%
U617 6.900 75% |2+ H:7.200
NU621 7.000 74% |€+:7.100, B:7.200
NU625 6.900 75% | H:7.00
AER NU600 7.200 73% | kok:6.900
NU608 200 78% | X7k :6.900
NU610 .400 76% | A B:6.700
NU612 .400 76% 700
NU614 7.200 73% | k7KA:6.900
NU622 8.200 70% | k7kA:7.900
NU626 7.200 7 KK A:6.900
B RT)=EE B (FRER) 5 [_NUSS51 7.800 v | KIKA:7.500
NU557 7.800 KK A:7.500
NU559 7.800 v | KIKA:7.500
NU563 7.500 4
NU565 7.100 66%
NU567 7.100 66%
NU571 7.100 66%
NU573 7.100 66%
EEES NU552 7.800 63%
NU556 7.800 63%
NU558 7.400 65%
NU560 7.400 65%
NU562 7.800 3
NU564 7.800
NU566 7.800 3
NU572 7.800
iR (R =AKE PR () 5 |_NU211 6.400 50%
NU219 5500 57%
AXkBHE [ NU0% 6.400 50%
NU212 5,500 57%
NU218 5500 57%

JTA



TS5 RBEER(BA25~31BAEES)

EREEAA : 2019/09/05 ~
8/25-31
) &% ISR
E—75 Bz
EIEIES .
ShiH (IBER) 5 U090 78% |+ H:16.500
KB (B37E) & [_NU0OT 58% |%:15,000, £:18.700. H:13.700
|_NU005 80%
U009 69% |+:12.100
#E (FRFR) 5 [_NU002 69% |£:12.100
| NU004 77% :
U008 58% |
WRCRR) =R\ S CRIEH) S | NU07 66% £ 5:25.500
HIE% uo7 60% 28,000, H:29.000
1RME=iP 48 GRE) EE I N 65% .200, H:12.600
|_NUOS 62% 000
[ NU05 65% .000
| NU0G61 66% .800, H:11.600
| NU063 66% .800. H:11.600
065 66% 800, 600
FR#B (FRER) 5 |_NUOS0 66% .800, H:11.600
|_NU052 66% .800. .600
| NU054 66% 11,600, £:10.800
|_NU058 64% 2,500, :11.300, H:12.600
| NU06O 63% 12,600, £:11.800
062 65% 1,000
RRECAR)=8H B CRIEH) S | NU021 65% 24,600
EHER 022 65% 24,600
RRECPAE)=AXRE B CFIEH) $€ | NU091 61% :19,000. £ +:23.000, H:16.100
AKEH 090 75% 19.500
KR (BFE) =R AWk (BAFE) % | NUO83 57% 22200, +:23800
HiE% 086 63% 20,900, H:22.900
MR=3EE GIRER) NN U037 59% |+ [:27.200
S (IR ER) % 59% £ 5:27.200
BEE (PR =048 (BB | B EE (PED) u 74% :12.800. £:13,100, +:13.300
72% | H:13.800, £:14.100. £:14.300
u 74% | A H:12.600, %:13.100, £:13.300
74% | H:12.600. £:22.700, +:13.300
) R u 72% |A >:12,800
72% | A :14.300
u 70% K:12.600
72% K:11.600
FEIL=3#8 GIR &) i LLI 5 uot 45%
s (IRER) 1 45%
SRR =R1E TP (RER) F |_NU60 73%
|_NU605 7
| _NU607 71% | B A:8.200
|_NU609 7 £:8.200
U617 78% | X7k A:6.900
NU621 74% _|%:5.600. £:5.500. H:7.200
NU625 A H:7.200
AER NU600 73% | kok:6.900
NU608 78% | X7k A:6.900
NU610 80% | H:5.700, H:6.700
NU612 80% 5,700, H:6.700
NU614 73% | kokA:6.900
NU622 70% | k7kA:7.900
NU626 7 KK A:6.900
() =B R (RER) 5 |_NUS5T 6| kIKK:7.500
NU557 KK A:7.500
NU559 v | KIKA:7.500
NU563 4 7.800
NU565 66%
NU567 66%
NU571 66%
NU573 66%
EEES NU552 63%
NU556 63%
NU558 65%
NU560 65%
NU562 3
NU564
NU566 3
NU572
iR (R =AKE PR () 5 |_NU211 50%
NU219 57%
AKES NU090 50%
NU212 57%
NU218 57%

JTA



TS5 RBEER(TH2~26B - ES)

EREEAA : 2019/09/05 ~
7/22 7/23 7/24 7/25 7/26
4] E8 Eﬁigﬂ YINSEB| NS ER| IS KB IS KB IS KB
EEH EEH EEH EEE | EEH
i (ARER) % U090 13,500
KBR (BI76) 5 |_NUOOT 23.300
[ NU005 8,600
U009 19.700
48 (BRE) & [_NU002 16,300
|_NU004 7.900
U008 11.900
RECAB)=RE Hm (Am) % [ NU073 30.900
HiEH uo76 25,200
TRfE=;P 48 (IRFR) E RS |_NU051 .000
[ NU053 700
|_NU057 .000
[ NU061 800
|_NU063 .800
U065 500
4% (APER) & |_NU050 .700
[ NU052 100
|_NU054 400
[ NU058 600
|_NU06O .600
U062 ,100
RRECABR)=Bd EAEED 021 29.300
EHR U022 26.200
RROAB)=AXE |ER(HE)E 091 25700
kg% | NU09O 16.500
KR (@) =RH1E KR (BA7E) % 083 30.700
RIEHR U086 28.600
IMR=HE () INENFE 037 28.200
L | hEECRE) R U036 28.200
BEE (PED) =048 () |8 & 2 (hER) 3 20.200
U045 20.200
7 3.700
U049 2,400
PR (AR ER) 1.700
U 7.800
600
U ,600
FELL=3548 (RER) FALFE .200
i (ARER) % u 4,800
SR () =R1E S0 (BR¥R) 5 [_NU6O 6.800
[ NUG05 7.600
|_NU607 7.600
|_NU609 600
NU617 .800
NUG21 700
NU625 500
RiasE NU60O 800
NU608 .800
NU610 400
NU612 5.400
NUG14 6.800
NU622 7.600
NU626 6.800
B =B PR (ARER) 5 |_NUS51 7.200
NU557 7.200
NU559 7.200
NU563 200
NU565 .800
NU567 800
NUS71 .800
NU573 800
RS NU552 7.200
NU556 200
NU558 .800
NU560 800
NU562 7.200
NU564 7.200
NU566 7.200
NU572 200
AR (R =A KB PR (ERER) S [ _NU211 .600
NU219 800
AXEBF | _NU0SO 6,600
NU212 5,800
NU218 5,800

JTA



TN RFIEERBAT~14AEBES)

EREAE 2019/09/05 ~
8/7 8/8 8/9 8/10 8/11 8/12 8/13 8/14
P |onrsns|oirsns|orsre|vissa|siisre|oursne|virsre| 7L
EFEﬁ {i% EﬁAMB eLiiad 7 eLiiad 2. TR 2. TR Y

EA ERH

SRR (IRER) U090 14,600 16.000

AR (BS7E) % [_NU0O1 29.300 34,800
| NU005 17.300
U009 24,800
48 (BRE) & [_NU002 13,500
[ NU004 8.900
U008 ,800
RECAB)=RE W CHE) % | NU073 .000
HiEH uo76 ,000
== () #EE% | _NUOSI 800
| NU053 200
[ NU057 100
|_NUO61 ,300
[ NU063 300
U065 300
4% (APER) & |_NU050 .200
[ NU052 ,200
[ NUO54 000
[ NU058 500
[ NU060 .200
U062 ,000
RRECABR)=Bd EAEED 021 58.600
HEE U022 38.800
RROAB)=AXE |ER(HE)E 091 5.000
kg% | NU09O 7.600
PNAC T B (P % 083 3.100
AESE U086 4,000
N (AR ) INEASE 037 28.800
L [Ge#(GRE)%| NU36 9,800
BHE (PR =048 (R | & & B (P &) 3 4,700
U045 4,700
7 1.900
U049 7.200
PR (AR ER) 7.300
U 2,300
3.700
U 23.700
L= 48 (AR R) [EIE 37.600
S (FRE) % | NU 36.600
SR (8 =R 1E i (BRHR) % [ _NU6O .200
[ NUG05 500
[ NU607 500
[ NU609 500
NUG17 200
NUG21 400
NU625 200
RER NU60O 200
NU608 200
NU610 900
NUG12 .900
NUG14 200
NU622 500
NU626 200
B =B PR (ARER) 5 |_NUS51 .900
NUS57 900
NU559 .900
NU563 900
NUS65 .900
NU567 900
NUS71 .200
NU573 200
EER NUS52 7.900
NUS56 7.900
NU558 7.500
NU560 7.500
NUS62 7.900
NU564 7.900
NUS66 7.900
NU572 7.900
AR (R =A KB PR (ERER) S [ _NU211 10.000
NU219 10.000
AKBFE | _NUOSO 7,200
NU212 6.800

NU218 6,800 10,000 | 10,000 | 10,000 | 10,000

JTA



EREEAA : 2019/09/05 ~
8/15 8/16
TS B| LS %S
EH B2 | gy

EA
i (ARER) % U090 30.500
KBR (BI76) 5 |_NUOOT 19.000
[ NU005 8,300
U009 18.500
48 (BRE) & [_NU002 16,100
|_NU004 26.900
U008 7.800
RECAB)=RE Hm (Am) % [ NU073 7.500
HiEH uo76 5.900
TRfE=;P 48 (IRFR) E RS |_NU051 6.300
[ NU053 7.000
|_NU057 .300
[ NU061 800
|_NU063 .900
U065 300
4% (APER) & |_NU050 .200
[ NU052 ,200
|_NU054 500
[ NU058 23,500
|_NU06O 23.500
U062 23.500
RRECABR)=Bd EAEED 021 40.600
EHR U022 47.000
RROAB)=AXE |ER(HE)E 091 31.600
AKBFE | NU09O 33,500
KR (@) =RH1E KR (BA7E) % 083 24.100
RIEHR U086 32.900
IMR=HE () INEREE 037 26.200
L | hEECRE) R U036 33.200
BEE (R E) =448 (BH)| B HE (PEHD) 3 1.000
U045 1.000
7 4.700
U049 4,700
PR (AR ER) 1.400
U 6.800
35,800
u 35.800
FELL=3548 (RER) FAWLFE 27.000
i (ARER) % u 37.600
SR () =R1E S0 (BR¥R) 5 [_NU6O .200
[ NUG05 500
|_NU607 500
|_NU609 500
NU617 .200
NUG21 200
NU625 .200
RiasE NU60O .200
NU608 .200
NU610 .000
NU612 .000
NUG14 .200
NU622 500
NU626 .200
B =B P4 (FRER) 3 |_NUS51 7.900
NU557 7.900
NU559 7.900
NU563 7.600
NU565 7.200
NU567 7.200
NUS71 7.200
NU573 200
RS NU552 .900
NU556 .900
NU558 .900
NU560 .900
NU562 .900
NU564 .900
NU566 .900
NU572 .900
AR (R =A KB SR (HRER) 2 | _NU211 7.200
NU219 6.500
AXEBF | _NU0SO 10,000

NU212 10.000 10.000

NU218 10,000 10,000

TS5 BEER(BAIS~16BEES)

JTA



TSR GIERER(OAI~1THERS)

EREEAA : 2019/09/05 ~
9/1-17
P 23 - DS ER
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 15500 | 60% | H:15.200. %:13400. £:17.400, H:12.100
|_NU005 8,300
U009 12100
S (3RER) 3¢ |_NU002 12.100
|_NU004 9.100 0.200
U008 500 2,300, £:12.800. H:14,100
RR(CRE)=RE RERCRE) % Uo7 .200 23.200
Uo7 200 21,200, £:23.200
EiE% Uo7 200 23.200
Uo7 23,700 25,700
TRfE=;P 48 (IRFR) EH RS uo5 10.400 .300
|_NU053 11.600 ,000
|_NU057 10.400 .000
| NU061 .900 800
|_NU063 .900 800
U065 .900 800
48 (ARHR) % |_NU050 900 800
[ NU052 .900 800
|_NU054 900 0,600, £ H:10.800
| NUo58 10400 1,100, £:11.300, H:12,000
|_NU060 10.900 1,600, £:11.800. H:12.000
U062 10400 11.000
RRECABR)=Bd HE (CHE) # 021 20.500 22,500
EER U022 20,500 22,500
KR (@) =RHE KR (BA7E) % 083 1.400 9.400
AESE U086 7.800 :19,300. 19,400, H:20.900
M= (FRE) AT 037 7400 | 62% |+ H:25.200
Sl (R 5 | NUO36 7400 | 62% + H:25.200
A EE (FER) =4 (B 8)|& & B (F35) 3 .000 F:12.800, £:13.100. £:13.300, H:12.600
U045 ,000 F:13.800. £
7 .000 A H:12.600.
U049 ,000 A H:12.600. %
o (B % 600 B:13.100. 7K:12,000. #:12.800, H:13.300
U .000 F:13.800, %:14.100, +:14.300. H:13.600
600 000, 7 :14.100
u 600 000, 7k :13.100
FELL=3548 (RER) FALFE .000
i (BRER) % u ,000
SR () =R1E SR8 (IRER) F |_NU6O 5.600
| NU605 7.200
|_NU607 .900
| NU609 .900
617 600
| NU621 500
NU625 5.300
RiasE NU600 5,600
NU608 5.600
NU610 5,400 79% H:5.700, X 7K:5.600
NU612 5.400 5700 JJK:5.600
NU614 5,600
NU622 7.200
NU626 600
B =B PR (BRER) 5 |_NUS51 400
NU557 .400
NU559 .400
NU563 100
NU565 .900
NU567 .900
NU571 .900
NU573 .900
RS NU552 6.400
NU556 6.400
NU558 .200
NU560 .200
NU562 .400
NU564 .400
NU566 .400
NU572 .400
SRR (FRER)=AKE | heBOGRE | NU211 5.500
axe® | Nu2i2 4.300

JTA



TS5 RB I EER(9A23~30BEES)

EREEAA : 2019/09/05 ~
9/23-30
P 23 - DS ER
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 15500 | 60% |A:15.200. % H:13.400. £:17.400
|_NU005 8.300 78% :8,100
U009 11600 | 70% | AsKA:12.100
h#E (FRER) 3 [_NU002 11,400 A:12,100
|_NU004 9.100 900, 7k:9.200, H:10.200
U008 .500 ,300, £:12.800
RR(CRE)=RE RERCRE) % Uo7 .200 23.200
uoz7 ,200 21,200, £:23200
EiE% Uo7 200 23.200
uo7 23,700 25,700
= () EES U05 9.900 400, £ H:10.800
[ NU053 10.600 .600, £ H:11,500
|_NU057 .900 400, £ H:10.800
[ NU061 .900 ,800
|_NU063 .900 800
U065 ,900 ,.800
% (ADER) & |_NU050 .900 .800
[ NU052 .900 .800
|_NU054 .900 .600. £ H:10.800
| _NU058 10,400 100, £:11.300, H:12,000
|_NU060 10.900 500, 210,600, :11,200, £:11.400. H:12.000
U062 9.900 68% J 200, 7K K:10,400, + H:10.800
RRECABR)=Bd HE (CHE) # 021 .900 68% 21.800
EoR U022 .900 68% 21,800
KR (@) =RHE KR (BA7E) % 083 400 | 61% 9,400, H:23.800
RIEH U086 .800 67% :19.300, +:19.400, H:20,900
M= (FRE) AT 037 7400 | 62% |+ H:25.200
PR (IRER) 5 U036 7.400 62% + H:25.200
BEE (PED) =048 ()| B & 2 (hER) 3 ,000 72% [ A:12.800, £:13.100, +:13.300. H:12.600
U045 .000 70% | H:13.800, &
7 000 | 72% |HE:12.600.
U049 ,000 2% B 12,600, %
o (B % 600 | 71% | H:13100. 7k:12.000, £:12.800. H:13.300
U ,000 70% | F:13.800, #:14.100, £:14,300. H:13.600
600 | 69% |X:12.000. 7 2600, H:14.100
U 600 1% J .000, kE:12, :11.600. H:13.100
L= (FRE) LU 5 000 | 64% |£:23000. +:24.500
Shil (GRE) [ NU ,000 64% :23,000, H:24.500
SR () =R1E S0 (BR¥R) 5 [_NU6O 5.600 78% | XIKA:5.300
|_NU605 7.200 72% | KIKA:6.900
|_NU607 .900 73%
[ NU609 .900 73%
617 .300 79% |& 1 A:5.600
[ NU621 500
NU625 5.300 5.600
RiasE NU60O 5.600 k5,300
NU608 5.600 78% | k7KA:5.300
NU610 5,400 79% H:5.700
NU612 5.400 79% _|HH:5.700
NUG14 5.600 78% | JIKA:5.300
NU622 7.200 72% | JIKA:6.900
NU626 600 | 78% | ksKA:5.300
B =B PR (BRER) 5 |_NUS51 .400 7% | KIKA:6.100
NU557 400 7% | k7KA:6.100
NU559 .400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 .900 75%
NUS71 .900 75%
NU573 .900 75%
RS NU552 6.400 67%
NU556 6.400 67%
NU558 200 | 73%
NU560 .200 3%
NU562 .400 7
NU564 400 7%
NU566 .400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.500 55
axe® | Nu2i2 4.300 64%

JTA



TSR GIERER(10A1~8BEESD)

EREEAA : 2019/09/05 ~
10/1-8
P 23 - TIN5 ER
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 15500 | 60% | H:15.200. %:13400. £:17.400, H:12.100
[ NU005 8,300 78%
U009 12100 | 68%
h#E (FRER) 3 [_NU002 12,100 68%
|_NU004 8.900 7%
U008 .500 60% 2,300, +:12.800, H:19.500
RR(CRE)=RE RERCRE) % Uo7 .200 68% 23.200
uoz7 ,200 1% 21,200, £:23200
EiE% Uo7 200 | 68% 23.200
uo7 23,700 64% 25,700
TRfE=;P 48 (IRFR) EEEES uos 9.900 68% .800
|_NU053 10.600 66% .500
|_NU057 .900 68% 800
|_NUO061 ,900 68% ,.800
|_NU063 .900 68% 800
U065 .900 68% 800
% GIRER) % |_NU050 .900 68% 800
[ NU052 .900 68% ,800
|_NU054 900 68% 0,600, £ H:10.800
| NU058 400 66% 1,100, £:11.300, H:12,000
|_NU060 600 | 66% 1.300. £:11.600. H:12.000
U062 ,200 67% 11,000
RRECABR)=Bd HE (CHE) # 021 .900 68% 21.800
EoR U022 .900 68% 21,800
KR (@) =RHE Iz (PH7E) % 083 400 | 61%
RIEH U086 .800 67%
ERASEIETE ) INENFE 037 7.400 62%
L | GRS | NU036 7.400 62%
BEE (PED) =048 ()| B & 2 (hER) 3 .000 12% :13.300, H:12.600
U045 ,000 70%
7 000 | 72%
U049 ,000 2%
EXIEEED 600 | 71% 112800, B:
U ,000 70% :14,300, H:13.600
600 | 69% 2600, H:14.100
U 600 1% 211,600, H:13.100
FELL=3548 (RER) FALFE .000 64% 123,
i (BRER) % u ,000 64% :23.000, H:2
SR () =R1E S0 (BR¥R) 5 [_NU6O 5.600 78% | XIKA:5.300
|_NU605 7.200 72% | KIKA:6.900
|_NU607 .900 73%
[ NU609 .900 73%
617 .300 79% |& 1 A:5.600
[ NU621 500
NU625 5.300 5.600
RiasE NU60O 5.600 k5,300
NU608 5.600 78% | k7KA:5.300
NU610 5.400 79% H:5.700
NU612 5.400 79% _|HH:5.700
NUG14 5.600 78% | JIKA:5.300
NU622 7.200 72% | JIKA:6.900
NU626 600 | 78% | ksKA:5.300
B =B PR (BRER) 5 |_NUS51 .400 7% | KIKA:6.100
NU557 400 7% | k7KA:6.100
NU559 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 .900 75%
NUS71 .900 75%
NU573 900 75%
RS NU552 6.400 67%
NU556 6.400 67%
NU558 200 | 73%
NU560 .200 3%
NU562 .400 7
NU564 400 7%
NU566 .400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.300 56
axe® | Nu2i2 3.900 68%

JTA



TS5 RBEER(10AI~16BEES)

EREEAA : 2019/09/05 ~
10/9-16
=40 @4 - YIS EE
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 15500 | 60% |F:15.200. %:13.400. £:17.400. H:12.100
[ NU005 8,300
U009 12,100
b (FRER) % |_NU002 12,100
[ NU004 8.900
U008 .500 2,300, +:12.800, H:19.500
RARCHE)=RE R CRE) § [_NU07 200 23.200
uoz7 ,200 21,200, £:23.200
E=E] Uo7 200
uo7 23,700
== R E) (RS uos 10.400
[ NU053 11.600
[ NU057 10.400
[ NU061 .900 ,800
[ NU063 .900 800
U065 ,900 ,.800
8 GIBHR) % [_NU0S0 .900 800
[ NU052 .900 ,800
[ NUO54 900 600, T H:10.800
| NU058 10.400 100, £:11,300. H:12,000
[ NU060 10.900 £:11.600. H:12.000
U062 10.400
RRECABR)=Bd HE (CHE) # 021 20.500
EoR U022 20.500
KR (BEE) =R 18 Iz (PH7E) % 083 1.400
AESE U086 7.800
M= (FRE) INEASE 037 7.400
L [ @G| NU0s6 7.400
A E (P E) = 8|8 5 E (P #) 3 000 :13.300. H:12.600
U045 ,000 70% B
7 000 | 72% |H
U049 ,000 12% B
o (B % 600 | 71% |H 112,800 H:
U ,000 70% A :14,300, H:13.600
600 | 69% [k . 2.600. H:14.100
U 600 1% J K t:12, 211,600, H:13.100
L= 48 (AR R) [EIES 000 | 64% |%:23.000. +:24.500
Shil (GRE) [ NU ,000 64% :23,000, H:24.500
SR (8 =R 1E A (R E) % [_Nueo 5.600 78% | JOKAS5.300
| NU605 7.200 72% | kIKA:6.900
[ NU607 .900 73%
[ NU609 .900 73%
617 300 79% | %t H:5600
[ NU621 500
NU625 5.300 5.600
RiasE NU60O 5.600 k5,300
NU608 5.600 78% | JIKA:5.300
NU610 5.400 79% 85700
NUG12 5.400 79% | HH:5.700
NUG14 5.600 78% | JIKA:5.300
NU22 7.200 72% | JIKA:6.900
NU626 600 | 78% | ksKA:5.300
B =B PR (BRER) 5 |_NUS51 400 7% | A IKK:6.100
NUS57 400 7% | k7KA:6.100
NUS59 400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 900 75%
NUS71 .900 75%
NU573 900 75%
EER NUS52 6.400 67%
NUS56 6.400 67%
NU558 200 | 73%
NU560 200 3%
NUS62 400 7
NU564 400 7%
NUS66 400 7
NU572 400 7%
SRR (FRER)=AKE | heBOGRE | NU211 5.300 56
AKBFE | NU212 3.900 68%

JTA



IS %RBIEER(10A17~24BEED)

EREEAA : 2019/09/05 ~
10/17-24
P 23 - DLFSER
s | B0 e
KR (BT =48 (B¥) | ABx (EI78) 3 |_NUOO1 15500 | 60% | H:15.200. %:13400. £:17.400, H:12.100
|_NU005 8,300
U009 12100
S (3RER) 3¢ |_NU002 12.100
|_NU004 8.900
U008 500 2,300, £:12.800. H:19.500
RR(CRE)=RE RERCRE) % Uo7 .200 23.200
Uo7 200 21,200, £:23.200
EiE% Uo7 200 23.200
Uo7 23,700 25,700
TRfE=;P 48 (IRFR) EH RS uo5 10.400 -300
|_NU053 11.600 ,000
|_NU057 10.400 .000
| NU061 .900 800
|_NU063 .900 800
U065 .900 800
48 (ARHR) % |_NU050 .900 800
[ NU052 .900 800
|_NU054 900 0,600, £ H:10.800
[ NU058 10400 1,100, £:11.300, H:12,000
|_NU060 10.900 1,600, £:11.800. H:12.000
U062 10400 11.000
RRECABR)=Bd HE (CHE) # 021 20.500 22,500
EER U022 20,500 22,500
KR (@) =RHE KR (BA7E) % 083 1.400 1
AESE U086 7.800 7%
ERASEIETE ) INENFE 037 7.400 62
Sl (R 5 | NUO36 7400 | 62% .
ZEE (PER) = (B )| B & 2 (R Ep) 3 000 | 72% |H:12.800. £:13.100, £:13.300. H:12.600
U045 000 | 70% |A:
7 000 | 72% |B
U049 000 | 72% B
o (B % 600 | 71% |A: 112800, B:
U ,000 70% |A:13.800, % :14,300. H:13.600
600 | 69% |k 2600, H:14.100
u 600 | 71% 111,600, B:13.100
FELL=3548 (RER) FALFE .000 64% 123,
Sl (GBER) % | NU 000 | 64% |F:23000, A:2
SR () =R1E S0 (BR¥R) 5 [_NU6O 5.600 78% | XIKA:5.300
[ NUG05 7.200 72% | k7KA:6.900
|_NU607 .900 73%
[ NUG09 .900 73%
617 .300 79% |& 1 A:5.600
[ NU621 500
NU625 5.300 5.600
RiasE NU60O 5.600 k5,300
NU608 5.600 78% | k7KA:5.300
NU610 5,400 79% H:5.700
NU612 5.400 79% _|HH:5.700
NUG14 5.600 78% | JIKA:5.300
NU622 7.200 72% | kIKA:6.900
NU626 600 | 78% | ksKA:5.300
B =B PR (BRER) 5 |_NUS51 .400 7% | KIKA:6.100
NU557 400 7% | k7KA:6.100
NU559 .400 7% | JKA:6.100
NU563 100 69%
NU565 .900 75%
NU567 .900 75%
NU571 .900 75%
NU573 .900 75%
RS NU552 6.400 67%
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XAC883 | 28HA] | 5. 55% * 300 458 57% 1 H:5.800
RABR | RAC872| 28E18) | 7 37" 700 458 40% 7,600
XAC874 | 28HAI | 7 27,700 458 40% 7,600
XAC876 | 28HA] | 7. 27,700 458 40% 7,600
| RAC880 | 28HA | 7. 1 H:7.700 458 40% 1 H:7.600
1| 7 1 H:7.700 458 40% 1 H:7.600
_ K i | 5 55% |+ B:6300 458 57 £ 8:5.800
RGP 5% | EMGIEDZ| RACSI5 | 20E8T | 0 04 I
8% | RACI6| 28E1F1 | 40% 458
RV BEAR 404 458
40% 458
46% 458 46%
288 46% 458 46%




MEB8E5| 1 BER(9A18~21 BEES) RAC

BEEAE : 2019/09/05 ~

RPN D 9/18 9/19 9/20 9/21
- wy | R O A 317 E| ERITA] KRA7E| AT A] 517 E| 7 Al RIS
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
(AR =R shif (FRE) | RACT05] 28H B 700 7.700 9.500 8.500 9,500 8.500 9,500 8.500
GiE% | RAC708| 28 700 7.700 8.700 7.700 8.700 7.700 8.700 7.700
Sh#8 (GRER) | RAC801 28 .500 8.000 9.300 8.900 8.900
Z&% | RACB04| 28 500 8.000 500 8.000
=& | RACS33| 28 900 | 9.800 400 | 10,300
RAC837| 28 900 | 9.800 10300
GiE% | RAC834| 28 900 | 9.800
RAC838 | 28 900 | 9.800
PRBE) =AKE | HER(GRE) | RACET 28 ,800 5.500
RAC873| 28 600 7.300
RAC87! 28 .600 7.300
RAC879| 28 7.600 7.300
| RAC881| 28 7.600 7.300
RAC883| 28 5.800 5.500
AKEF RAC87. 28 7.600
RAC874| 28 7.600
RAC87! 28 7.600
[ RACBBO| 28 7.600
| RAC882 28 7.600
RAC884| 28 5.800
(W) =5 | h#GRE) 5| RAC8I5| 28 9,550
5#®% | RACBI6| 28 9.550
R (RE)=EEKRE [P (IRE) 5| RACS53 | 28 5,700
HEXEFE | RACBSA| 28 5.700
HRBEH)=5NE [hEBGRE) F| RACT21[ 28 7.700
5EESE | RACT24| 28 7.700




BEEAE : 2019/09/05 ~
PRI P 9/22
- . FARIMTA| £1§517B FE A KB
FH FH R EEE
BEASAIE | BEAMAR BR
i (RER) =R 1B 4l (FRE) | RAC705 | 28H B
HiE% RAC708| 28
(BB =B Sh#% (FRER) 5¢ | RAC8O1 | 28
BEHER RAC804| 28
RlE-ES E&% | RAC833| 28
RAC837| 28
GiE% | RAC834| 28
RAC838| 28
PRBE) =AKE | HER(GRE) | RACET 28
R 28
28
28
28
28
AKESR 28
28
28
28
28
28
SHRE(RE) =5 i (ARER) ¢ 28
5% 28
R (RE) =EERS [P RE) R 28
EESNCED 28
HRBEH)=5NE [hEBGRE) F| RACT21[ 28
5IE% | RACT24| 28

FERE5 EER(OA2BERS)

RAC



[R—N\—%FGIHEEXR(BA29~IIBEEN)

EREEAA : 2019/09/04 ~
3/29-31
FH# A—R—%4&
L] E% ad
AR e éﬁf‘;g e
HEE (I =R 1E S48 (ARER) % | RACT05] 55 7.500 72% _|E
A8 RAC708| 55 7.800 1% I
) -EE S48 (ARER) % | RAC8O1 | 55 8.400 60% )
B RAC804| 55 7.100 66% | H:7.300
AE-EE B RAC833| 55 500
RAC837| 55 500
EiE% RAC834| 55 500
RAC838| 55 500
(BB =AKE bk (FRER) 3 | RAC8T 55 .900
RAC873| 55 500
55 500
55 500
55 500
55 .900
AKEH 55 500
55 500
55 500
55 500
55 500
55 900
SR (BB =538 Shi (IRER) 55 .900
Y 55 ,900
SRR (RER) =ERAR [ b GRER) 55 .900
L | #wEXEH 55 ,900
(BB =5BE Shif (IRER) 55 .000
5#MESE | RACT24] 55 000

RAC



[R—N—%FGIHEEXRAAI~13AEBESD)

EREEAA : 2019/09/04 ~
4/1-13
FH A—N—%F
=4 E& -
BB | g | TR0 i
HEE (I =R 1E S# (FBT) % | RAC705| 56 6.800 74% _|# T H7.100
AiE RAC708| 55 7.100 72% | k7KA:6.800
) -EE S (FRFR) % | RACBOT | 56 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
RiE=EH B RAC833| 55 700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AkBHE 55 .300 48% :6.700
55 300 48% :6.700
55 .300 8% :6.700
55 300 48% :6.700
55 .300 8% :6.700
55 800 60% :5.400
HEE B =53k S (IR ER) % 55 8.900 24% :9.100
Y 55 8.900 44% :9.100
R BE-EEAR [REGRE ¥ 55 4900 | 43% +15.100
[ESN-E 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
5#MESE | RACT24] 55 7500 | _46%

RAC



[R—/{—%BIEBER(AA14~20BHERS) RAC

EW#EMAA : 2019/09/04 ~

4/14-20
39 A= —5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AR B 55 .300 48% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




[R—/{—%BIEBER(AA21~271BERS) RAC

EW#EMAA : 2019/09/04 ~

4/21-27
39 A—"—5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AR B 55 .300 48% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




TR—N—%FGIEEXRGAN~18BEEN)

EREEAA : 2019/09/04 ~
5/11-18
FH A—N—%F
=4 E& -
BB | g | TR0 i
HEE (I =R 1E s (FBEE) 3 | RAC705] 55 6.800 74% | X:7.300. £+ H:7.100
HiE RAC708 55 7.100 72% X IKA:6.800
(R =B b (BRER) % | RACBO1 | 55 7.500 62% [ AIKAK:7.200
=i RAC804 55 7.500 62% XIKK:7.200
RiE=EH B RAC833| 55 700 28%
RAC837 55 ,700 28%
EiE% RAC834| 55 .700 28%
RAC838 55 ,700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC87: 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 ,800 60% :5,400
AkBHE 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% :5,400
HEE B =53k S (IR ER) % 55 8.900 24% :9.100
il 55 8.900 44% :9.100
R BE-EEAR [REGRE ¥ 55 4900 | 43% +15.100
[ESN-E 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
SHRER RAC724 55 7.500 46%

RAC



[R—/{—%BIEBERGA19~31BERS) RAC

EW#EMAA : 2019/09/04 ~

5/19-31
39 A——5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AR B 55 .300 48% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




TR—N\—5%GIEER(4A28~30BEFEN)

EREEAA : 2019/09/04 ~
4/28 4/29 4/30
FH9 A== | 2—i—5# | -5
= B8 R e | amm | Ea
4 EEE e
R =R S# (FBT) % | RAC705| 56 6.800 | 6.800 6.800
HiE RAC708 55 6800 | 6.800
(R =B b (BRER) % | RACBO1 | 55 7200 | 7
=i RAC804| 55 7200 | 7
RE-E& B RAC833| 55 700
RAC837 55 ,700
EiE% RAC834| 55 .700
RAC838 55 ,700
(BB =AKE 48 (RER) 5 | RACST 55 .800
RAC87: 55 .300
RAC875| 55 .300
RAC87! 55 .300
| RAC881| 55 .300
RAC88: 55 800 | 4.
AkBF |RAC872| 55 .300
RAC874 55 1300 | 6
RAC876 | 55 .300
[ RACBBO | 55 300
| RAC882| 55 .300
RAC884 |55 800
PR =558 S (ARER) % [ RACBI5 [ 55 8.900
EF) RAC816| 55 8.900
SRR (FRER) =WEKRE [ h#R (I F | RACBS3 | 55 4.900
| #wxXxE% | RAC854[ 55 4,900
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 7.500
SHRER RAC724 55 7.500

RAC



R—N—%BIEERGAI~8BEFES)

EREEAA : 2019/09/04 ~
5/1 5/2 5/3 5/4 5/5 5/6 5/7
FH A% | A58 | A—r—5%8 | 2~ 58 | A—ri—5# | 2~ —%8 | 2~ %8
P R X | ey ey g e p—— p—p—

4 EEE e R e R e

R =R S# (FBT) % | RAC705| 56 7.500 9700 700 | 9700 700 500 6.800

AiE RAC708| 55 7.100 7500 8500 .700 700 6.800

) -EE S (FRFR) % | RACBOT | 56 7.700 9.000 700 .000 7.200

B RAC804| 55 7.500 7700 |_7.200

BE-EH B RAC833| 55 .700 .200 .700

RAC837| 55 .700 .700

EiE% RAC834| 55 .700 .700

RAC838| 55 .700 .700

iR (R =AKE bk (FRER) 3 | RAC8T 55 .600 .800

RAC873| 55 .900 300

RAC875| 55 .900 .300

RAC879| 55 .900 .300

| RAC881| 55 .900 300

RAC883 | 55 600 800

AkBF |RAC872| 55 .400 .300

RAC874| 55 400 300

RAC876 | 55 .400 .300

[ RAC880| 55 400 300

| RAC882| 55 .400 .300

RAC884 | 55 100 |_4.800

PR =558 S (ARER) % [ RACBI5 [ 55 100 | _8.900

5 RAC816| 55 100 900
SRR (FRER) =WEKRE [ h#R (I F | RACBS3 | 55 5.100
| #wxXxE% | RAC854[ 55 5.100
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 7.500
5#MESE | RACT24] 55 7.500

RAC



EREEAA : 2019/09/04 ~
5/9 5/10
FH A= | A58
=40) L
BAIR " gmm | an

HEE (I =R 1E S# (FBT) % | RAC705| 56 7.100
HiE RAC708 55 7.100
) -EE S (FRFR) % | RACBOT | 56 7.500
=i RAC804 55 7.500
RE-EH B RAC833| 55 700
RAC837 55 ,700
E=E] RAC834| 55 700
RAC838 55 ,700
iR (R =AKE bk (FRER) 3 | RAC8T 55 .400
RAC87: 55 700
55 700
55 700
55 700
55 400
AKEH 55 .700
55 700
55 700
55 700
55 700
55 400
PR =558 S (ARER) % [ RACBI5 [ 55 100
il RAC816 55 ,100
SRR (FRER) =WEKRE [ h#R (I F | RACBS3 | 55 5.100
HEXRESK | RACS54| 55 5.100
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 7.500
SHRER RAC724 55 7.500

[R——5%B 1 EER(GAI~10AEED)

RAC



[R——%BEERGA1~14REBED)

EREEAA : 2019/09/05 ~
6/1-14
FH A—N—%F
=4 E& -
BB | g | TR0 i
HEE (I =R 1E S# (FBT) % | RAC705| 56 6.800 74% _|# T H7.100
AiE RAC708| 55 7.100 72% | k7KA:6.800
) -EE S (FRFR) % | RACBOT | 56 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
RiE=EH B RAC833| 55 700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AkBHE 55 .300 48% :6.700
55 300 48% :6.700
55 .300 8% :6.700
55 300 48% :6.700
55 .300 8% :6.700
55 800 60% :5.400
HEE B =53k S (IR ER) % 55 8.900 24% :9.100
Y 55 8.900 44% :9.100
R BE-EEAR [REGRE ¥ 55 4900 | 43% +15.100
[ESN-E 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
5#MESE | RACT24] 55 7500 | _46%

RAC



[R—/—%BIEBERGAIS~21BERS) RAC

EW#EMAA : 2019/09/05 ~

6/15-21
39 A——5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AR B 55 .300 48% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




[R—/—%BIBER(6A22~308ERS) RAC

EW#EMAA : 2019/09/05 ~

6/22-30
39 A—N—5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 .300 48% :6.700
55 .300 48% :6.700
55 .300 48% :6.700
55 .300 8% :6.700
55 800 60% -5.400
AR B 55 .300 48% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 300 8% :6.700
55 .300 8% :6.700
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




[R—N—%FIHEEXR(TAI~14BBESD)

EREEAA : 2019/09/05 ~
7/1-14
FH A—N—%F
=40) L
AR e é\]%’\ig =
HEE (I =R 1E s (FBEE) 3 | RAC705] 55 7.200 73% _|& 1 A:7500
HiE RAC708 55 7.500 72% | KIKA:7.200
B TET B b8 (BRER) % | RACBO1 [ 55 100 61% | A MIK:7.800
=i RAC804 55 ,100 61% | KIKA:7.800
RiE=EH B RAC833| 55 700 30%
RAC837 55 ,700 30%
EiE% RAC834| 55 .700 30%
RAC838 55 ,700 30%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 54% :6.400
RAC87: 55 .300 50% :6.700
55 .300 50% :6.700
55 .300 50% :6.700
55 .300 50% :6.700
55 .800 54% :6.400
AkBHE 55 .300 50% :6.700
55 .300 50% :6.700
55 .300 50% :6.700
55 .300 50% :6.700
55 .300 50% :6.700
55 .800 54% :6.400
HEE B =53k S (IR ER) % 55 100 47% :9.300
il 55 100 47% :9.300
R BE-EEAR [REGRE ¥ 55 100 | 45% +15.300
[ESN-E 55 .100 45% :15.300
(BB =5BE Shif (IRER) 55 .800 42%
SHRER RAC724 55 ,.800 42%

RAC



TR—N—%FGIHEER(TAI~21BEEN)

EREEAA : 2019/09/05 ~
7/15-21
FH A—N—%F
P B2 | wAsg oo E=5H
EEE B51% &
HEE (I =R 1E s (FBEE) 3 | RAC705] 55 7.800 71% | H X:7.500, KA:7.200
A8 RAC708| 55 7.800 71% | 7,500, KA:7.200
) -EE s (FBER) 3 | RACBOT| 55 8.500 59% X:8.200. 7K:7.800. A:8.100
B RAC804| 55 8,500 59% | X:8.000, k7,800
RiE=EH B RAC833| 55 .500 700
RAC837| 55 500 JKA:9.700
EiE% RAC834| 55 500 Jk:9.700
RAC838| 55 500 £:9,700
iR (R =AKE bk (FRER) 3 | RAC8T 55 .500 49 :X:5.900, 7K7:5.800
RAC873| 55 .900 46% | H X:6.500, JKA:6.300
55 .900 46% | H %:6.500. 7K:6.300
55 .900 46% | H X:6.500, JKA:6.300
55 .300 50%
55 500 49% | H X:5.900. JKA:5.800
AkBHE 55 .900 46% | H %:6.500, 7KK:6.300
55 .900 46% | K:6.500, 7k A:6.300
55 .900 46% | H 4:6.500, 7K:6.300
55 .900 46% | K:6.500, 7k £:6.300
55 .300 50%
55 500 49% [ H K:5.900, 7k £:5.800
PR =558 P48 (ADER) ¢ 55 .100 29% |8 X:11.900. KA
i 55 100 29% | H:X:11.900, KA:9.100
G I =EERE | bl GRED % 55 .100 30% | H 18,900, 7k:15.100
EESN-T 55 .100 30% | A X:18.900, 7KA:15.100
(BB =5BE Shif (IRER) 55 .800 42%
5#MESE | RACT24] 55 800 | 42%

RAC



[R—N\—%FGIHEER(TA21~31BEEN)

EREEAA : 2019/09/05 ~
7/27-31
T A= =%
=40) L
il TR %
HEE (I =R 1E S# (FBT) % | RAC705| 56 7.500 72% _|%:7.800
HiE: RAC708 55 7.500 7. H%£:7.800
(R =B b (BRER) % | RACBO1 | 55 8.200 A %£:8.500
= RAC804 55 8.200 H%£:8.500
RE-EH B RAC833| 55 500
RAC837 55 600
EiE% RAC834| 55 500
RAC838 55 500
iR (R =AKE bk (FRER) 3 | RAC8T 55 .900
RAC87: 55 .500
RAC875| 55 500
RAC87! 55 .500
RAC883 |55 .900
AKEF RAC87. 55 ,500
RAC874] 55 500
RAC876 | 55 500
[ RACBBO| 55 500
RAC884| 55 900
PR =558 S48 (ARER) % [ RACBI5 [ 55 .900
55 RAC816| 55 ,900
SRR (FRER)=WEKRE [ h#R (IR F | RACBS3 | 55 .900
| | #=XB% |RAC8S4| 55 900
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 .800
SHMER RAC724 55 ,.800 42%

RAC



[R——5%1G1IEER(BA1~6BEES)

EREEAA : 2019/09/05 ~
8/1-6
FH A= "—5%&
= B2 | wAsg oo E=5H
EEE B51% &
HEE (I =R 1E S# (FBT) % | RAC705| 56 7.500 72% | AL H:7800
HiE RAC708 55 7.800 1% K IK:7.500
) -EE S (FRFR) % | RACBOT | 56 8.200 61% |A+H:8500
=i RAC804 55 8.500 59% XIKA:8.200
BiE-EH B RAC833 [ 55 500
RAC837 55 600
E=E] RAC834| 55 500
RAC838 55 500
(BB =AKE 48 (RER) 5 | RACST 55 .100 52 1+ H:6.500
RAC87: 55 700 47% |+ ,900
RAC875| 55 700 47% | H:6.900
RAC87! 55 700 47% |+ ,900
RAC883 |55 100 52% | & H:6.500
AKEH RAC87. 55 700 7 T ,900
RAC874] 55 700 7% |+ H:6.900
RAC87! 55 700 7 xT .900
[ RACBBO| 55 700 7% |+ H:6.900
RAC884| 55 100 52% |+ H:6.500
PR =558 S48 (ARER) % [ RACBI5 [ 55 .900 30% |+ H:12.100
CFl RAC816 55 .900 30% |+ .100
SR (IR -EEAS [ shal (IE) ¢ [ RACB53[ 55 .900 31% [+ H:19.100
HEKRESK | RACS54| 55 ,900 31% |+ .100
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 .800 42%
SHMER RAC724 55 ,.800 42%

RAC



TR—N—%FGIHEERBA1T~24BEEN)

EREEAA : 2019/09/05 ~
8/17-24
FH A=
=40) L
AR e g\l%’\ig e
HEE (I =R 1E s (FBEE) 3 | RAC705] 55 200 70% | % £ H:8.500
HiE: RAC708 55 ,500 69% | KIKA:8,200
(R =B b (BRER) % | RACBO1 | 55 .800 58% | A kK:8.500
= RAC804 55 800 58% | KJKA:8,500
RE-EH B RAC833| 55 200 7
RAC837 55 ,200 7
E=E] RAC834| 55 200 7
RAC838 55 ,200 7
iR (R =AKE bk (FRER) 3 | RAC8T 55 .100 52
RAC87: 55 700 47%
RAC875| 55 700 47%
RAC87! 55 700 47%
RAC883 |55 100 52%
AKEH RAC87. 55 700 7
RAC874] 55 700 7
RAC87! 55 700 7
[ RACBBO| 55 700 7
RAC884 55 100 52
PR =558 S48 (ARER) % [ RACBI5 [ 55 .900 30
55 RAC816| 55 900 | 30%
SRR (FRER)=WEKRE [ h#R (IR F | RACBS3 | 55 .900 31%
| | #=XB% |RAC8S4| 55 900 | 31%
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 500 49%
SHMER RAC724 55 7.500 49%

RAC



TR—N\—%GIHEEXR(BA2~IIBEEN)

EREEAA : 2019/09/05 ~
8/25-31
FH A—"—5%&
=40) L
AR e g\l%’\ig e
HEE (I =R 1E s (FBEE) 3 | RAC705] 55 200 70% | % £ H:8.500
HiE: RAC708 55 ,500 69% | KIKA:8,200
(R =B b (BRER) % | RACBO1 | 55 .800 58% | A kK:8.500
= RAC804 55 800 58% | KJKA:8,500
RE-EH B RAC833| 55 200 7
RAC837 55 ,200 7
E=E] RAC834| 55 200 7
RAC838 55 ,200 7
iR (R =AKE bk (FRER) 3 | RAC8T 55 .100 52
RAC87: 55 700 47%
RAC875| 55 700 47%
RAC87! 55 700 47%
RAC883 |55 100 52%
AKEH RAC87. 55 700 7
RAC874] 55 700 7
RAC87! 55 700 7
[ RACBBO| 55 700 7
RAC884 55 100 52
PR =558 S48 (ARER) % [ RACBI5 [ 55 .900 30
55 RAC816| 55 900 | 30%
SRR (FRER)=WEKRE [ h#R (IR F | RACBS3 | 55 .900 31%
| | #=XB% |RAC8S4| 55 900 | 31%
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 500 49%
SHMER RAC724 55 7.500 49%

RAC



TR—N\—%FGIHEER(TA2~268EFEN)

EREEAA : 2019/09/05 ~
7/22 7/23 7/24 7/25
FH A= | 2—i—5@ | 25l | 2—1—5#

= T} vy ey e g

4 EEE e R

R =R S# (FBT) % | RAC705| 56 7.800 9.400 9.400 9.400

AiE RAC708| 55 7.800 7.800 7.800

) -EE S (FRFR) % | RACBOT | 56 8.500 9.400

B RAC804| 55 8500
RE-E& B RAC833| 55 500
RAC837| 55 500
EiE% RAC834| 55 500
RAC838| 55 500
(BB =AKE 48 (RER) 5 | RACST 55 .500
RAC873| 55 .900
RAC875| 55 .900
RAC879| 55 .900
RAC883| 55 500
AXEBH |RAC872| 55 .900
RAC874| 55 .900
RAC876 | 55 .900
| RAC880| 55 .900
RAC884| 55 500
PR =558 48 (FRE) 5 | RAC815| 56 100
EF) RAC816| 55 100
BB =TEKXS [ haE(GNE) % | RAC853| 55 100
HEKRESK | RACS54| 55 100
b (FRER) % | RACT21| 55 800
5#MESE | RACT24] 55 .800

RAC



[R—N—%FGIHEEXRBAT~14BAEBES)

EREEAA : 2019/09/05 ~
8/7 8/8 8/9 8/10 8/11 8/12 8/13 8/14
=40} B4 FH A= | A—i—5@ | 25— | 2—/—5® | 21 —%B | A5 | 2——%8 [ 5@
BAIR " gmm | mme | oR@ | @RE@ | SRE | R4 | GRS | @R
R =R S# (FBT) % | RAC705| 56 200 10400 9.200
HiE RAC708 55 ,200 9.200
(R =B b (BRER) % | RACBO1 | 55 .600 9,400
=i RAC804 [ 55 900 |_8.900
RE-E& B RAC833| 55 500 [_11.000
RAC837 55 .500 [ 11,000
E=E] RAC834| 55 500 [_11.000
RAC838 55 .500 [ 11,000
(BB =AKE 48 (RER) 5 | RACST 55 .100 .100
RAC87: 55 100 100
RAC875| 55 100 100
RAC87! 55 100 100
RAC883 |55 100 100
AKEH RAC87. 55 7.300 100
RAC874] 55 7.300 100
RAC87! 55 7.300 100
[ RACBBO| 55 7.300 100
RAC884| 55 6.900 8.300
PR =558 S48 (ARER) % [ RACBI5 [ 55 13100 13.100
55 RAC816| 55 13.100 13.100
R (IER)-BEAR | shEL(IE) ¥ [ RACB53[ 55 20.800 20,800
HEKRESK | RACS54| 55 20.800 20.800
b (FRER) % | RACT21| 55 21,500 21,500
SHMER RAC724 55 21,500 21,500

RAC



EREEAA : 2019/09/05 ~
8/15
FH 2—1 548
=40) L
AR EEE
HEE (I =R 1E S# (FBT) % | RAC705| 56 200
AiE RAC708| 55 .200
) -EE S (FRFR) % | RACBOT | 56 .900
B RAC804| 55 600
RE-EH B RAC833| 55 .000
RAC837| 55 .000
EiE% RAC834| 55 .000
RAC838| 55 .000
iR (R =AKE bk (FRER) 3 | RAC8T 55 7.200
RAC873| 55 7.500
RAC875| 55 7.500
RAC879| 55 7.500
RAC883| 55 7.200
AKESE RAC87; 55 100
RAC874| 55 100
RAC876 | 55 100
| RAC880| 55 100
RAC884| 55 100
PR =558 48 (FRE) 5 | RAC815| 56 100
ER) RAC816| 55 100
SRR (FRER)=WEKRE [ h#R (IR F | RACBS3 | 55 20.800
HEKRESK | RACS54| 55 20.800
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 21.500
5#MESE | RACT24] 55 21,500

TR—N\—%FGIHEERBAIS~16BEFEN)

RAC



[R—I—%BEEROAI~1TAEBESD)

EREEAA : 2019/09/05 ~
9/1-17
FH A—N—%F
=40) L =
BB | g | TR0 i
HEE (I =R 1E S# (FBT) % | RAC705| 56 7.100 72% | /:6.800
HiE RAC708 55 7.100 72% | A:6.800
B TET B b8 (BRER) % | RACBO1 [ 55 7.500 62% | kKA:7.200
=i RAC804 55 7.500 62% | KIKA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837 55 ,700 28%
EiE% RAC834| 55 .700 28%
RAC838 55 ,700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC87: 55 .500 46% :6.900
55 500 6% :6.900
55 .500 46% :6.900
55 500 6% :6.900
55 ,800 60% :5,400
AkBHE 55 500 6% :6.900
55 .500 46% :6.900
55 500 6% :6.900
55 .500 46% :6.900
55 500 6% :6.900
55 800 60% :5,400
HEE B =53k S (IR ER) % 55 8.900 24% :9.100
il 55 8.900 44% :9.100
R BE-EEAR [REGRE ¥ 55 4900 | 43% +15.100
[ESN-E 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
SHRER RAC724 55 7.500 46%

RAC



[R—/{—%BIEBER(OA23~30BERS) RAC

EW#EMAA : 2019/09/05 ~

9/23-30
39 A58
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 500 46% :6.900
55 500 6% :6.900
55 500 46% :6.900
55 500 6% :6.900
55 800 60% 5,400
AR B 55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




[R——%BEER(10B1~8AEED) RAC

EW#EMAA : 2019/09/05 ~

10/1-8
39 A= —5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 500 46% :6.900
55 500 6% :6.900
55 500 46% :6.900
55 500 6% :6.900
55 800 60% 5,400
AR B 55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




[R—/{—%BIEBER(10AI~16BERS) RAC

EW#EMAA : 2019/09/05 ~

10/9-16
39 A—R—5&
=45 B4 -
AR e g;g =
B (R = 1E S48 (ARER) % | RACT05] 55 6.800 74% |&EHA7.100
A8 RAC708| 55 7.100 72% | k7KA:6.800
PHE(GRI)=EE S48 (ARER) % | RAC8O1 | 55 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
BE-EE B RAC833| 55 .700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 500 46% :6.900
55 500 6% :6.900
55 500 46% :6.900
55 500 6% :6.900
55 800 60% 5,400
AR B 55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 500 6% :6.900
55 800 60% :5.400
PHE (R =53 S (IR ER) % 55 8.900 44% :9.100
Y 55 8,900 44% :9.100
G I =EERE | bl GRED % 55 4900 [ 43% :15.100
EESN-T 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
53E% | RACT24| 55 7500 | 46%




[R—/IR—%BHEEXR(10A17~24BEES)

EREEAA : 2019/09/05 ~
10/17-24
39 A58
=4 E& -
BB | g | TR0 i
HEE (I =R 1E S# (FBT) % | RAC705| 56 6.800 74% _|# T H7.100
AiE RAC708| 55 7.100 72% | k7KA:6.800
) -EE S (FRFR) % | RACBOT | 56 7.500 62% | kokA:7.200
B RAC804| 55 7.500 62% | kokA:7.200
RiE=EH B RAC833| 55 700 28%
RAC837| 55 .700 28%
EiE% RAC834| 55 .700 28%
RAC838| 55 .700 28%
iR (R =AKE bk (FRER) 3 | RAC8T 55 .800 60% :5.400
RAC873| 55 500 46% :6.900
55 500 6% :6.900
55 500 46% :6.900
55 500 6% :6.900
55 800 60% 5,400
AkBHE 55 500 6% :6.900
55 500 46% :6.900
55 500 6% :6.900
55 500 46% :6.900
55 500 6% :6.900
55 800 60% :5.400
HEE B =53k S (IR ER) % 55 8.900 24% :9.100
Y 55 8.900 44% :9.100
R BE-EEAR [REGRE ¥ 55 4900 | 43% +15.100
[ESN-E 55 4.900 43% :15.100
(BB =5BE Shif (IRER) 55 7.500 46%
5#MESE | RACT24] 55 7500 | _46%

RAC



TR—N\—%FGIHEEROA18~22BEFEN)

EREEAA : 2019/09/05 ~
9/18 9/19 9/20 9/21 9/22
FH9 A== | 2—i—5# | A—r—5l | 2%/ | 2~ %M
e RN} vy ey p— p— p—
4 EEE e R e
R =R S# (FBT) % | RAC705| 56 7.100 8.000 8.000 8.000
HiE RAC708 55 7.100 7.100 7.100
) -EE S (FRFR) % | RACBOT | 56 7.500 8.500 8.500
e RAC804 [ 55 7500 | 7,500
RE-E& B RAC833| 55 .700 200
RAC837 55 ,700
EiE% RAC834| 55 .700
RAC838 55 ,700
(BB =AKE 48 (RER) 5 | RACST 55 .300
RAC87: 55 ,600
RAC875| 55 600
RAC87! 55 ,600
| RAC881| 55 600
RAC88: 55 300
AkBF |RAC872| 55 600
RAC874 55 ,600
RAC876 | 55 600
[ RACBBO | 55 600
| RAC882| 55 600
RAC884 |55 300
PR =558 48 (FRER) 5 | RAC815| 56 100
EF) RAC816| 55 100
SRR (FRER) =WEKRE [ h#R (I F | RACBS3 | 55 5.100
HEXRESK | RACS54| 55 5.100
SRR (FRER) =5 AE | heBCGIER) % | RACT21[ 55 7.500
SHRER RAC724 55 7.500

RAC



TS5 RBEER(BA29~31BEES)

EREEAA : 2019/09/04 ~
3/29-31
T ISR
= B2 | wAMR o TE—W
EEE B51% &

HEE (I =R 1E S (FRT) % | RACT05| 7 6.800 75% |H:7.100
HiE RAC708 7 7.100 74% K:6.800
) -EE S (FRFR) % | RACBOT | 7 7.600 64% | H:7.900
=i RAC804[ 7 600 68% | H:6.800

RE-EH B RAC833| 7. 400 | 25%

RAC837 7 ,400 25%

E=E] RAC834| 7 400 | 25%

RAC838 7 ,400 25%
(BB =AKE 48 (RER) 5 | RACST 7 .500 57 .800
RAC87: 7 200 .500
RAC875| 7 .200 500
RAC87! 7 200 .500
[ RACBSI | 7 .200 500
RAC88: 7 500 .800
AkB%F |RACST2| 7 .200 500
RAC874 7 200 .500
RAC876 | 7 .200 500
| RAC880 7 200 .500
[ RACBB2| 7 .200 500
RAC884 7 500 800
PR =558 48 (BRE) % | RACBI5| 7 .900 30 100
CFl RAC816 7 .900 30% ,100
SRR (FRER) =WEKRE [ h#R () F | RACSS3| 7 .900 42% 100
HEXRESK | RACSS4| 7 ,900 42% 100

SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 600 49%

SHRER RAC724 7 7.600 49%

RAC



TSR GIERER(ARA1~13BEESD)

EREEAA : 2019/09/04 ~
4/1-13
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.400
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS %BIEER(AA14~20BH-ES)

EREEAA : 2019/09/04 ~
4/14-20
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.400
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS RBIEER(AA21~271BEES)

EREEAA : 2019/09/04 ~
4/21-27
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.400
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS %RBIEERGAII~I8ARES)

EREEAA : 2019/09/04 ~
5/11-18
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
AiE RAC708| 7 .900 77% | X:5.600. 7KA:5.400
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
B RAC804| 7 700 66% | JKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837| 7 600 28%
EiE% RAC834| 7. 600 28%
RAC838| 7 600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC873| 7 300 56% 5,700
RAC875| 7. 300 56% 5,700
RAC879| 7 300 56% 5,700
| RAC881| 7 300 56% 5,700
RAC883| 7 900 68% :4,500
AkB%F |RACST2| 7 300 56% 5,700
RAC874| 7 300 56% 5,700
RAC876| 7. .300 56% 5,700
[ RACB80| 7. 300 56% 5,700
| RAC882| 7 300 56% :5.700
RACB884| 7 900 68% :4,500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
55 RACB16| 7 700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
53MES | RACT24] 7 7100 | 48%

RAC



TS5 RBIEERGA19~3BEES)

EREEAA : 2019/09/04 ~
5/19-31
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.400
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS5 RBEER(4A28~30BAEES)

EW#EMAA : 2019/09/04 ~
4/28 4/29 4/30
FH SR B| SRS %G
EH B2 | mawm
EEE | & EER
(AR =R Sh#% (FRER) 5 | RACTO5| 7 600 | 5 |5
HiE% RACT08| 7 400
SREIRE) =B Sh#% (FRER) 5 | RAC8O1| 7 400
BEH% RAC804| 7 400
BE-EE E&5 | RACBI3| 7 600 | 9, I
RAC837| 7 600 | ¢ [«
A% | RACB3A| 7 600 | ¢ [«
RAC838| 7 600 | ¢ [«
iR (RER)=ARE | H#ECGRE) 5 [ RACTI | 7 000 | ¢ | ¢
RAC873| 7 300 I
RAC875| 7 300 I
RAC879| 7 300 I
[ RACBS1| 7 300 I
RAC883| 7 900 | ¢ I
AkEFE | RAC8T2| T 300 | | 5.
RAC874| 7 300
RAC876 | 7 300 s
| RACB8O| 7 300
[ RACB82| 7 300 I
RAC884| 7 900 3
R (RER) =5 Shi8 (FRE) % | RAC8I5| 7 700
5R% RAC816| 7 700
P GRE) -EXKRE | (IRE) | RACB53 | 7! 3900 [ 1 | 1
HEAEBE | RACBSA| 7 3900 | 1 [ 1
PRBEB)=-5NE [ ChEGRE) | RACT21] 7 7.100
5EESE | RACT24] 7 7.100

RAC



LSRG IERER(GA1~8BERD)

EREEAA : 2019/09/04 ~
5/1 5/2 5/3 5/4 5/5 5/6 5/7 5/8
=R E8 E%?\gllﬁ DIESER| ISR DINSER| TS ER| VIS RS ILNSE®| TS KR VLS %R
EEA BEA BEA
R (GRB)=R1E P48 (IR ¢ | RACT705[ 7 7,000 | 5.600

HiE% RAC708| 7. 5.900
P48 (ARE) % | RACBO1 | 7 7,200
BEHER RAC804| 7. .700

E&% | RAC833| 7 600 [

RAC837| 7 600 [

GiE% | RAC834[ 7 600 [

RAC838| 7. 600 o

RABBR)=AKE B (ARER) 5 | RACST 7 .700 |3

RAC873| 7. .900 s

RAC875| 7 .900 [ .

RAC879| 7. .900 s

[ RAC881| 7 .900 [ .

RAC883| 7 .700 [ .

AkB5 | RAC872| T 400 [ .
RAC874| 7 .400

RAC876 | 7 400 [ .
| RAC880| 7 .400

[ RACB82| 7 400 [

RAC884| 7. .200 [ .
(BB =5h Shi8 (FRE) % | RAC8I5| 7 900
CEY RAC816| 7. 8.900

P GRE) -EXKRE | (IRE) | RACB53 | 7! 4,100 1

HEAEBE | RACBSA| 7 4.100 1
RABR) =-5BE ShiB (FRE) % | RACT21] 7 7.100
5EESE | RACT24] 7 7.100

RAC



EREEAA : 2019/09/04 ~
5/9
T |nrsxs
EH B2 | gamm
EA
(AR =R Sp4E (ARE) % | RACT705| 7! .900
GiE% RACT08| 7 .900
SREIRE) =B P4 (ARER) % | RAC801| 7! 700
BEH% RAC804| 7 700
RiE=EH EHHE | RAC833 7 ,600
RAC837| 7 600
GiE% | RACS34| 7 600
RAC838 | 7 600
RABBR)=AKE R (E) 5 | RAC8T 7 500
RAC873| 7 700
RAC87! 7 700
RAC879| 7 700
| RAC88 7 700
RAC883| 7 500
ZKkBRE |RACBI2| 7 700
RAC874| 7 700
RAC87! 7 700
[ RACBBO| 7 700
| RAC882 7 700
RAC884| 7 500
SHRE(RE) =5 P4E (IRE) % | RAC815| 7! .900
5R% RAC816| 7 8.900
R (RE) =EEKRS [ h#R(RE) S | RAC8S3| 7 4,100
HEEKBF | RACSS4| 7 4.100
RABR) =-5BE 4R (RE) % | RACT21| 7 7.100
5HMES | RACT24] 7 7.100

ML %RFIEER(BAI~10BEESD)

RAC



TSR GIERR(G6A1~14BEESD)

EREEAA : 2019/09/05 ~
6/1-14
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.400
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .100 66% :4.700
RAC87: 7 500 55% :5,.900
RAC875| 7. 500 55% 5,900
RAC87! 7 500 55% :5,900
| RAC881| 7 500 55% 5,900
RAC88: 7 ,100 66% :4,700
AkB%F |RACST2| 7 500 55% :5.900
RAC874 7 500 55% :5,.900
RAC876| 7. 500 55% :5.900
| RAC880 7 500 55% :5,.900
| RAC882| 7 500 55% :5.900
RAC884 7 ,100 66% :4.700
PR =558 48 (BRE) % | RACBI5| 7 8.700 45% :8.900
CFl RAC816 7 8.700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS5 BIEER(6A15~21BEES)

EREEAA : 2019/09/05 ~
6/15-21
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .100 66% :4.700
RAC87: 7 500 55% :5,.900
RAC875| 7. 500 55% 5,900
RAC87! 7 500 55% :5,900
| RAC881| 7 500 55% 5,900
RAC88: 7 ,100 66% :4,700
AkB%F |RACST2| 7 500 55% :5.900
RAC874 7 500 55% :5,.900
RAC876| 7. 500 55% :5.900
| RAC880 7 500 55% :5,.900
| RAC882| 7 500 55% :5.900
RAC884 7 ,100 66% :4.700
PR =558 48 (BRE) % | RACBI5| 7 8.700 45% :8.900
CFl RAC816 7 8.700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS5 RBEER(6H22~30BEES)

EREEAA : 2019/09/05 ~
6/22-30
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .100 66% :4.700
RAC87: 7 500 55% :5,.900
RAC875| 7. 500 55% 5,900
RAC87! 7 500 55% :5,900
| RAC881| 7 500 55% 5,900
RAC88: 7 ,100 66% :4,700
AkB%F |RACST2| 7 500 55% :5.900
RAC874 7 500 55% :5,.900
RAC876| 7. 500 55% :5.900
| RAC880 7 500 55% :5,.900
| RAC882| 7 500 55% :5.900
RAC884 7 ,100 66% :4.700
PR =558 48 (BRE) % | RACBI5| 7 8.700 45% :8.900
CFl RAC816 7 8.700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TSR GIERER(TA1~14BEESD)

EREEAA : 2019/09/05 ~
7/1-14
T ISR
= B2 | wAMR o TE—W
EEE B51% &

HEE (I =R 1E s (FBER) % | RAC705] 7 6.600 76% |&+ A:6.900
HiE RAC708 7 6.900 75% | KIKA:6.600
(R =B b (BRER) % | RACBOT [ 7! 7.100 66% | A KK:6.800
=i RAC804 7 7.100 66% | AJKA:6.800

BE-EE B RAC833| 7. .600

RAC837 7 ,600

EiE% RAC834| 7. 600

RAC838 7 ,600
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 :5.500
RAC87: 7 ,000 53% :6.400
RAC875| 7. .000 53% :6.400
RAC87! 7 ,000 53% :6.400
| RAC881| 7 .000 53% :6.400
RAC88: 7 ,900 61% :5,500
AkB%F |RACST2| 7 .000 53% :6.400
RAC874 7 ,000 53% :6.400
RAC876| 7. .000 53% :6.400
| RAC880 7 ,000 53% :6.400
| RAC882| 7 .000 53% :6.400
RAC884 7 ,900 61% :5,500
PR =558 48 (BRE) % | RACBI5| 7 8.900 48% :9.100
CFl RAC816 7 8.900 48% :9.100
SR (R -EEAS [ shal (B 2 | RACE53[ 7! .100 49% :14.300
HEXRESK | RACSS4| 7 .100 49% :14.300

SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 .400 44%
SHRER RAC724 7 400 44%

RAC



TS %RBIEER(TAIS~21BEES)

EREEAA : 2019/09/05 ~
7/15-21
T ISR
P B2 | wAsg oo E=5H
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 7.100 7 A %:6.800, K A:6.600
HiE: RAC708 7 7.100 7. P ,600
(R =B b (BRER) % | RACBOT [ 7! 7.500 6. 800, 7:7.100
= RAC804 7 7.500 6 K7 800
BE-EE B RAC833| 7. 400 | 25% KA.
RAC837 7 ,400 25% | JKAR:9.!
EiE% RAC834| 7. 400 | 25% KA.
RAC838 7 ,400 25% R:9,
PR GRER =AKE | #P# (FR¥A) 3 | RACBTI[ 7 800 54% :5.200. JKA:4.900
RAC87: 7 ,600 48% A X:6.200. 7K:6.000
RAC875| 7. 600 48% | H %:6.200. 7K:6.000
RAC87! 7 ,600 48% A 4:6.200. 7K:6.000
| RAC881| 7 .000 53%
RAC883| 7 .800 54% | A X:5,200, 7k7:4.900
AkB%F |RACST2| 7 600 48% | H %:6.200. 7K:6.000
RAC874| 7 600 48% | A :X:6.200, JK7K:6.000
RAC876| 7. 600 48% | H %:6.200. 7K:6.000
| RAC880| 7 600 48% | A :X:6.200, JK7K:6.000
| RAC882| 7 .000
RAC884 7 800 A X:5.200. K K:4.900
PR =558 S (ARER) % [ RACBI5 [ 7 .100 A %:9.900, 7k 7:8.900
5% RAC816| 7 100 A X:9.900, 7k £:8.900
SRR (FRER) =WEKRE [ h#R () F | RACSS3| 7 .100 A %:15.900, 7k:14.100
L | #EKES | RACSS4]| 7 100 % | A:X:15.900, FKA:14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 .400 4
EMEHE RAC724 7 400 4%

RAC



TS %BIEER(TA2I~31BEES)

EREEAA : 2019/09/05 ~
7/27-31
T ISR
=40) L
AR EnE éug@? "
HEE (I =R 1E s (FBER) % | RAC705] 7 6.800 75% | %:1.100
15 RAC708| 7 6.800 A%
) -EE S (FRFR) % | RACBOT | 7 7.200 £17.
B RAC804| 7 7.200 A
RE-EH B RAC833| 7. 400
RAC837| 7 400
EiE% RAC834| 7. 400
RAC838| 7 400
iR (R =AKE bk (FRER) 3 | RAC8T 7 .200
RAC873| 7 .200
RAC875| 7. .200
RAC879| 7 .200
RAC883| 7. .200
AKBFE RAC87 7 200
RAC874| 7 .200
RAC876| 7 .200
| RAC880| 7 .200
RACB884| 7 200
PR =558 48 (BRE) % | RACBI5| 7 .900
EF) RACB16| 7 900
SRR (FRER) =WEKRE [ h#R () F | RACSS3| 7 .900
HEXRESK | RACSS4| 7 ,900
SRR (FRER) =5 AE | heBGIER) % | RACT21 [ 7 .400
ERESE | RACT24] 7 400 | 4%

RAC



TS EFIERR(BA1~6BERD)

EREEAA : 2019/09/05 ~
8/1-6
FH ISR
P B2 | wAsg oo E=5H
EEE B51% &
HEE (I =R 1E S (FRT) % | RACT05| 7 6.800 75% | ALH7100
HiE RAC708 7 7.100 74% K IK:6.800
) -EE S (FRFR) % | RACBOT | 7 7.200 66% |+ H:7.500
=i RAC804 7 7.500 64% KIKA:7.200
RiE=EH B RAC833| 7 400 25%
RAC837 7 ,400 25%
EiE% RAC834| 7. 400 | 25%
RAC838 7 ,400 25%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .000 53% |+ H:6.400
RAC87: 7 ,600 48% |+ .800
RAC875| 7. 600 48% | & H:6.800
RAC87! 7 ,600 48% |+ .800
RAC883| 7. .000 53% |+ B:6.400
AKBFH RAC87 7 600 48% |+ H:6.800
RAC874| 7 600 48% |+ H:6.800
RAC87! 7 ,600 48% |+ .800
| RAC880| 7 600 48% |+ H:6.800
RAC884 7 ,000 53% |+ 400
PR =558 48 (BRE) % | RACBI5| 7 .900 42% |+ H:10.100
CFl RAC816 7 900 42% |+ 100
SR (B -EEAS [ shal (0B 2 | RAC853[ 7! .900 42% |+ H:16.100
HEXRESK | RACSS4| 7 ,900 42% |+ 100
SRR (FRER) =5 AE | heBGIER) % | RACT21 [ 7 .400 44%
SHMER RAC724 7 400 44%

RAC



TSR IEER(BA1T~24BEES)

EREEAA : 2019/09/05 ~
8/17-24
T ISR
B B8 | mAmR [ TEW =
il b
() =R 1E s (FBER) % | RAC705] 7 7.200 73% | &£ H:7500
HiE RAC708 7 7.500 7. KIKA:7,200
(R =B b (BRER) % | RACBOT [ 7! 8.100 A X 7K:7.800
=i RAC804 7 8.100 K IKA:7.800
RiE=EH B RAC833| 7 .100
RAC837 7 ,100
E=E] RAC834| 7 100 7
RAC838 7 ,100 7
(BB =AKE bk (FRER) 3 | RAC8T 7 .500 7
RAC87: 7 400 50%
RAC875| 7 400 50%
RAC87! 7 400 50%
RAC883| 7 500 57%
AKEF RAC87. 7 400 50%
RAC874] 1 400 50%
RAC87! 7 400 50%
[ RACBBO| 7 400 50%
RAC884 7 500 57%
PR =558 S (ARER) % [ RACBI5 [ 7 .900 42%
CFl RAC816 7 ,900 42%
SRR (FRER) =WEKRE [ h#R () F | RACSS3| 7 5.900 42%
EXEH RAC854 7 5.900 42%
SRR (FRER) =5 AE | heBGIER) % | RACT21 [ 7 7.100 50%
SHMER RAC724 7 7.100 50%

RAC



TS5 RBEER(BA25~31BAEES)

EREEAA : 2019/09/05 ~
8/25-31
T ISR
B B8 | mAmR [ TEW =
il b
() =R 1E S (FRT) % | RACT05| 7 7.500 72% | KIKA7.200
HiE RAC708 7 7.500 7. KIKA:7,200
(R =B b (BRER) % | RACBOT [ 7! 8.100 A X 7K:7.800
=i RAC804 7 8.100 K IKA:7.800
RiE=EH B RAC833| 7 .100
RAC837 7 ,100
E=E] RAC834| 7 100 7
RAC838 7 ,100 7
(BB =AKE bk (FRER) 3 | RAC8T 7 .500 7
RAC87: 7 400 50%
RAC875| 7 400 50%
RAC87! 7 400 50%
RAC883| 7 500 57%
AKEF RAC87. 7 400 50%
RAC874] 1 400 50%
RAC87! 7 400 50%
[ RACBBO| 7 400 50%
RAC884 7 500 57%
PR =558 S (ARER) % [ RACBI5 [ 7 .900 42%
CFl RAC816 7 ,900 42%
SRR (FRER) =WEKRE [ h#R () F | RACSS3| 7 5.900 42%
EXEH RAC854 7 5.900 42%
SRR (FRER) =5 AE | heBGIER) % | RACT21 [ 7 7.100 50%
SHMER RAC724 7 7.100 50%

RAC



TS5 RBEER(TH2~26B - ES)

EREEAA : 2019/09/05 ~
7/22 7/23 7/24 7/25 7/26
FH | IASERG|ISERB| ISR IS RSB IS ES
EH B2 | gamm
EA
(AR =R Sh#% (FRER) 5 | RACTO5| 7 7.100
GiE% RAC708| 7. 7.100
P4 (ARER) % | RAC801| 7! 7.500
BEH% RAC804| 7. 7.500
EHRE | RAC833 | 7 400
RAC837| 7 .400
GiE% | RAC834[ 7 400
RAC838| 7. .400
RABBR)=AKE R (E) 5 | RAC8T 7 800
RAC873| 7. 600
RAC875| 7 600
RAC879| 7. 600
RAC883| 7 800
AKEF RAC872| 7' 600
RAC874| 7 600
RAC876| 7. 600
[ RACB80| 7. 600
RAC884| 7. 800
SHRE(RE) =5 P4E (IRE) % | RAC815| 7! 100
5R% RAC816| 7. 100
R (RE) =EEKRS [ h#R(IRE) Sk | RAC8S3| 7 .100
HEEKBF | RACSS4| 7 100
RAR) =-5BE Shil (ARER) RACT721| 7 400
5HMES | RACT24] 7 400

RAC



TN RFIEERBAT~14AEBES)

EREEAA : 2019/09/05 ~
8/7 8/8 8/9 8/10 8/11 8/12 8/13 8/14
R B4 E%?\gllﬁ e e e T e e Y e 2 et YT =]
EEA BEA EEER
SR (IR =H1E 4 (BBER) % | RAC705] 7. 500 8,500
GiE% RAC708| 7. 500 8.500
4 (FBER) % | RACBO1| 7. .200 8,200
BEHER RAC804| 7. 200 [« e
E&% | RAC833| 7 400 10, 10,
RAC837| 7 .400 10. 10,
GiE% | RAC834[ 7 400 10, 10,
RAC838| 7. .400 10. 10,
RABBR)=AKE B (ARER) 5 | RACST 7 .000 | 10, 6.
RAC873| 7. .000 |10 7
RAC875| 7 000 [0, 7
RAC879| 7. .000 |1 7
RAC883| 7 000 [ic G
AkB%F |RACST2| 7 7.200 T [
RAC874| 7 7.200 [ic [ ic
RAC876| 7. 7.200 T T
[ RACB80| 7. 7.200 [ 1o, [ ic
RAC884| 7. 6.800 10, T
R GRE) =5 P4E (IRE) % | RAC815| 7! 1,200 [ 12 [ 12
L% RAC816| 7. 1.200 |_12. |_12.
| =-EXXE | h#(GR:H) | RAC853| 7 7.700 18, 18,
HEEKBF | RACSS4| 7 7.700 18 18
B =5E 48 GIRER) RAC721| 7 1,100 21, 21,
5HMES | RACT24] 7 1.100 21. 21.

RAC



EREEAA : 2019/09/05 ~
8/15 8/16
TS B| LS %S
EH B2 | gamm
EEER
(AR =R Sp4E (ARE) % | RACT705| 7! 500
GiE% RAC708| 7. 500
SREIRE) =B P4 (ARER) % | RAC801| 7! ,200
BEH% RAC804| 7. 200
RlE-ES E&% | RAC833| 7 .700
RAC837| 7 .700
GiE% | RAC834[ 7 .700
RAC838| 7. .700
RABBR)=AKE B (ARER) 5 | RACST 7 6.500
RAC873| 7. 7.200
RAC875| 7 7.200
RAC879| 7. 7.200
RAC883| 7 6.500
AkB%F |RACST2| 7 .000
RAC874| 7 000
RAC876| 7. .000
[ RACB80| 7. 000
RAC884| 7. .000
SHRE(RE) =5 P4E (IRE) % | RAC815| 7! .200
5R% RAC816| 7. .200
R (RE) =EEKRS [ h#R(IRE) Sk | RAC8S3| 7 .700
HEEKBF | RACSS4| 7 7.700
RAR) =-5BE ShiB (FRE) % | RACT21] 7 1.100
5HMES | RACT24] 7 1.100

TS5 BEER(BAIS~16BEES)

RAC



TSR GIERER(OAI~1THERS)

EREEAA : 2019/09/05 ~
9/1-17
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E S (FRT) % | RACT05| 7 .900 77% | HA:5.600. J7K:6.100
HiE RAC708 7 ,900 77% | AK:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | KIKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .300 64% :4.900
RAC87: 7 500 55% :5,.900
RAC875| 7. 500 55% 5,900
RAC87! 7 500 55% :5,900
| RAC881| 7 500 55% :5.900
RAC88: 7 ,300 64% :4.900
AkB%F |RACST2| 7 500 55% :5.900
RAC874 7 500 55% :5,.900
RAC876| 7. 500 55% :5.900
| RAC880 7 500 55% :5,.900
| RAC882| 7 500 55% :5.900
RAC884 7 ,300 64% :4.900
PR =558 48 (BRE) % | RACBI5| 7 8.700 45% :8.900
CFl RAC816 7 8.700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS5 RB I EER(9A23~30BEES)

EREEAA : 2019/09/05 ~
9/23-30
FH ISR
P B2 | wamm o TEEE
EEE B51% &

HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400

RiE=EH B RAC833| 7 .600 28%

RAC837 7 ,600 28%

EiE% RAC834| 7. 600 28%

RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .300 64% :4.900
RAC87: 7 500 55% :5,.900
RAC875| 7. 500 55% 5,900
RAC87! 7 500 55% :5,900
| RAC881| 7 500 55% :5.900
RAC88: 7 ,300 64% :4.900
AkB%F |RACST2| 7 500 55% :5.900
RAC874 7 500 55% :5,.900
RAC876| 7. 500 55% :5.900
| RAC880 7 500 55% :5,.900
| RAC882| 7 500 55% :5.900
RAC884 7 ,300 64% :4.900
PR =558 48 (BRE) % | RACBI5| 7 8.700 45% :8.900
CFl RAC816 7 8.700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100

SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%

SHRER RAC724 7 7.100 48%

RAC



TSR GIERER(10A1~8BEESD)

EREEAA : 2019/09/05 ~
10/1-8
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



TS5 RBEER(10AI~16BEES)

EREEAA : 2019/09/05 ~
10/9-16
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



IS %RBIEER(10A17~24BEED)

EREEAA : 2019/09/05 ~
10/17-24
FH ISR
P B2 | wamm o TEEE
EEE B51% &
HEE (I =R 1E s (FBER) % | RAC705] 7 600 78% |&+ A:5.900
HiE RAC708 7 ,900 77% | KIKA:5.600
(R =B b (BRER) % | RACBOT [ 7! .700 66% | A KK:6.400
=i RAC804 7 700 66% | A IKA:6.400
RiE=EH B RAC833| 7 .600 28%
RAC837 7 ,600 28%
EiE% RAC834| 7. 600 28%
RAC838 7 ,600 28%
iR (R =AKE bk (FRER) 3 | RAC8T 7 .900 68% :4.500
RAC87: 7 300 56% :5,700
RAC875| 7. 300 56% 5,700
RAC87! 7 300 56% :5,700
| RAC881| 7 300 56% 5,700
RAC88: 7 ,900 68% :4.500
AkB%F |RACST2| 7 300 56% 5,700
RAC874 7 300 56% :5,700
RAC876| 7. .300 56% 5,700
| RAC880 7 300 56% :5,700
| RAC882| 7 300 56% :5.700
RAC884 7 ,900 68% :4.500
PR =558 48 (BRE) % | RACBI5| 7 .700 45% :8.900
CFl RAC816 7 ,700 45% :8.900
SR (R -EEAS [ shal (B 2 | RACE53[ 7! 3,900 47% :14.100
HEXRESK | RACSS4| 7 3.900 47% :14,100
SRR (FRER) =5 AE | heBGIRER) % | RACT21[ 7 7.100 48%
SHRER RAC724 7 7.100 48%

RAC



LSRG IEER (9A18~22BEFE)

EREEAA : 2019/09/05 ~
9/18 9/19 9/20 9/21 9/22
FH | IASERG|ISERB| ISR IS RSB IS ES
EH B2 | mawm
EEA BEA BEA
(AR =R Sh#% (FRER) 5 | RACTO5| 7 .900
HiE% RAC708| 7. .900 |6
P4 (ARER) % | RAC801| 7! .700
BEHER RAC804| 7. .700 X
=Eh% | RACS33[ 7 600 X
RAC837| 7 600
GIER | RACS34| 7 600 o
RAC838| 7. 600 |9
RABBR)=AKE B (ARER) 5 | RACST 7 .600 | 4.
RAC873| 7. 600
RAC875| 7 600 |
RAC879| 7. 600
| RAC881| 7. 600 |
RAC883| 7 600
AkB% |RACST2[ 7 600 e
RAC874| 7 600 |6
RAC876| 7 600 6
| RAC880| 7 600 |6
| RAC882| 7. 600 | 6
RAC884| 7. 600 [
(BB =5h Shi8 (FRE) % | RAC8I5| 7 .900
CEY RAC816| 7. 8.900
HHEGRE) =X AS | 4 GRE) % | RACS53| 7 3.900 T
BEKSF | RAC8S4| 7 3.900 1
ik (%) =5 AE ShiB (FRE) % | RACT21] 7 7.100 1
SMES | RACT24] 7 7.100 1

RAC



